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g:z%l%ﬁﬁ:l/tl—’)"'lAéf"’)d)'%iiﬁﬁ R23.1IR%E g:}iﬁ%zgd)aﬂﬁLANﬂ F:{ R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
| B4 | #BEAFIE HEEL REARK] A B ERFRZ % REERER % | MBS | ZRE R IR & HEEL REARR %

1|1EEE xa= 15 0.1 1 :,@E 1t§ri 8,029 100.0% [E@:3E tiEE 89,735] 100.0%

A SRITHT 18 0.1 1[dbimE YR 298| 100.0% [E#:3E FLIR 140,310] 100.0%

JEEE = [ AT 45 0.2 1[dbimE BEH™ 1,287]  100.0% 1[dbimE AR 15,707] 100.0%

4EER BEM 14 03 1[4 M 1,030[ 100.0% 1[dbimE MBTH 6,516 100.0%

HES oM 10 0.3 1]t MEAT 119] 100.0% 1[dbimE B 22,314] 100.0%

N HZERT 109 03 1[4k imE HEET 5,698 100.0% 1[dbimE ESiind 5,205 100.0%

1=ZRE FpiE )| [4F 10 03 1[db3E HARITHT 283 100.0% [E#:3E IR 11,498 100.0%

8 Z=ERE AT 6 0.4 1[db3E 1B SHT 153] 100.0% 1[db3E HIhh 12,599 100.0%

9|AEARIE FAK 54 04 1[4 SNAET 434 100.0% 1[dbimE YR 298] 100.0%
10[dtimE PINTEIES] 52 04 1[dbimE AT 1,047] 100.0% 1]t ERRT 6,107] 100.0%
1[ESE Ay 648 04 1[db3E K5 ERET 290 100.0% 1[dbimE #Em 2,510[ 100.0%
12[288 TEEET 47 05 1[db3E [2 R &R BT 240[ 100.0% 1[dbimE BT 1,287] 100.0%
[KIMET:Y FHEE L 24 0.5 1[dbimE JEw/=AY:) 421 100.0% [E#:3E =g 13,449 100.0%
14 aiﬁztr £~ EET 58 05 1[db3E B4t 67] 100.0% 1[4k EJEN 1,072] 100.0%
15|58 pNIIES 31 05 1[dbimE S ERET 180] 100.0% 1[dbimE ERlth 603 100.0%
16/ BEAIE KB R U\ R PR S 102 05 1]t ZRAET 219 100.0% 1[dbimE A 8,582 100.0%
17288 TS 42 05 1[db3E SUBHET 235 100.0% 1[dbimE FEH 465 100.0%
18|ZRE 23N 22 0.6 1[dbimE FHFNET 383 100.0% [E#:3E AT 1,276] 100.0%
19[RERE B FRAT 442 0.6 HE#:3E il 152] 100.0% 1]t =%t 546] 100.0%
20| R =EH 110 0.6 1]t L E) I BT 125] 100.0% 1[dbimE BEM 1,667] 100.0%
21| LR BEH 63 0.6 1[4k imE Z(LET 753 100.0% 1[dbimE FiEh 8,110[ 100.0%
22|FILIE fi&giH 2,000 0.6 [ER3E ZEA ] 140] 100.0% [E#:3E M 1,030 100.0%
23 B2 EX=NIES 123 0.6 1[db3E SEEIET 127] 100.0% 1[4k imE PG 1,093] 100.0%
24[dt 8 2= I BT 163 0.6 HE#:3E B AET 160 100.0% 1[4k ER%HH 1,525] 100.0%
T £ LT 58 0.6 HEF:3E = RIHT 156] 100.0% 1[dbimE R 3,128 100.0%
26|FkEHIE J\IEET 341 0.6 1]t EJIET 179] 100.0% 1[dbimE HEET 5,698 100.0%
27| &2 JIAR A BT 292 0.6 1[dbimE ELSH 695 100.0% [E#:3E EANEY 4,503 100.0%
28| IR /MEE BT 112 0.6 1[dbimE = REvET 193] 100.0% 1[dbimE f=¥ouitl 4,754] 100.0%
29| FER EITEET 282 0.6 HE#:3E & A 50] 100.0% 1]t de 3t 3,769 100.0%
30| b8 12 S 153 0.6 HEF:3E FNEHET 227] 100.0% 1[dbimE & I AT 894 100.0%
RRIEE TS EATIES 24 0.6 1[dbimE TJIET 218] 100.0% [E#:3E RN 193] 100.0%
FAGET] =TIES| 116 0.6 1[dbimE EF31 277] 100.0% 1[JEiEE EER 153 100.0%
BESE BT 58 0.6 1[dbimE BT 141]  100.0% [E#:3E SNPAET 434 100.0%
34[SHE ZEH 66 0.6 1]t chJI[BT 88[ 100.0% 1]t RivAET 181 100.0%
35|REARIE WLST 371 0.6 1]t 520 PN BT 137] 100.0% 1[dLEE B ERET 267] 100.0%
36 *$-n“|l;r FAlIES 205 0.7 1]t HEERT 243 100.0% 1[dbimE AT 1,047] 100.0%
37| FEER MEEREE 50 0.7 1[db3E INERET 169] 100.0% 1[db3E J\EHT 1,087] 100.0%
REMET] LS 56 0.7 1[dbimE R 187[ 100.0% 1]t E L ERET 290 100.0%
39| =IFE EREH 85 0.7 1[dbimE PINTEIES] 52] 100.0% [E#:3E TR 433 100.0%
40[dLimE S 50 0.7 HEF:3E 2= I BT 163] 100.0% 1]t + /EET 287 100.0%
4| =RE HE M 50 0.7 1[db3E RIFE 240] 100.0% [E#:3E [2 R &R BT 240[ 100.0%
2|ERE [EL5 37 0.7 1[dbimE FIR = LB 183] 100.0% [E#:3E Z ERET 228 100.0%
B RFE T8 26 0.7 1[4 ISEEIE BT 177] 100.0% 1[db3E JEw =AY} 421]  100.0%
44| B1R8 FIES 36 0.7 1[db3E & B AT 852] 100.0% 1[dbimE St 67] 100.0%
45| 4EE BEEESH 80 0.7 HEF:3E BFEH 163] 100.0% 1[dbimE FFERET 180] 100.0%
46| RHE E=ERET 38 0.7 1[dbimE 1k = R ET 346] 100.0% [E#:3E EAET 219 100.0%
47EEE EEE 21,399 0.7 1[db3E XL 551] 100.0% 1[dbimE BRLET 285 100.0%
48| SRR EIERET 361 0.7 HEF:3E BLERET 267] 100.0% 1[dbimE —tofr 451]  100.0%
49| S EE B EFHT 127 0.7 1[dbimE ] 63] 100.0% 1[dbimE EeoEs 249] 100.0%
50258 fSREEAL 61 038 HEF:3E O hvoET 491] 100.0% 1]t BEEH 193] 100.0%
51|88 =BT 53 038 1]dtiEE SEERET 368 100.0% [HEEAE ER3 123]_100.0%
52|=BIE N EX 37 038 1]t E FiRET 366] 100.0% [ER3E SABHET 235 100.0%
53|dbifEE S AT 845 038 HEF:3E BB HT 480[  100.0% 1[db3E {EEnRET 1,172] 100.0%
54| 5 HE B A 93 038 1[dbimE BIKET 658 100.0% 1[db3E SEFOET 383 100.0%
54|58 2R 62 038 HE#:3E SFEET 1,751] 100.0% 1[4k ANET 773 100.0%
56| IR AT R BT 399 038 1[dbimE R AL AL 331] 100.0% 1[dbimE #ERN 50] 100.0%
57| BER RAHET 445 038 1[db3E VLN 2,123[ 100.0% [E#:3E FEFTHT 94] 100.0%
58| b8 FARITHT 283 038 1]t Ll 181] 100.0% 1[dbimE Ehdil 152] 100.0%
59| ;B IR 5 AR E BT 184 0.8 1[dbimE VL 415]  100.0% [E#:3E {ZARHT 236 100.0%
60|REARIE IR 115 0.8 HE#:3E 2 I BT 147] 100.0% 1[4k Eilil 1,165] 100.0%
61| HE S 28 038 1[4 SEIRET 293 100.0% 1[dbimE FFEIF 94] 100.0%
(AT BT 4,018 0.8 1[dbimE EHRET 413 100.0% [E#:3E A SEET 441]  100.0%
63| REFR ER BN 61 038 1[db3E iR AT 2,139] 100.0% 1[dbimE ZFITHT 286] 100.0%
64| b8 El0) 181 0.8 1| EHE \Fh 16,698 100.0% 1[db3E L #)IET 125] 100.0%
65| F R EET-100 220 0.8 1|EHE 5 RIET 76] 100.0% 1[4k E{Z AT 306] 100.0%
66|52 AREET 396 0.8 1|EHE S B ET 229 100.0% 1]t =8 709] 100.0%
67|t XN 162 0.8 1|EHE e EH 59] 100.0% 1[dbimE Z(LET 753 100.0%
68EREE (=5 68 0.9 1|EHE FALET 1,142] 100.0% 1[db3E ZEA ] 140] 100.0%
69| SR B FE AT 204 0.9 1|EHE A 713] 100.0% [E#:3E SEEIET 127] 100.0%
10| K2R B 102 0.9 1|EHE B 426] 100.0% 1[db3E Eimw J11L00 461] 100.0%
NEER RERTH 2,993 0.9 1| E5EHE B A 93] 100.0% 1]t A BIET 125] 100.0%
RERE REAIE ] 28 0.9 1|EHE FEFE 123] 100.0% 1[dbimE Al 143] 100.0%
3| =IFE HEZEHN 185 0.9 1|EFE Eom 3,339 100.0% 1]t JLEHT 95 100.0%
14|BER JIAF 65 0.9 1|EFE AT 2,612 100.0% 1]t SBHET 160] 100.0%
754t 52 PN BT 137 0.9 1|E5FE —Fmh 1,757] _100.0% 1[dbimE T A BT 597] 100.0%
76]dLEE BB HT 480 0.9 1|E5FE & rhET 2,188 100.0% 1[dbimE 2 FRET 435 100.0%
77|E5E X2 105 0.9 1|E5FE PN 730] 100.0% 1[db3E AR 227] 100.0%
78| = IE IR EZs 283 0.9 1|E5FE EEZCED 232] 100.0% 1[4k = RIHT 156] 100.0%
79| R R 74 0.9 1|E5FE ERH 153] 100.0% 1[db3E _EJIRT 179] 100.0%
80| EHE TEHN 33 0.9 1|EFE 25 269] 100.0% 1]t = IET 695 100.0%
81 EHE A ikl 713 0.9 1|E5FE —FHr 714] 100.0% 1[dbimE = RETET 193] 100.0%
82|FIFRILIE  [#TEFFHT 392 0.9 T Z B 7,454 100.0% 1[dbimE & A 50] 100.0%
83|= AR A (L BT 186 0.9 T E=he] 3,868 100.0% 1[4k FNEHET 227] 100.0%
84| HIRER EARX 8,448 0.9 T t4EET 58] 100.0% 1[dbimE B BT 264 100.0%
85|REARIR HEH 332 0.9 T + EHET 742] 100.0% 1[dbimE TIIET 218 100.0%
86|15 R 0 209 0.9 T A& 519] 100.0% 1[dbimE EX 351 277]  100.0%
81 ZRE LA 228 0.9 T & FRET 554] 100.0% 1[dbimE R 141]  100.0%
88| ;B IR = 423 1.0 T & )IET 319] 100.0% 1[4k o )[BT 88] 100.0%
89|dtifmE ] 63 1.0 1|EBEE RERRT 3,156 100.0% 1]t 5.0 PR BT 137] 100.0%
90[ IR INER 46 1.0 1|EBEE I=hvFETH 1,626] 100.0% 1]t EERT 243 100.0%
I|EHE 4 70 1.0 1|EBEE NRET 255 100.0% 1]t INERET 169] 100.0%
92| b8 Fil AT 116 1.0 1|EBEE EL 149] 100.0% 1[4k = RITET 187] 100.0%
3[EZ4E [ I 224 1.0 1|EBEE F35 B BT 424] 100.0% 1]t IR ET 462 100.0%
U EHE REEH 31 1.0 1|EBEE Xt 270 100.0% 1deEE LRIE 52| 100.0%
94| BIER BN RPRAE 25 1.0 1|FEHE EIERET 1,238] 100.0% 1[4k i I BT 163] 100.0%
96 %2 E 2 /NLET 1,361 1.0 [NEA KR 6,181 100.0% [E#:3E KIGHET 209] 100.0%
97| FEER RERHT 386 1.0 [NEA i 1,844 100.0% [EE3E RILA 240[  100.0%
B|EHE R AL MRS 59 1.0 A EHm 1,895 100.0% [E#:3E JEHE BI AT 201[ 100.0%
99| IR FX 12,041 1.0 A Eichinl 3941 100.0% [E#:3E chitE 71 By 94] 100.0%
100|B¥ B 2 R BT 45 1.0 A PN 242 100.0% 1[dbimE S2EH 283 100.0%
101EREE [FHEH 119 1.0 A JIFERT 1,047] 100.0% 1[dbimE Fll LT 116] 100.0%
102|4biEE AL AT 177 1.0 1L R £ FERY 984] 100.0% 1[dbimE F R = BT 183] 100.0%
103|=ZRE ElLol 57 1.0 1EER R A 42] 100.0% [E#:3E DSEEIE BT 177] 100.0%
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DEBERAIE21—21ELU-YDREERESR  R231BE QEBREEDHEEIANEFER R231BRE QA Z—F vk (30Mbpslt) R2313R7E
JEGL | ZBE AR 4 HEESL REARK] A B JEGEL | ERERTIE & HEES REERER % JEGE | ZRE R IE & HEES REERR %
104| EIFE BZ& 252 1.0 1BER FE E AT 303] 100.0% 1[db3E EIRET 1,349] 100.0%
105| REFE SR 555 1.0 1|1EEE = BH 53] 100.0% [E#:3E SN 239 100.0%
106| S ER 2 EHET 130 1.0 1|1EEE A 1,652] 100.0% [E#:3E B AT 852 100.0%
107|E5HRE FEAL 123 1.1 1BER A 443 100.0% 1[db3E EEET 309 100.0%
108 =402 FUERET 85 1.1 1|1EEE HZERT 109] 100.0% [E@:3E /NEKET 316 100.0%
109| k& St 67 1.1 1BER = [ AT 45| 100.0% 1[dbimE BFHT 163] 100.0%
ANE#:3E = RITET 187 1.1 1|1EEE TS 65 100.0% 1[dbimE BLERET 267] 100.0%
11| EHE BEARH 340 1.1 1EER KBERT 15] 100.0% 1[dbimE HEFET 301[ 100.0%
12| SR E Lt E 144 1.1 1EER TWEEHT 47 100.0% 1[dbimE RZZHT 614 100.0%
RN} TR K SET 646 1.1 1|1EEE SRITHT 18] 100.0% 1]t R 214] 100.0%
114]4bEE #HERN 50 1.1 1|1EEE BEM 14[  100.0% [E#:3E HEET 232 100.0%
115|RE LIS R 1,928 1.1 1BER AT 648 100.0% 1[dbimE EEA0] 813 100.0%
116|185+ 2 BEUET 713 1.1 1|1EEE SREEAL 61] 100.0% [E#:3E [EEHT 357 100.0%
17| ESEE STRFET 134 1.1 1| ZRERIE KIEm 20,701] 100.0% 1[JEEE SRl B ST 469]  100.0%
18| E1RE P AT 392 1.1 1| ZRERE AT 6,106 100.0% 1[dbimE R 492 100.0%
119 218 =ML 465 1.1 1|RBE RE M 4,024] 100.0% [ER3E TEERET 368 100.0%
120[1LI34 8 SR 487 1.2 1| ZREEE TAT 2,263] 100.0% [E#:3E SESATET 845 100.0%
1212 FERE R AT 90 1.2 1| ZRERE RIBET 2,189 100.0% 1[4k imE FRAET 237] 100.0%
122|dbEE = B EvET 193 1.2 1| ZRERIE EFE 999[ 100.0% 1]t ZYLHET 484] 100.0%
123[FEHE EELN 149 1.2 1| ZREEE FHERHT 514] 100.0% 1]t T iRET 366] 100.0%
1244812 JEXFEH 49 1.2 1|HEARE EFHH 8,391] 100.0% 1[dbimE ERCLN 480[  100.0%
125|408 R AT 203 1.2 1[HEARE KR 2,276 100.0% 1[dbimE ST 380 100.0%
126|REARIE F/NE T 266 1.2 1|HEARE IRAERET 9,332] 100.0% 1[4k imE EIKET 658 100.0%
127|288 [2EES 40 1.2 1[HEARE T8h 4,781] 100.0% 1[4k SFEET 1,751] 100.0%
128[RERIE Sk JI1 BT 782 1.2 1|HEARE FAHE 3,141 100.0% 1[JEiEE AL AR 331]  100.0%
129|508 SR A ET 239 1.2 1|HEARE Fr ARET 1,834] 100.0% 1[deEE ELER 271]  100.0%
130[RERE KEF 192 1.2 1|iIEARE AR R ET 2,200] 100.0% [E#:3E A AT 400[ 100.0%
131 FHRE 5 RIET 76 1.2 HEET BEA 1,162]  100.0% 1]3tEE 4L 2.123] 100.0%
132|= 502 X501 386 1.2 HEET T{—HHE 265 100.0% 1[db3E st FR BT 363 100.0%
133|BEE EsEt 40 1.3 T EsAt 40] 100.0% 1[dbimE Stafr 181] 100.0%
133| EEE N 675 1.3 HEET EEE ) 926] 100.0% 1[dbimE EEHT 480[  100.0%
135| REFIE R IRET 1,363 1.3 T A 618 100.0% [E#:3E SEIRET 293 100.0%
136|db:EE SNPAET 434 1.3 HEET SIS 247 100.0% [E#:3E S BRET 1,345] 100.0%
137|508 b+ BT 355 1.3 HEET REZE 792] 100.0% 1[dbimE B ZHT 627 100.0%
138[ =28 BB 992 1.3 1EER LS 261 100.0% 1[dbimE Z 2T 595 100.0%
139| BB 2 REIRHET 348 1.3 HEET BAFIAL 541] 100.0% 1[dbimE o F IR BT 440[  100.0%
140 812 BEAEMN 23 1.3 T FATET 2,663 100.0% 1[dbimE BEN 211 100.0%
14113088 ESIIES] 343 1.3 T B FNET 842 100.0% 1[dbimE B FRET 413 100.0%
142| EHE BRTRBE DERAE 7 1.3 1FER fREET 5247 100.0% 1[JEEE 1ZERT 401]  100.0%
14388 ET-iH 1,846 1.3 BEERE PEM 3,844 100.0% 1]t FEEIET 364 100.0%
144812 RGeS 948 1.3 BEERE LEH 16,934] 100.0% 1|EHE ERE 27,002] 100.0%
145[# )18 [#AEET 641 1.3 1BER = 18,302 100.0% 11EHE Eam 19,894] 100.0%
14638 = Rl HT 156 1.3 1BER BATH 26,363]  100.0% 11EHE BhEIH 10,498] 100.0%
147[BERE SRET 965 1.3 1BER FHEm 11,519]  100.0% 1 EHE J\Fh 16,698] 100.0%
14812 FEEH 144 1.3 1FER e 6,071] 100.0% 1|EHE 2Rt 2,114[ 100.0%
149| SERIE ASBEAT 411 1.3 BEERE J\Eim 6,544 100.0% 1| EHE AR T 3,434] 100.0%
150 = %02 =TI 157 1.3 1EER = = | LT 2,119] 100.0% 11EHE =R 3,152 100.0%
151|388 RE#EM 24 1.3 1FER LT 1,111]  100.0% 1|EHE Lo 3,933 100.0%
152 B8 T{-HE 265 1.3 1BER 78 LLET 676] 100.0% 1 EHE A% 2,031] 100.0%
153|dbiEE L #)IET 125 1.3 1FER EEPET 671 100.0% 1|EHE EJlH 2,109] 100.0%
154|REARIE BREEH 245 1.4 1FER EBRXH 132] 100.0% 1|EHE FRET 645 100.0%
155| 4k & FFNH 94 1.4 1FER + EET 2,523 100.0% 1|EHE 5 RllET 76] 100.0%
156|db:EE FLCHET 167 1.4 1FER HEHT 2,119] 100.0% 1|EHE ZERA 183] 100.0%
157 =52 %) || BT 319 14 1BER = {CET 2,188] 100.0% 1| E5EHE 5} BT 229] 100.0%
158|db:EE MERT 119 1.4 1|FER FEH 72,812] 100.0% 1|EHE 884 iR BT 496] 100.0%
159| = IF 2 EIEN 103 1.4 1|FER SkFH 4,367 100.0% 1| EHZE EEET 380] _ 100.0%
160 S1R 2 e 177 1.4 1 FEE FEMH 11,843]  100.0% 115HE B E B 59 100.0%
1611282 ERAAE] 197 1.4 1| FEE kEg™m 12,489] 100.0% 1| EHZE KEEET 417]_100.0%
162|db:EE B FRET 413 1.4 1|FER \NFRTH 15,737] 100.0% 1| E5EHE EESED) 535 100.0%
163| =412 T 1kRT 231 1.4 1|FER AR 12,826] 100.0% 1| E5EHE HRATMET 860[ 100.0%
164|122 ERt it 5,609 1.4 1|FER W 3,085 100.0% 1|EHE hRET 564  100.0%
16512 EX0 123 1.4 1|FER ABEH 3,408] 100.0% 1| EHE 8530 HhET 818] _100.0%
166| 8% 2 AR R 382 1.4 1|FER EA=101 841 100.0% 1| E5EHE tEH 960[ 100.0%
167[JLiE5E o I1BT 88 1.4 1|FER Z LB 481] 100.0% 1|EHE 18 ERT 261 100.0%
168 3EE SEIRET 293 1.4 1|FER —= 974 100.0% 1|EHE FALET 1,142] 100.0%
169| FFHRE S} JEET 229 1.4 1|FER EAEH 938 100.0% 1|EHE HLSHHE 2,117] 100.0%
170| &R E SR T AT 315 1.4 1|FER BF 664] 100.0% 1| EHE PNl 386]  100.0%
MEsE 2 I BT 171 1.4 1|FER FAAET 353 100.0% 1| EHZE o0 426] 100.0%
172|RERE S RIET 274 1.4 1|FER R 386] 100.0% 1|EHE AR AR 93] 100.0%
173| FEE RARAT 353 1.5 1|FER AZEHR 495 100.0% 1| EHZE EFHH 104]_100.0%
174[@2HE BT 788 15 1TEE SEEIET 377] 100.0% 1 EHE =FH 620] 100.0%
175|dbEE SUBHET 235 15 1|FER miEEREE 50] 100.0% 1|EHE HEHET 984] 100.0%
176|dtEE JLEHT 95 1.5 1| REE FRAEX 4,520 100.0% 1|EHE [ b BT 826] 100.0%
177| B &R HEH 177 1.5 1| REE BEX 11,569 100.0% 1| EHZE A 123] 100.0%
178[JLiEE EEHT 243 1.5 1| XEK 11,395] 100.0% 1|5F8 AFE 27.651] 100.0%
179 EHE Asat 238 1.5 [IESE AKX 13,954] 100.0% 1|5F8 AigiEh 2,263] 100.0%
180| B 3E 12 FREFHT 221 1.5 1| REE X 27,396] 100.0% 1|E5FE EEh 6,933] 100.0%
181[JLiEE i FET 126 1.5 [IESE FIX 12,041]  100.0% 1|5F8 AET 2,612] 100.0%
181 RER FISH 36 1.5 [IESE BILX 44,804]  100.0% 1|5F8 =B 1,773]  100.0%
183[L3EE AR ET 227 1.5 1|REE NEFH 40,305 100.0% 1|E5FE —Bh 8,032 100.0%
184[JLiEE Ehdil 152 1.5 [IESE )il 12,379]  100.0% 1|5F8 [ Rl = EH T 1,113]  100.0%
185[JL3E Z R RET 219 1.5 [IESE REFrh 7,758] 100.0% 1|5F8 Eehit 2,012 100.0%
186| HH 2 I 59 1.5 [IESE =& 12,335] 100.0% 1|5F8 —FEm 1,757]  100.0%
187[JLiE5E FiSHT 380 1.5 [IESE BT A 1 32,324] 100.0% 1|EFE J\BEEH 1,484]  100.0%
188|252 a2 AT 303 1.5 [IESE B ¥ 13,544]  100.0% 1|5F8 YT 8,425 100.0%
189 B E 2 FSTIE] 247 1.5 [IESE EXoi 10,945] 100.0% 1|5F8 IR 4,819] 100.0%
190[#8 32 st T 121 1.5 [IESE EPNIL 6,556] 100.0% 1|5F8 EFH 794] 100.0%
191 RIFE &M 2,249 1.5 [IESE REA LT 6,345 100.0% 1|5F8 SIRET 2,551] 100.0%
192|258 [ 7 BT 237 1.5 [IESE ZET 9,984] 100.0% 1|5F8 =L 2,188] 100.0%
193[=F 8 RS 461 1.6 1| REE EEA 74] 100.0% 1|E5FE FEF1E BT 273 100.0%
194[JL 358 R 240 1.6 [IESE B % EERT 220] 100.0% 1|EFE & /7 IBHT 1,218]  100.0%
195/ L2 F R 3,076 1.6 [ESE HE S 28] 100.0% 1|5F8 SR ET 548] 100.0%
196| = %012 = AT 96 1.6 [ By B 10] 100.0% 1|5F8 =i 273] 100.0%
197| REHE FEIm 5,558 1.6 1#ENE  [FERH 33,934] 100.0% 1|E5FE KHEHT 730 100.0%
198l A2  REET 96 1.6 1BENE  [FEREAT 3,188] 100.0% 1|5EFE R 506] 100.0%
199/ EE R EESi 2,207 1.6 HENE | KHAT 1,431]  100.0% 1|5EFE EEZCED 232] 100.0%
200| SR EBAF FRET 87 1.6 [ EINT- NS 641] 100.0% 1|5EFE A 153 100.0%
200/ EER BESRLEEBHES 116 1.6 [ EINT-E T =L 475] 100.0% 1|5EFE BE KA 551] 100.0%
202 4EE FIH 362 1.6 [EEINTE I ET ) 314] 100.0% 1|5EFE FH A 269] 100.0%
203 EHE BT e T 283 1.6 e ekt 1,988] 100.0% 1|EFE AE# 382 100.0%
204|152 AR ETEBELRES 222 1.6 1|FRE ERZEET 1,265] 100.0% 1|5EFE 3T 996] 100.0%
205/4t & A AET 160 1.6 1|FRE H S T 254] 100.0% 1|5EFE — B 714] 100.0%
206[JtiEE EIKET 658 1.6 HE PUBRESH 344 100.0% T EHE 42,901] 100.0%
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g;z%&%%:/tl—mf*étua) Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
B | ERE AR HEEL REERH] A& | [IBE|HEFEZ HEEA REERER % | MBS | ZRE R IR & HREES REARR %
207|FEILE ﬁamsegrmmﬁmﬁe 85 1.6 1#Fag SIS 343] 100.0% N1 WEH 80,543] 100.0%
208[JtiEE REAH 193 1.6 1|FBE RE#EM 24] 100.0% T & 7,454] 100.0%
209|FkEIE ABH 270 1.6 [T KR 2,916] 100.0% N1 Johid 2,136] 100.0%
209[ILIEIE BEH 90 1.6 1EWLE gtk 7,404] 100.0% 1=5HE =igh 3,868 100.0%
211 [BHER B 69 1.6 [ i BE B HT 1,358 100.0% 1=5HE BB 3,143[ 100.0%
212 AR ASHT 470 1.6 1BNE 73K ET 412]  100.0% T NGt 9,846 100.0%
AR % BRI 112 1.6 1taHE #ATT 6,572 100.0% T AT 806] 100.0%
214|212  BET 317 1.7 1|@BHE FARS AT 770 100.0% T KA R BT 1,989] 100.0%
215[JtiEE _EJIRT 179 1.7 1|@BHE =R 788]  100.0% T +f EHET 742] 100.0%
216 EHE EAMEAH 35 1.7 1|@BHE HELET 713[ 100.0% T SEHET 2,811 100.0%
216|ZRE +iZ)I4 155 1.7 1|@BHE ERET 1,201] 100.0% T JIGES 538] 100.0%
218[IL I8 AEH 242 1.7 AMET] ENER 56] 100.0% T SLFRET 780] 100.0%
218[ S 58 & R4 66 1.7 AMET] FA AR 426] 100.0% T L) 2,551 100.0%
220/ 2 =ih 1,369 1.7 AMET] BEH 90] 100.0% T L FTHT 694] 100.0%
221[dtimE BEN 211 1.7 AMET] HEH 829] 100.0% 1=5HE ST 822 100.0%
222[dtiEE Pitaalit] 465 1.7 AMET] ISR 366] 100.0% T £ iER] 1,398] 100.0%
23|fEE R R LET 1,014 1.7 AMET] = AT O AT 1,555] 100.0% T FIFFET 3,407 100.0%
2248 & { P R BT 701 1.7 AMET] INER 46] 100.0% T A FNET 2,561 100.0%
225| FFEE B 825 1.7 AMET] A O RFERES 522] 100.0% T R IERET 579 100.0%
226 BHIE REHT 169 1.7 1|EHE 8 & 3,638] 100.0% T A& 519] 100.0%
227/ SR8 SEHT 354 1.7 1|EHFE fRE T 8,157] 100.0% T & FRET 554] 100.0%
228[dtiEE ESFL 123 1.7 1|EHFE INEET 160] 100.0% T hnEET 1,621] 100.0%
229[HEARIE ELEr 1,107 1.7 1|EHE LS 238 100.0% T AR 1,046] 100.0%
230[dtEE [2 ;R &R ET 240 1.7 1| EHE ER BN 61] 100.0% 1=5HE EXEL) 1,694] 100.0%
231[dtiBE YR 298 1.8 1|EHE 1 AFEET 737] 100.0% T Z)IET 319] 100.0%
232|FNFRLIE [ SAHHET 200 1.8 1| EHFE B2 RET 1,363] 100.0% T = FEAT 784] 100.0%
233[LB 8 1 FEHT 1,081 1.8 1|EHFE SLELET 452 100.0% 1|EBEHE FET 21,352] 100.0%
234|mZE)IE | FEARAT 475 1.8 1|EHE =+ RHE 1,105] 100.0% 1|EBEHE RERRT™ 3,156 100.0%
235|212 [E] & BT 551 1.8 1| EHE R EFH] 1,321] 100.0% 1|EBEHE BFh 5876 100.0%
236[ L& A BT 140 1.8 1EHE EAH 26] 100.0% 1[fAEE XEETH 4,462] 100.0%
237|dt B FEFTHT 94 1.8 1| EHFE EERED 38] 100.0% 1|EBEE BT 1,296] 100.0%
238[JtiEE ZHHITHT 286 1.8 1EHE FAH 47| 100.0% 1[JEE BT 2,046] 100.0%
239 KB FF FERRA 308 1.8 1|EHE KEEH 31] 100.0% 1|EBEHE BFAREH 5,155 100.0%
240[=FE 8 K& IRET 423 1.8 1EHE AEH 60[ 100.0% 1[fEE B Em 2,203] 100.0%
241 |58 HENEIETEREES 150 1.8 1ERE A+ 199]  100.0% 1[fAEE Al 5,222] 100.0%
242 BHIE AR 8,363 1.8 1| EHFE TiEH 33] 100.0% 1|EBEE LRk E T 1,741] 100.0%
23[ERE R |RIKERET 440 1.8 1|EHFE KA EH 195] 100.0% 1|EBEHE [NES 1,626] 100.0%
244 (1318 ERAT 1,091 1.8 1|EHE A EH] 675 100.0% 1|EBEE /NRET 255 100.0%
245|558 El'.%‘ﬁ 206 1.8 1|EHFE H iR 99] 100.0% 1|EBEE LN A 88] 100.0%
246|R)IIE BEZHT 822 1.8 1|EHE A 480[  100.0% 1|EBEE =FEET 846] 100.0%
247[RERIE -r-i?ﬂz‘rF 4,665 1.8 1| EHFE EEER 218 100.0% 1|EBEE J\IEET 341 100.0%
248 iEIE ESEEED 383 1.8 1|EHFE EANIIES 725 100.0% 1|EBEE FI5 B BT 424] 100.0%
249|558 EANES 73 1.8 1EHE INAH 175 100.0% 1[fAEE F I BT 246] 100.0%
250 FHE ZEHEH 183 1.8 1| EHFE FRRRA 216 100.0% 1|EBEE B 270 100.0%
251[JtimE JEw/=AY:] 421 1.8 1|EHE {EiEHET 493  100.0% 1|EBEE SEIERET 1,238] 100.0%
252 EHE FRRRAL 216 1.8 1| EHFE INIFE 142] 100.0% 1|EBEE P ET 921] 100.0%
253|EB R FEEET 3227 1.8 1|EHFE FH 70 100.0% 1|BEHE 5% Lol 138] 100.0%
254|Z )1 |EERET 314 1.8 1EHE L+ EAH R S RAE 224] 100.0% 1L R A 18,972 100.0%
255[JtiEiE FIR E LB 183 1.8 11EHE REETER /PR S 122]  100.0% A KR 6,181] 100.0%
256 KR AT B 914 1.9 1EHE BB BAH AR PR 139] 100.0% [NGA #BRE 9,089] 100.0%
257|5EHE {EHH 104 1.9 [T Y 44,120 100.0% A SEE T 7,031] 100.0%
258 RF R REH 119 1.9 [T I 7 T 2,056 100.0% A FET 2,597 100.0%
259|=FE WA 3,537 1.9 1 B8 5 2 PRET 889 100.0% 1ILRE ELm 3,263]  100.0%
260 EFHE 2EM 612 1.9 AGET] = /\B] 1,193] 100.0% A Ll 1,844] 100.0%
261 KBRFF Emm 12,376 1.9 [AGET] RATET 636 100.0% 1L R EHm 1,895] 100.0%
262 HEEH— FI5 B BT 424 1.9 AGET] EX=NIES 123] 100.0% 1L R XEH 4,881 100.0%
26352 rz. FER [+ 99 1.9 [T RENFRERBEFES 201] 100.0% A Eichinl 3941 100.0%
264|FERSE | RIAT 506 1.9 AGET] KEHR/\BR/N\ETHE 318] 100.0% 1L R i 1,058] 100.0%
265 RFHE AEH 60 1.9 1|ERRE IR =Bt 8,682 100.0% A ElEnd 2271] 100.0%
266|fE 2 LI BT 175 1.9 1|ERRE IR B 4,216 100.0% 1L R LI D BT 1,132] 100.0%
267|5FE —FHr 714 1.9 1|EEE BRI AT 2,749] 100.0% [NGA b | LIBT 772] 100.0%
268| K518 FEh 4,134 1.9 1|ERRE IR RRET 3,970] 100.0% A sl 4L AT 1,328] 100.0%
269|122 FER 665 1.9 1|EEE /NLET 1,361 100.0% [NGA 78) 1| BT 327] 100.0%
270F 03 LE  [A=)IET 638 1.9 1|ERRE IR JI4R A BT 292] 100.0% A BA E AT 408]  100.0%
271 | EE P10 261 1.9 T Pt sy 233[ 100.0% [NGA XF HET 437] 100.0%
212 AF R XNt 2,012 1.9 1|ERRE IR L A e 374 100.0% NG £ LT 392] 100.0%
273[dtiEE [EEHT 357 1.9 1|ZmE MM 12,731]  100.0% A = EHT 601] 100.0%
27412 B8 EEET00 256 1.9 1ZmE B 8,701 100.0% 1L R TR BT 362 100.0%
275 =88 JIFEET 1,290 1.9 1|Z5E tEHEH 7,382 100.0% A EEILI 461] 100.0%
276 S 58 ERLN 584 1.9 1|Z5E RAFH 6,109] 100.0% 1L R AEH 242 100.0%
277[4tiEE S ERET 180 1.9 1252 R ET 2,879 100.0% 1L R &)1 242 100.0%
278[t@H & EPRET 1,201 1.9 1|Z25E REH 3,860] 100.0% A FiR# 252 100.0%
279|=F 8 BA E AT 1,437 1.9 1|Z5E FRHT 169] 100.0% 1L R = e 1,874] 100.0%
280| SR8 TRt 2,904 2.0 1|Z5E SR 62] 100.0% 1L R JII 7R 1,047] 100.0%
281258 795+ Br 996 2.0 =88 &l 4,186 100.0% 1L R /NEET 507] 100.0%
282|128 g 145 2.0 =88 R E IRET 423 100.0% 1L R £ BT 984] 100.0%
283 K8 2% SHT 1,515 2.0 =88 HEH 2,136] 100.0% 1L R =JIET 599] 100.0%
284 LIS ZOm 2,407 2.0 =88 ESH 607] 100.0% 1L R FE A ET 1,493]  100.0%
285/4t B 12T 401 2.0 1B R ETHT 1,024] 100.0% 1L R WA BT 833 100.0%
286[JtiBE RZZHT 614 2.0 1B R 2 JBRHT 702] 100.0% 1EER EEE 42,456] 100.0%
287 =52 EEL 141 2.0 1B R ZBH 574] 100.0% 1EER B 19,152] 100.0%
288[JtiEE B T 163 2.0 1| RER AT FAT 14,438 100.0% 1EER SEENH 8,829 100.0%
289 =512 ESSlin 571 2.0 1| RER AT {RIRHT 87] 100.0% 1EER AL 24,615 100.0%
290[IF B 18 B /7 [R BT 446 2.0 1| RER AT HERBLEES 347]  100.0% 1|1EEE LWhEh 24,835 100.0%
291[hEIE AKEHET 681 2.0 1| KR AT SFOm 8,872 100.0% 1EER B:am 4,762 100.0%
292/ B 8 ARHT 620 2.0 1| KR AT EE)Ih 16,280 100.0% 1EER AB)hH 6,249 100.0%
293[dtimE AR T 555 2.0 1| KR AT AAREFT 6,747] 100.0% 1EER EX ¥l 3,324 100.0%
294 FER [T 3,085 2.0 1| KR AT PN it 8,666 100.0% 1EER HET 2,800[ 100.0%
295[FXEHE 5% Lol 138 2.0 1| KR AT R 16,164 100.0% 1|1EEE — AT 3,794 100.0%
295/ SR8 75/ SHT 140 2.0 1| KR AT Emmh 12,376 100.0% 1|1EEE AAtH 2513[ 100.0%
297 EHE EEEE 627 2.0 1| KR AT PR EFH 8,123 100.0% 1EER ST 3227 100.0%
298|fEEE FACLN 483 2.0 1| KR AT e 7,673 100.0% 1EER HEH 3,954 100.0%
299 HER FIARBAZERES 459 2.0 1| KR AT o {E B 4,425] 100.0% 1EER AEh 2,577] 100.0%
300[JtiEE EEoEs 249 2.0 1| KR AT BEZAET 488] 100.0% 1EER Bl 797 100.0%
301 IR IR +RET 203 2.0 1| KB FF SR AT 1,146 100.0% 1|1EEE E R 551] 100.0%
302| =2 /NRRTT 3,498 2.0 1EER JERR T 45,920 100.0% 1|1EEE JIHZET 728] 100.0%
303[dtEE SEEIET 127 2.0 1EER il 2,993 100.0% 1EER AEH 777 100.0%
304 AF 8 BEET 281 2.0 1EER hna 2,972 100.0% 1|BER SR 1,083] 100.0%
305/IX B2 2 ET 889 2.0 1EER e Xitl 2,802] 100.0% 1EER KEH 382 100.0%
306 FIFLIE [ EAT 357 2.0 1EER _E ERET 967 100.0% 1EER T IERET 349 100.0%
307[dtiEE L 214 2.0 1EER BESRLEEEHES 116] 100.0% 1|BER Ttk A 42] 100.0%
308|EEEE KEH 382 2.0 1|=RE IS 228 100.0% 1|BER SRE 247 100.0%
EOEINET: T A HET 303 2.0 HEI=T] = ERET 1,687] 100.0% 1EER SIZHET 980 100.0%
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B | ERE AF IR HEESL REAERE] A B ESEEEA REARER % NG | ZRERTIE & HREES REERE %

310[dtimE #%’ Al BT 125 2.0 1 Tfitr iﬂ%ET 2,373 100.0% 1BER ER-ALE] 197] 100.0%
3 |=HE B EHT 806 2.1 1|=RE JIIFEET 411] 100.0% 1|1EEE Fa E AT 303 100.0%
312[HFKE FRJEET 1,426 2.1 1| =ZERE i) 233] 100.0% 1 ffa.% A2 ERET 256] 100.0%
313 1tﬁi§ EJEGH 1,072 2.1 HEI=T 2EH 22] 100.0% 114 .%L% FEE AT 935 100.0%
314| K% NEHT 615 2.1 HEI=T EIIES 68] 100.0% 1|EER =iZ R TR 1,089] 100.0%
3151 *"Lr =L)IE 1,037 2.1 11=ZRE e 10] 100.0% 1EEE kS 263] 100.0%
316|=IHE =R AT 653 2.1 1|=ZERE I AT 6] 100.0% 1|1EEE =BT 53] 100.0%
317|dLiEE BLERET 267 2.1 1|=RE JIE# 37] 100.0% 1|EER £ 1LIE] 58] 100.0%

FREX 4,520 2.1 1|ZRBE ENLal 50] 100.0% 1EER HRF0 4 40] 100.0%

| taal 164 2.1 1FFLE [T 1,512]  100.0% 1BER a4 1,652] 100.0%

%A HT 295 2.1 1F0FLE  [S ST 134] 100.0% 1|EER RIEH 537 100.0%

EXEH 1,739 2.1 [ E TN EF ) 461] 100.0% 1|1EEE P EH 414] 100.0%

XFHERX 11,395 2.1 1FFLE  |[BEE 728] 100.0% 1|EER R WRET 1,346] 100.0%
323[=ILE FHER 334 2.1 1#F0LE  [HRET 357] 100.0% 1EER i HT 1,128] 100.0%
324[HER LS 261 2.1 1|F08RILIE  [FR%S R ET 902 100.0% 1BER RERET 385 100.0%
325[ILO & EXiinl 1,466 2.1 1FZLE [ KihET 133] 100.0% 1|EER IHET 589] 100.0%
326 EEE RREH 117 2.1 1FBLE  [epmesEhegEs 166 100.0% 1|1EEE fR)15 232 100.0%
321|LBE EANET0] 1,231 2.1 1|BERE AR 765 100.0% 1|1EEE B JI11E 1,038] 100.0%
328|FNFNLIE  |[SEPAT 134 2.1 1|BERE T 130] 100.0% 1|1EEE EJI 541] 100.0%
329 AF 8 ERH 153 2.1 1|BERE AIBEAT 411 100.0% 1BER TH 443 100.0%
330[ILFIE FAERHET 426 2.1 1|BERE EEEZ 201[ 100.0% 1|1EEE IR 509] 100.0%
331 1I:§:E Sl 143 2.1 1|BERE FAERHET 836 100.0% 1BER =L 395 100.0%
332 B AR 765 2.1 1|BERE EEEN 204] 100.0% 1|1EEE =&H 1,214] 100.0%
333 (I8 AKEIET 274 2.1 1|BERE EEN 127] 100.0% 1EER ILEFHT 237] 100.0%
3UEFHE E+TRHE 1,105 2.1 1|BERE STRFET 134] 100.0% 1BER HZERT 109] 100.0%
335 EHE VIS 142 2.1 1|BRE SRR 16,237|  100.0% 1|EER = e AT 45| 100.0%
336|EEESE  [E/KET 615 2.1 1|BRE JIIAET 177] 100.0% 1BER JIAF 65] 100.0%
337[IL I8 TN 522 2.1 1|BRE SJRET 361]  100.0% 1|EER X REET 15] 100.0%
338|FIALIE [ LAY 251 2.1 1|BRE FETNEFET 392 100.0% 1|1EEE WEERT 47 100.0%
39[=FE TR 602 2.1 1|BRE i E 144] 100.0% 1BER SRITHET 18] 100.0%
340[JtiEE B BT 264 2.1 1|BRE 7/ SH 140]  100.0% 1|EER BEM 14[  100.0%
341[JtiBE AT NET 181 2.1 1|BRE HEH 36] 100.0% 1BER Fhrith AT 648 100.0%
342[tiBE HEEET 301 2.1 1[I EET:) 1,164] 100.0% 1|BER BREEAT 61] 100.0%
343[ILUFIE FEATAT 324 2.1 1|RLLIE FEE A 63] 100.0% 1| ZREEE FIRE 61,813] 100.0%
344 EHE H R 99 22 1[RLLIE SEEPHT 962 100.0% 1| ZREEE KE™ 19,671 100.0%
34518 A HET 1,606 22 1[RLLIE mAREH 120] 100.0% 1| ZREEE Bl 12,239] 100.0%
346 FIHIE F Ll 755 22 1[RLLIE AKEIET 274 100.0% 1| ZRERIE Eiil 10,217] 100.0%
347[F 0FRILE  [SERET 461 2.2 1ELE L R PR A 85 100.0% 1&REE ERkt 10,493 100.0%
348[dL:EE SFERET 368 2.2 1EER R A HET 303 100.0% 1| ZRERE A 5,083] 100.0%
349[ L& INEET 169 2.2 (=1 fdmliti 2,117] 100.0% 1|RBE #ET 4,008] 100.0%
3504t E SN 239 2.2 g B X BT 194] 100.0% 1| ZREEE BE BT 5,663 100.0%
3511288 S 263 22 [EET EEE 18,655 100.0% 1|RBE TEh 3,353 100.0%
352|= e B H AT 637 2.2 1|ESR E:H 1,846] 100.0% 1|RBE i 4,803 100.0%
353[JtimiE EHEET 664 2.2 1|EER ERSET 58] 100.0% 1| ZRERE HEEEART 2,906 100.0%
354|EEE D5EH 434 2.2 1|ESR {EBRAIAF 125] 100.0% 1| ZREEE =k 1,868] 100.0%
355 EFHIE BAT &5 44 561 2.2 1|ESR FFHE 1,937] 100.0% 1|RBE JE 2,961 100.0%
356| EERE hnEE T 2,802 2.2 1|ESR LI BT 175] 100.0% 1|RBE DL 5448] 100.0%
357U KTHEL 525 2.2 T AREET 396] 100.0% 1|RBE BRFh 6,861] 100.0%
358[1@H 2 EFi1 606 2.2 1|EER 2 I AT 171] 100.0% 1| ZREEE HAH 6,970 100.0%
359 EER )[BT 821 2.2 [T L SET 2,034] 100.0% 1| ZREEE <IE 20,701] 100.0%
360 EFHE {EiEHET 493 2.2 [EET iR ET 825 100.0% 1|RBE Ui-bihh 12,702] 100.0%
361 BHE BmE 12,433 2.2 1|EER D5EH 434 100.0% 1| ZRERE EEIB T 4,962 100.0%
362[JtiEE BRI 141 2.2 1|ESR AL LET 1,014] 100.0% 1| ZREEE el 1,961] 100.0%
363 RFE AETH 336 22 1FNE EEFH 2,325 100.0% 1| ZREEE AT 6,106] 100.0%
364[JtiEE TEEHT 480 22 1|ENE Ehh b 1,744] 100.0% 1| ZREEE BRI h 4,041] 100.0%
365 ILOE FOAHET 615 2.2 1EINE T FEET 823] 100.0% 1|RBE ST 7,491]  100.0%
366[IX 212 JITERLS; 769 2.2 1EINE INCAET0 831 100.0% 1| ZRERE wET 4,024] 100.0%
367|EEHE HILH 215 2.2 1ENE F 2 1,507] 100.0% 1|RBE FEgk 2,486] 100.0%
368[BHE R A& 242 2.2 1FNE SEHEEFHERES 340] 100.0% 1|&BE NFHMSI5H 3,085 100.0%
369 LIS BEREEH 120 2.2 1|28 BIEE 28,932] 100.0% 1| ZREEE )l 2,953 100.0%
370| S B ALLET 1,113 2.2 [T ! bt 2,460] 100.0% 1|RBE AT 7,897] 100.0%
371 |FNFRLIE  |fEshTh 1,512 2.2 1|EmE EEM 1,579 100.0% 1|RBE TA™m 2,263 100.0%
372 BHE A& EH 201 2.2 1|E5E 2= 2F FIET 157] 100.0% 1| ZREEE $RE™ 3222 100.0%
373[taM 8 SEEH 2,285 2.2 A X2 105] 100.0% 1| ZREEE KIEH B 4,370] 100.0%
374|RIE BN 635 2.2 A kR 231 100.0% 1| ZREEE MNEFETH 3,879 100.0%
375|=8 8 PN 432 2.2 1|E5E RIFE 31] 100.0% 1| ZRERIE I 2,189 100.0%
376[4= 2 J\& 4,446 2.2 I oh + {EET 355 100.0% 1|RBE KSEHET 1,107]100.0%
377U XFE HET 437 2.2 1|EmE 5 IR AT 203] 100.0% 1|RBE B L] 1,182]  100.0%
378|EEHE BRI BAH B RS 139 2.2 1|EmE A4t 206] 100.0% 1| ZRERE AN 3,540 100.0%
379[dtimE {= KRET 236 2.2 1|EmE FEEET 386] 100.0% 1| ZREEE AFHT 898[ 100.0%
380 EFHE TR 1,273 2.3 1|E5E L 261 100.0% 1|RBE EFLE 999[ 100.0%
381 [fE L8 e 1,810 2.3 1|=5E =R 66] 100.0% 1| ZREEE ey 52T 3,667 100.0%
382|=ILE KR 2916 2.3 1[ERE J\&i 4,446] 100.0% 1&REE ;8] RIET 444] 100.0%
383[ AR BEX 11,569 2.3 11k 2 HEHH 9,047] 100.0% 1&REE J\TRET 1,612]  100.0%
384 4EE HEPEEH 744 2.3 1|2k R NGzt 9,283 100.0% 1| ZRERIE FERHT 514] 100.0%
385 EHE BRIl 1,406 2.3 1|2k R AZERFH 6,373] 100.0% 1| ZREEE SEET 1,871] 100.0%
386[JtiEE RN 193 2.3 1|2k R SEEH 2,285 100.0% 1| ZREIE FIARET 946] 100.0%
387[EESE |FNZHT 518 2.3 1|E[E SSET 4516] 100.0% 1|#IEARE HAR 40,849 100.0%
388| RIAE i) 1,830 2.3 1|E[E JKEHT 1,991]  100.0% 1|#IEARE FHET 40,545]  100.0%
REEIE[&:2E] BRTRSET 285 2.3 1|E[E HE 391] 100.0% 1|#IEARE EF|H 10,295] 100.0%
EERNET X + SHBT 317 2.3 1|#E[E EEETS— T P PRAE 307] 100.0% 1|HEARE wAT 11,470[ 100.0%
391 EIGE JI AR 1,115 2.3 1EER 2AH 1,385] 100.0% 1|HEARE B 8,391 100.0%
392|F RS H S IE T 254 2.3 1|EEE R 4,018] 100.0% 1|#IEARE BB 7,419]  100.0%
393/dt B F Bl BT 147 2.3 1|EEE & By BT 1,481 100.0% 1|#IEARE B 5186] 100.0%
394[dtiEE HEET 232 2.3 1EER LLIET 1,276] 100.0% 1|HEARE NI 13,294] 100.0%
395|E3E 2 %)Ih 3,958 2.3 1EEE FHAOEHET 1,834 100.0% 1HEAE HREmH 6,761 100.0%
396[ILOE B 2 BT 194 2.3 1|EEE % iBHr 446] 100.0% 1|#IEARE PN 5,380] 100.0%
397|BE K2 EXL) 573 2.3 1|EEE A HET 1,606] 100.0% 1#ERE iR 2,276] 100.0%
398|F B e 2,127 2.3 1|EEE KHETHT 415] 100.0% 1|#IEARE AR ET 9,332] 100.0%
399|fEEE EIRET 301 2.3 1|EER ARHET 620] 100.0% 1|#IEARE O 3,819] 100.0%
400|[LBE IHET 1,113 2.3 1| EIFE T 1,830 100.0% 1|HEARE THh 4,781 100.0%
401 | RFE AFHT 898 2.3 1 EIBE B2 AT 2,639] 100.0% 1iERE E=IET 2,712] 100.0%
402[EBE A 2,513 2.3 1| RIEE RRATET 541] 100.0% 1|#IEARE AR 744] 100.0%
403[dt B FEER] 105 2.3 1| RIEE JIIE L 1,115]  100.0% 1#ERE h BT 861] 100.0%
403[EEE =IZHET 980 2.3 1| RIEE Rk RET 1,232]  100.0% 1|#IEARE FHEE 1,257]  100.0%
403|F0FRILIE [ AHRET 133 2.3 1| RIEE /MEE BT 112]  100.0% 1|iIEARE FAHT 3,141] 100.0%
406/ =RE HETTH 1,312 2.3 1 EBE & < BT 1,387]  100.0% 1[#ERE Sy AHT 1,834 100.0%
407[HER 55m 3,404 2.3 1EEARE Zithh 3,907 100.0% 1|HEARE 1S A ET 691] 100.0%
408[ERESE |REMT 870 2.3 1EEARE /NEET 266] 100.0% 1[HEARE =18 R ET 2,200] 100.0%
409[F 0FRILE  [HEAT 1,935 2.3 1ERE NEL 443] 100.0% 1[#ERE FRJEET 1,426]  100.0%
410[dtiEE BEEE 309 2.3 1EEARE I 115] 100.0% 1|HEARR AR EA) || BT 923 100.0%
a1 |ZRE SRALET 623 2.3 1EEARE TEIRRET 1,361] 100.0% HEET HEE 38,862] 100.0%
4128 fR)1F 232 2.3 ERE EE AR 313[ 100.0% HEET RitE™ 24,924] 100.0%
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B | ERE AR HEEL REARfEH A& JEGE | ZREFFIE & HEES REERER % NG | ZRERTIE & HEEL REERER %
43| EER Emﬂﬁ 1,002 2.4 1EEARE SRET 965 100.0% T =T 30,248] 100.0%
414 FHE BN 426 2.4 1 ﬁﬁzﬂ% S RITAT 274 100.0% HEET BT 17,955 100.0%
415 B8 FHAOEET 1,834 2.4 1EEARE K EH 192] 100.0% HEET AHM 19,841 100.0%
416 5F 8 FEETET 996 2.4 1EEARE ARH 54] 100.0% HEET SBEm 3421 100.0%
NIEI=Y = ERET 1,687 2.4 1EEARE WITH 371] 100.0% T fEM T 5,749 100.0%
418|FNFLIE | EE)I AT 177 2.4 1EEARE BREEH] 245 100.0% T EITH 5197 100.0%
419|[EBE A RET 497 2.4 1EEARE HXYH 1,345] 100.0% HEET BT 4,802 100.0%
420[F0FLIE iR AT 868 2.4 XD E 2% SHh 1,515] 100.0% HEET =T 3577] 100.0%
421 [ FRERFF HERBLEES 347 2.4 1XHE T 2,054] 100.0% HEET = 3,791 100.0%
a2ERER BRSS! 51,198 2.4 1XHE EEH 1,656] 100.0% HEET #HEYH 4,009] 100.0%
423 IR B2 1538 I ET 1,379 24 1XHE B 102] 100.0% T BEM 1,162] 100.0%
424 BB R = 11,750 2.4 XD E B Hi B7 2,410[ 100.0% HEET = [ BT 2,069 100.0%
4251838 FA RS ATET 770 2.4 1AXHE NEHT 615 100.0% HEET R ET 45| 100.0%
42648 JErRET 499 24 HEE ZUDH 1,356 100.0% M T{-HAE 265 100.0%
427[RERIE % BAHT 748 2.4 HEGT = R AT 653 100.0% HEET EsAt 40] 100.0%
428|128 SRE 247 2.4 HEGT EHT 658 100.0% T HAHT 926] 100.0%
429 4BIE AEBKH 216 2.4 HEGT FEREH 85] 100.0% 1BEER REFIRHET 348 100.0%
430[F0FLIE [ SR ARHT 782 2.4 HEGT RIFET 471]  100.0% HEET A 618 100.0%
431[dtimE A AT 400 2.4 HEET P9 )1 [T 1,492] 100.0% HEET E3ET) 330[ 100.0%
432[ BHE Al ZHT 1,068 2.4 HEGT EEH 103] 100.0% HEET SIS 247 100.0%
433 ZRE 41 278 2.4 HEGT HEZEH 185] 100.0% T REZE 792] 100.0%
434| 2R 12 BIEE 28,932 2.4 HEE HZE 252 100.0% HEET A &M 242 100.0%
435[JtiEE FNFEHET 227 2.4 R zn)u%Tﬁ 51,198] 100.0% HEET JI35# 261 100.0%
436 S 58 EE 3,352 2.4 1EREE [WbESRKREHH 2,043] 100.0% HEET [2EES 541] 100.0%
437 =58 F 4 EEET 224 2.5 1|BEREE |[EfmEh 2,585 100.0% M HTE VAT 1,013]  100.0%
438| R AR E[A=S 17,016 2.5 1EREE [=8H 68] 100.0% T FATET 2,663 100.0%
439U IR EIL:) 392 2.5 1ERSE |fRTH 491]  100.0% HEET REHT 1,015] 100.0%
440|212 ZERAT 1,157 2.5 EEEE G PN 440[  100.0% HEET BAFOMET 842 100.0%
A4 EFE ERET 506 2.5 1|ERSE |hiEFHE 615 100.0% HEET T HET 868 100.0%
ERSE |[EASHE 1,063 2.5 1|ERSE | XH 91] 100.0% HEET KSRET 2,983 100.0%
443[F)IE [EEL) 183 2.5 1ERSE [F{LET 677] 100.0% T EET0] 1,945 100.0%
444 EFHE =HEA 821 2.5 1[piRIR ST 11,633] 100.0% T FIARBREREES 459]  100.0%
445 IO AR 753 2.5 1[piRIR RS 948[ 100.0% 1BER BEE 121,552] 100.0%
446 %18 HEEEART 2,906 2.5 1[piRIR EFHNET 1,379] 100.0% 1BER SWVFEM 102,537] 100.0%
447[4tiEE o F AT 440 2.5 1[piRIR LA ET 3,044 100.0% 1BER AT 13,992 100.0%
48| =RIE TFifT 233 2.5 1[piRIR EAE 4ol 1,690 100.0% 1BER =K 45,369 100.0%
IEES INE R 266 2.5 1[piRIR FE IR AT 3,402 100.0% 1BER THET 5,671 100.0%
450[JtiEE JEE Bl BT 201 2.5 1[piRIR EE A 80] 100.0% 1BER BRh 4,489 100.0%
451[FEHE L= FE 88 2.5 1[piRIR L XEA 49] 100.0% 1BER AR 24,232] 100.0%
52=F 8 #oJL BT 869 2.5 1[piRIR FERH 144] 100.0% 1BER BREET 5247 100.0%
453 ER FHH 11,519 25 1R Ll 423] 100.0% 1EER AEH 5,649] 100.0%
454|F0F0LIE | BRES RS IAET 902 2.5 1[piRIR 5 3R =BT 184] 100.0% 1FER HEHEH 16,057] 100.0%
455|122 EEA 391 25 455| =2 PNChd 9,846]  99.8% 1EER Bl 10,043]  100.0%
456t iEE O hHET 491 2.5 456 %518 KE™ 19.671]  99.7% 1BER PEH 3,844 100.0%
4571138 ISR AL 152 25 457 FER E At 9,374]  99.7% 1BER il 11,138 100.0%
457 %H)ur FAERHET 836 2.5 458[fEHE WA 7,688  99.7% 1BER LET 16,934] 100.0%
45948 TJIET 218 25 459| B E Al 5222  99.7% 1EER = 18,302] 100.0%
460t iEE = BT 416 25 460| K518 AL 4,797]  99.6% 1BER Bam 26,363] 100.0%
461[ILZIE ISR 366 2.5 461 [dbEE BREETH 15,707]  99.6% 1BER Brh 4,381 100.0%
462[dtEE SEFOET 383 26 462[BERE Fim 4,665  99.5% EEE FHEM 11,519]  100.0%
463 RIFE 5T 2,477 2.6 463[ 12 HREMH 3264  99.5% 1EER AR 10,878] 100.0%
464[JtiEE XN 551 2.6 464 =58 HIFE 24,434]  99.5% 1BER BAEE™ 10,753 100.0%
465|5F 8 EEZEES 232 2.6 4655 FEE HEET 12,985 99.3% 1EER EAM 5,620] 100.0%
466 EEE Z2@h 6,357 26 466|= L2 &)l 2519]  99.1% 1EER T 12,985] 100.0%
467|RE K2 NS 443 2.6 467|ZRE BHh 3459  99.1% 1BER @) 5470 100.0%
468|EEIRE R |fES SET 975 2.6 4681 ER ER™ 11,138]  99.0% 1BER AET 10,665 100.0%
469[RERIE it 3,907 2.6 4681 ER EAM 5,620  99.0% BEERE deAH 4,406 100.0%
470 B BEA 1,162 2.6 470[FRERKF REh 35832] 99.0% 1BER I\t 6,544 100.0%
AN [EFE {EEHET 273 2.6 AT [HER AR 10,878]  99.0% 1BER ELXRT 8,421 100.0%
AEL L =X 713 2.6 472| FER Hram 8,179]  99.0% 1BER =i 10,259 100.0%
473|F0FRLIE  [ENERAT 622 26 473 RFE WFH 6,861  99.0% 1EER SR 4,360] 100.0%
474[4tiEE Rt 71| By 94 2.6 474 5F 8 J\IBFEH 1,484]  99.0% 1BER wREH 7,915 100.0%
474 4EE REHM 47 2.6 47518 H 8 Hhoi 1,940]  99.0% 1BER E=Fh 3,390 100.0%
476 EHE EZ i 4,448 2.6 475 EER BEHT 1,196]  99.0% 1FER [ A=l 5,129 100.0%
477(RIIE i BE B AT 1,358 2.6 47708 P=1E3i] 9,654]  98.9% BEER B 4,541 100.0%
478 L8 ET 31 984 2.6 478|mE)IE  |[HBEET 28,400]  98.8% BEERE Bl 6,540 100.0%
479|138 BEH 752 2.6 479| AR ERX 8,448 98.8% 1BER SLHFHT 8,952 100.0%
480[=F 8 it 9,382 2.6 480 %I I8 HEET 1,871]  98.8% BEERE B 3,864 100.0%
481 1L I8 EEI) 461 2.6 481 BB 8 AHT 2413] 98.8% 1BER {REHT 4,463] 100.0%
482 L8 KEHET 862 2.6 482 AF 8 FEFPET 996 98.8% 1BER =50 3,114[ 100.0%
483[HEE /NEEEFET 843 2.6 483 EE EELD] 1,635]  98.8% 1EER ESX=NI 2,119] 100.0%
484 =HIE hnEET 1,621 2.6 484[IHER AEM 5649 98.7% 1BER A BT 687 100.0%
485[FEARIE ZLET 508 2.6 485|F IS BT 1,296]  98.7% 1BER SBIIET 1,817] 100.0%
486| R AR J\SCHT 490 2.6 4851 ER =FH 3390] 98.7% 1BER L ET 1,111]  100.0%
487(FHE =FEET 846 2.7 487 AR AHX 40,285  98.7% 1BER INITET 1,663] 100.0%
483 HBE BEh 7,282 2.7 488 FEE fBH 4784  98.7% 1BEE N SEL 1,297 100.0%
489| REFE RFOET 229 2.7 489 =HE K] R ET 1,989  98.6% EEE = RHE 1,081]  100.0%
490 EIG I8 +FEH 1,134 2.7 490( K518 EI¥FTh 2,631] 98.6% 1BER 8111 BT 676] 100.0%
491 EHE L HAET 267 2.7 491[dtimE PG 1,093]  98.6% 1BER EEDHET 629] 100.0%
492|F)IIE FADSHE 1,445 2.7 492| BB S J\BERT 1,228]  98.6% BEERE 1 AT 595 100.0%
43[R IR FATET 2,663 2.7 493X I8 EEX=ET 2,682] 98.5% 1BER = EPET 671 100.0%
494 K2 TrET 1,224 2.7 494 (1 AR AHET 5380  98.5% 1BER KR 450 100.0%
495 TRERKF SRR ET 779 2.7 495 %518 wEi 4,803] 98.5% 1BER /N EP AT 843 100.0%
496 EFHE NI X 252 2.7 495 iR 8 Be[ % Er v 3010[ 98.5% 1FER EBRXH 132] 100.0%
497[4timE EFES 271 2.7 497 EIGE BT 2477]  98.5% 1BER EXEL0) 793 100.0%
498 %I I8 AT 6,106 2.7 498| K518 ADE 24,274]  98.5% 1BER 7 1[ BT 950 100.0%
499 FHE chiAET 564 2.7 499D @I 20,847] 98.5% BEERE + EET 2,523 100.0%
500| FHF 2 FREET 380 2.7 500/ B hEF X 12,977]  98.4% 1BER HEHT 2,119] 100.0%
501[ix 212 J\EEHET 693 2.7 501 |dbifEE ER%H 1,525]  98.4% 1FER = RET 2,188 100.0%
502| EEF I8 o) 114 410 2.7 501|EREE [T 1,662]  98.4% 1BER 2B 3,269 100.0%
503| =402 TiEEBKT 661 2.7 503| EEF IR rﬁﬁﬁﬁﬁ 1,484]  98.4% 1BER HMRET 2,278 100.0%
504 X B AR 24,274 2.7 504[ IO 2 FEH 11,798]  98.4% 1| FEE FEE 100,268] 100.0%
505|852 AIIET 1,038 2.7 505]Jt 8 imﬁﬂﬁ 1,349]  98.3% 1|FER FEH 72,812] 100.0%
506| BRI  [FfEFHT 467 2.7 506 & 4012 PN Gl 8,363  98.3% 1|FER k¥ 4,367 100.0%
507| &JIIE INCAET 831 2.7 507[ILFLIE BT 2,150  98.3% 1|FER LidllGd 31,564] 100.0%
508| & 2 18 ERT 261 2.7 508| 8% [H 2 BRm 11,641 98.2% 1| FEE ARET 50,511] 100.0%
509|EREE [MARH 1,293 2.7 509 | SRR AT AL LT 1,186]  98.2% 1|FER el 3,035 100.0%
510/ E&FE TER 335 2.7 509|2iE 18 SBILET 623]  98.2% 1| FEE AEEH 10,662 100.0%
511 5FE AfniEH 2,263 2.7 511 EER REH 2,863] 98.2% 1|FER WET 34,838] 100.0%
512[dbifEE S&H 322 2.7 512[F 52 & T HEET 880[ 98.2% 1|FER FHT 11,843 100.0%
512|FkEHE J\BRiEET 322 2.7 513| =GR HERE 9,357] 98.1% 1|FER ERT 5,999 100.0%
514/ 5F 8 FEF1E AT 273 2.7 514|512 ek 2,359  98.1% 1| FER B HETT 10,884 100.0%
515 4E12 A ERET 1,148 2.7 515[EME EEA 1,091]  98.1% 1|FER EEt 12,489 100.0%
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N | #RIE AR 4 | HREES REERH] A& | [IBE|HMEFEZ HEEAL REERFR % | Nz | ERaE AR HREES REARER %
516288 | IEKIJ.IF'T 24,615 2.7 516|E'REE [EAME 2,437 98.0% 1| FER A 3987 100.0%
517 28F 8 =Eom 3,339 2.7 517 FER W%JIIT‘H 1,969  97.9% 1| FER JBH 4,784] 100.0%
518|=F R AEHE 572 2.7 517| RERAF 2 FE BT 1,336]  97.9% 1|FER BEHH 13,967 100.0%
519| %K IR EFCEs 999 2.7 519[ERER .'ﬁ;kn 43853  97.9% 1|FER tamh 32,932] 100.0%
520[Jt i 2l 709 2.7 520|382 #i8h 2,446]  97.8% 1|FER At 825 100.0%
521 [JLiEE ERHH 1,525 2.7 520[=F 8 TR 602] 97.8% 1|FER hRm 19,931 100.0%
52| 5F 2 IEH 382 2.7 522[=8 8 FMEPET 3519] 97.8% 1|FER Pt 15,752] 100.0%
523| XA E e 1,615 28 523| B4 E 12 i il 10,795] 97.8% 1|FER NFRTE 15,737] 100.0%
524|dbifE L+ /EET 287 2.8 524|Ff1LIE izt 5903  97.7% 1|FER Ea it 9,374] 100.0%
525| FH R FAERHET 1,056 2.8 525 LR R 3076] 97.7% 1|FER [N 1,969] 100.0%
526 REFIR FEAK 47 28 526| =I5 12 NNt 3498  97.7% 1|FER S At 8,179] 100.0%
527|ih4EI2 i 46,484 2.8 527|B &8 ZITET 797]  97.7% 1|FER EEh 5524 100.0%
528| KR HEH 2,054 2.8 528| FEIR fntgm 50511  97.7% 1|FER =iFEh 2,558 100.0%
529| EEIR i R AT 998 2.8 529| BER IR EEmH 2482]  97.6% 1|FER ERh 12,826 100.0%
530|dbifEE Z ERET 228 2.8 530|BiE 18 RAHET 445]  97.6% 1|FER Mo fE 7,546] 100.0%
531|fAAE dLRkEH 1,741 2.8 531|F1LLIE fiERiT 2,000] 97.5% 1|FER b/ aT 5014 100.0%
532| R IK IR KBEET 1,107 2.8 532| B8 HEET 9,295 97.5% 1|FER J\#H 4,542 100.0%
533[ IO E WO 14,646 28 533[=F R REBFTH 992]  97.5% G ENFa 9,274 100.0%
534|= 5018 FEH 1,579 2.8 534|18FH 2 K E S ET 1,466]  97.5% 1|FER BHFMH 6,132] 100.0%
535|512 IR T 1,489 2.8 535|E B8 EEE 21,399]  97.4% 1|FER EEX 3,379 100.0%
536 | F8E 12 F{RFE 509 28 536 BB INETT 13,911]  97.4% 1|FER Bl 2211 100.0%
537|dbifEE BIEET 1,379 2.8 537|BE R =T 30,248  97.4% 1|FER EEh 2,434] 100.0%
5383 IR B 2 BT 513 2.8 538t 38 ERlth 603]  97.4% 1|FER FEh 4,731]  100.0%
539| FHE T AR 645 2.8 538|dbifEE + =R 830] 97.4% 1|FER W 3,085 100.0%
540[ L 12 kS 242 2.8 538| =i IR EXh 5747]  97.4% 1|FER WgHh 2,208 100.0%
541[BER #Rh 4,489 28 541 =R EH 4384  97.3% 1| FEE KB ET 3,408] 100.0%
EANMTA /NEIRT 507 28 542| 5 F 8 R Rl 7= FH T 1,113]  97.3% 1|FER B = FHET 1,432] 100.0%
543| = IR L THET 1,302 28 SRERESE |[EABH 1,063]  97.3% 1|FER KET 1,059] 100.0%
5441512 ifA-] 21,730 2.8 544| B1R 12 B T ET 315]  97.3% 1|FER FHIBHT 346] 100.0%
545|B B2 F1E DN FHT 1,013 28 545|182 X 1,748]  97.2% 1| FEE SREEET 901] 100.0%
546|512 INNET 2427 2.8 546| REF 12 E&Hm 28,640  97.2% 1|FER A+H EET 866] 100.0%
547| =R I 694 28 547| RIGE Ed=hit 2,225 97.2% 1| FER Z LB 481] 100.0%
548| IR nﬁﬂﬁ 780 2.8 548 |t ifEE EJEN 1,072]  97.1% 1|FER 182 S 1,592] 100.0%
54|k B R [E30] 905 28 549 R iHIE I H 4041 97.1% 1| FEE —=HT 974] 100.0%
550/ E RS2 “E?PJ&ET 531 2.8 550/ F /IR =2 4513]  97.0% 1|FER EAEH 938 100.0%
5515 F 8 B2 RHET 551 2.8 551 | KRR AT *AH 23969  97.0% 1|FER EEa 664] 100.0%
552|EREIE  [HEF NET 659 28 5522 F 8 AEH 382]  97.0% 1|FER RARAT 353 100.0%
553|dbifEE A FI BT 415 2.8 552|1F AR IR EAET 691] 97.0% 1|FER RERAT 386] 100.0%
554| REFIR AREH 199 2.8 ARG JII R 1,345]  97.0% 1|FER AZER 495 100.0%
555|AJII2 JTE[:S 742 28 555| B ED BiX 29,062]  96.9% 1|FER ETEHT 282 100.0%
556|AEAN IR A B AT 592 28 556|f0BILIIE  [HE)IET 638]  96.9% 1|FER SEmIHT 377]  100.0%
557|118 ZE=T0] 1,762 2.9 557| B3 [H 2 B 13,616]  96.8% 1|FER miEEREE 50] 100.0%
558| X718 EEN 1,656 2.9 558 REF IR BAH 555]  96.8% 1| REE FHREX 4,520 100.0%
559[Jt 8 =R 603 2.9 559| = i 12 Bah 2,330]  96.7% HESR FRX 8,532 100.0%
560|= LLIIE BT 2519 2.9 560 ;pi@IR mEET 4553]  96.7% 1| REE EX 11,569 100.0%
561 |dbifEE B & 884 2.9 561|FER hRm 19,931  96.7% 1| REE HEX 12,145] 100.0%
562[f0FLE | E=HAT 1,289 2.9 562| EEHE FIBH 5558  96.7% HESR XERX 11,395] 100.0%
563| B iE IR XM 3,193 29 563[15 E IR INITET 1,663]  96.7% 1| REE BEX 9,196 100.0%
564|852 BEm 1,731 2.9 564 EEREE [MART 1,293 96.6% HESR FHKX 13,954] 100.0%
565|382 #EH 3,624 2.9 565t 38 IR 11,498]  96.6% 1| REE IERR 32,667] 100.0%
566| =212 #BRE™ 16,278 2.9 566|{£ & 2 N 3857  96.5% 1| REE @I 20,847] 100.0%
567 REFIE FLERET 2,084 29 567|= LR BEm 2,857  96.5% 1|REE BEX 12,386] 100.0%
568|118 ZAH 1,385 2.9 568|F8 IR Bt 20,644]  96.5% 1| REE AHRX 40,285 100.0%
569| EFF 2 REEER /N ERAE 122 2.9 569|fAH 2 AT 21,352  96.4% HESR HARK 48,014] 100.0%
570|dbifEE 1k = RAET 346 29 570|F8 R 12 NI T 2,137]  96.4% 1| REE EARX 8,448 100.0%
571|= 508 =R 13,708 2.9 570 SEE [EELN 811]  96.4% 1| REE hEFX 12,977] 100.0%
572| =R ST 822 2.9 572| RHIE A 1,406]  96.3% 1|REE 2R 27,396] 100.0%
573| B1R IR ) 799 2.9 573[IHER 1THEM 5671  96.2% 1| REE Z2EX 11,118] 100.0%
574| AR AT E¥es it 3,832 2.9 574|[=8 8 Z4h 11,524]  96.2% 1|REE E[A= 17,016] 100.0%
575|dbifEE = A BT 595 2.9 575|518 = R ET 551]  96.2% 1| REE F)X 12,041] 100.0%
576| = IR [l 3,371 2.9 575|=8 8 A E AT 1,437]  96.2% [IESE RABX 32,119] 100.0%
577 =R XK 5,747 2.9 575| EER BEXh 1,651]  96.2% HESR BEX 46,329 100.0%
578[{E [ 2 RIEET 412 2.9 575| LR ZOm 2407|  96.2% HESR EIX 44,804]  100.0%
579|REAR IR REART 61,564 2.9 579[=8 8 JIFEET 1,290]  96.1% [IESE BiX 29,062] 100.0%
580 =F 8 BB 1,125 29 580| A B FF SR 65,545]  96.0% 1| REE IR 49,658] 100.0%
581|ILIFZ 12 FiRA 252 2.9 581 ZRIE EBETH 9,106]  96.0% 1| REE NEFH 40,305 100.0%
582| EE IR BERT 1,196 2.9 582[Jt 8 H it BT 419]  96.0% 1|REE )il 12,379 100.0%
583|F /IR EZEFH 2,325 2.9 583| EEIR =K 5508  96.0% 1| REE REEh 7,758] 100.0%
584| AR 28X 11,118 2.9 584| EE IR =@M 8,904 95.9% 1| REE =fEh 12,335] 100.0%
585|B¥ B 12 =) 330 2.9 585| KB FF FERRA 308] 95.8% 1| REE Eiah 9,276 100.0%
586|AEAN IR L1 ZRET 841 3.0 585|FfNFxILE |MBH 5334]  958% 1| REE fFhh 19,357] 100.0%
587 |dbifEE st FH AT 363 3.0 587| D HEX 12,145]  95.8% 1|REE B EH 8,099] 100.0%
588 E R ESX=NI 2,119 3.0 588| K12 TR 1,224]  95.8% HESR Ffmh 15,075] 100.0%
589 |F# LLIIE EET) 1,164 3.0 589 | 1@ IR 1T48h 5609] 95.7% 1| REE BT 32,324] 100.0%
590|F# LLIIE EEh 1,752 3.0 590|FIERILIE  [5RARHET 782]  95.7% 1| REE NEHH 7,519] 100.0%
591 | REFIE A 195 3.0 591 [HF AR HAT 11,470]  95.7% 1| REE INETT 13911 100.0%
591];h#EIR AR 130 3.0 592 RHE BAl &5 44 561] 95.7% 1| REE HEh 13,544 100.0%
593|118 & By BT 1,481 3.0 592[ SN2 E@h 2439]  95.7% 1| REE EXi 10,945 100.0%
594|852 EFNIESi 541 3.0 592|118 HiETH 2571  95.7% 1| REE E 5 Fh 7,824] 100.0%
595/ B ER IR Z AT 1,298 3.0 505/ 5 F 8 {EHET 273]  95.5% 1| REE E 4,423]  100.0%
596|= %112 EJI[BT 813 3.0 596| F &2 HBLSHHE 2,117]  95.3% 1| REE wEm 3414] 100.0%
FHE = AT 784 3.0 597| B 52 BEZTHT 2,859 95.3% 1| REE JaiIh 4,804] 100.0%
598|512 {EBRAIAF 125 3.0 598| HH R hSh 2031] 95.2% 1| REE EP.N L 6,556] 100.0%
599 b8 T iRET 646 3.0 598|FkEH IR J\IEET 341]  95.2% 1| REE AT 5493 100.0%
600|122 B 414 3.0 598 REF IR N EX 252]  95.2% 1| REE RHABKT 8,089 100.0%
601[FE R ZHEHT 2,119 3.0 598 BB 12 tRET 203]  95.2% 1| REE BB LT 6,345 100.0%
602|128 ) 1,276 3.0 602[5EE ELXRH 8421] 95.2% 1| REE ZEM 9,984 100.0%
603[EE R SR [{fF{LET 677 3.0 603 | B AR E[A=S 17.,016]  95.1% 1| REE fEs 7,726] 100.0%
604/t iEE FEEIET 364 3.0 604 SR8 SEHET 354]  95.0% 1| REE Pt 4,267] 100.0%
605/ 2 18 teH = T 1,496 3.0 604[RERE AEh 2539]  95.0% 1| REE HEHHMH 6,412 100.0%
606|FE R SR |RF{LHT 1,016 3.0 604EEREIE [Z1ZHT 518]  95.0% 1| REE BRI 13,814] 100.0%
607[ILifz 18 F Il 1,542 3.0 607 SR8 JLiEh 1,545]  94.9% 1| REE Hh R HT 2,373 100.0%
608| X2 EX N 2,316 3.0 608 EEE BwEm 40,206]  94.9% HESR B O Hi BT 1,492 100.0%
609[EERS R [BAMT 2437 3.0 609 2 18 =187 465]  94.9% 1| REE EEA 74] 100.0%
610[18H &8 Sk SR T 1,466 3.0 610[182H 8 ANVET 2265] 94.8% 1| REE 5 % EEET 220 100.0%
611[HER REBXH 132 3.0 611|BEE AR BRERES 459]  94.7% 1|REE AEHT 470 100.0%
612[AEARIE BEARE 31,491 3.0 612[dtiEE =g 13,449  94.7% 1|REE #HEEH 167] 100.0%
613[JtimE 2= 283 3.0 613[ KN 8 BEM 5243  94.7% 1|REE == 110] 100.0%
614 =IHE FaERh 2,359 3.0 614|FEE J\#H 4542]  94.5% 1|REE RS 28] 100.0%
615/ B8 T 2,571 3.0 615 E R = T 2,069 94.5% 1|REE J\CHT 490]  100.0%
616 RFE B S BT 639 3.0 616 B EE B 14,403]  94.5% 1| REE INEEA 266] 100.0%
617 EFHE INRFE 175 3.0 617|=HE BEm 3531] 94.5% IR 131,715] 100.0%
618[JtiEE R 492 3.0 618[ERESR [ERESE 29,327]  94.5% 1#HENE  [tEEET 51,859] 100.0%
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g;z%&%%:/tl—mf*étua) Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
JEGL | ZBERFR HEES REERH] A& | [IBE|HMEFEZ HREES REERER % | MBS | ZRE R & REER REERR %
619 RFE /l\;"éBiT 160 3.0 619|BEE RitET 24,924]  94.3% 1MENE  [BEET 28,400] 100.0%
620[ S1R 2 E@h 2,697 3.0 620[ =2 EXL0) 1,694  94.3% EEINEEZ 18,960] 100.0%
621 EER AhbLiMAHAE 447 3.0 620[AEARIE BAJ &% i1 1,788  94.3% E=IE |[HAEh 11,256] 100.0%
622|F)IE EhA b 1,744 3.0 YA BEH 19,152]  94.3% 1#HENE  [FERH 33,934] 100.0%
623[AEARIE DRI 708 3.0 623 B8 Wil 38,358  94.2% 1E=NE  [/hEERT 13,337] 100.0%
624[JtiEE BEERET 267 3.0 624[JtiEE S5 T 309]  94.1% E=NE  [FyiGh 19,127] 100.0%
625/ F 2 LT 1,111 3.0 624/t K2 FREA )11 ET 923]  94.1% 1HENE [EFm 3,693 100.0%
626 B AR wHEEH 167 3.0 624 B8 FREFHT 221]  94.1% E=NE  |[=idh 2,489 100.0%
627| RIFE RIFE 27,809 3.0 624|RER 2 =T 442]  94.1% 1E=IE  |EHh 11,995] 100.0%
628| R AR X 27,396 3.0 628 |4 [H 12 BETH 13,790  94.1% 1E=IE  |[EXh 17,169 100.0%
629t iEE K75 ERET 290 3.1 629 FER WET 34,838  94.0% 1=)E [ X#h 17,137]  100.0%
630[FrinE a8 2,446 3.1 630 RIHE AFH 898 93.9% 1#ENE  [FBEH 7,233 100.0%
631|SEE J\BERT 1,228 3.1 630|518 ST 483]  93.9% 1E=NE |[wEadh 10,591] 100.0%
632|F IR [N DOSEFHT 1,074 3.1 632 EEE Bk 2207] 93.8% 1#HENE  |EEh 9,318] 100.0%
633|122 ERET 2,791 3.1 633[Z &1 LT 186]  93.8% 1E=IE  |[FEEMAT 3,188 100.0%
634 EER BERXH 1,651 3.1 634 SR8 HHET 3,600] 93.7% =S |#E#Eh 7,072] 100.0%
635[AEAR IR HXFYH 1,345 3.1 635|E5[H 2 ERT 64,227]  93.7% 1= [ZELET 2,602] 100.0%
636 = 212 BEM 990 3.1 636|EEE Edlha 2578]  93.7% HEEEINEINEINES 3,898] 100.0%
[EHEN B 5,186 3.1 637/ SR8 E@h 2,697  93.6% 1#ENE | KRR 2,329 100.0%
638| KBRFF AFHT 1,030 3.1 638[#F A2 Eh 6,761  93.5% E=IE =8 1,826] 100.0%
639[ 1Lz 2 78) 1| BT 327 3.1 639[3F:BE Eah 3,345]  93.5% HEEEIN-IEE ] 681] 100.0%
640 k8 Z (LA 753 3.1 640| ZIFE = RRET 2,697 93.4% HEEEIN- P 21 1,431]  100.0%
641 EHZE YN 2,031 3.1 641[=FBE X 20,458]  93.4% HEEEINE AL 641] 100.0%
642|EHE FALET 1,142 3.1 642[dtiEE =%m 546]  93.3% #ENE  [ILJeRT 591] 100.0%
643 EEE hndET 2972 3.1 642Uz 2 EIL:) 392] 93.3% 1t=)IE  |BARET 1,617] 100.0%
644|fEEIE L ARET 825 3.1 644[dtiEE st FR BT 363]  93.2% =S |FE1EET 475 100.0%
645/t iEE ZZHT 627 3.1 6451t & 480]  93.1% [ EINT- T 314[ 100.0%
646|FE RS2 |$RTHT 491 3.1 6451t & 401]  93.1% 1#MENE B EET 1,371]  100.0%
647/ FER INFHH 15,737 3.1 645 FERKF 779]  93.1% =N [Z)IET 2,897] 100.0%
648| RIFE AT 1,789 3.1 648 B8 35869 92.9% 1E=INE  [BIH 205 100.0%
649t iEE KIGHT 209 3.1 649 5F 8 548]  92.9% e Hing 46,642 100.0%
650/t iEiE [ AT T 597 3.1 650[FE 2 AL B 8952 92.8% 1|FRE Frimm 59,512] 100.0%
651|fESE EeR 18,655 3.1 651 | XRRAF EPNIAi 34,001] 92.8% 13RS ERh 20,254] 100.0%
652 RIGIE EX a0 541 3.1 652[ 1Lz 18 FET 2597]  92.8% 1|FRE =&t 7,106] 100.0%
653|152 TEmET 1,919 3.1 653[EIRSE [[B/KET 615]  92.7% 1|FRE L ElGni 5,607 100.0%
654 ILZIE /1| = $BET 1,052 3.1 654| RIS K& 28,349  92.7% e FEAT 7,153]  100.0%
655 ﬁ“zktr BaI &% i 1,788 3.1 655/ K E IR Pl 3477  92.6% e NFARH 2,680 100.0%
656 I 2 12 BEih 3,782 3.1 656 K Bx FF AFHT 1,030]  92.5% e hnBEd 1,687] 100.0%
657 5F 8 —Fh 1,757 3.1 657 HBE pNE 27247 92.4% 1|FRE +HETH 3,638] 100.0%
658[ILTIZIE of | BT 772 3.1 658 RS EEH 183 92.3% 1#Fae G 2,882] 100.0%
659|ZRIE ST 1,125 3.1 658[ILIZIE &)1 242]  92.3% 1|FRE HEH 3,624 100.0%
660|AJIIE FIVETT 1,301 3.1 658 B IR AR == 110]  92.3% 1|FRE eth 5816 100.0%
661|FLAIE BEm 2,203 3.1 658[AEARIE JE A0} 1,107]  92.3% 1|FRE RBIIH 2,773[ 100.0%
662188 EHE 17,443 3.2 662[dt:EE I\E| 1,087]  92.2% e e 2,127] 100.0%
663|FL A IS R 2,559 3.2 [AME]! Jettrn 3390 92.2% 1|FRE T 13,784] 100.0%
664 B S [EELN 811 3.2 664| X BRAT WET 8,128  92.2% e BA[ % Er v 3,010[ 100.0%
665t iEiE FRAET 237 3.2 665 K BR FF ERHET 2643  92.2% e kg™ 3313 100.0%
666 EEE Ehbhlm 3,129 3.2 6662 LI AZH 1,612 92.1% 1|FRE A ah 2,446 100.0%
667|422 /NTET 430 3.2 667 |F#LLIE 2 { BT 701]  92.1% e AT 4,418 100.0%
668 FEE EEal 664 3.2 668| =212 EI[BT 813[ 91.8% e [kt 1,988] 100.0%
669|ZiE1E e 8,329 3.2 669[dt:EE E[AE N 3769 91.8% e EOEERT 1,265] 100.0%
670[AEARIE FIKET 623 3.2 670|F#LLIE HENT 2,694 91.8% e FRER 648 100.0%
671[=F 8 EET 2,895 3.2 671[12MH 8 i 2791]  91.8% 1|FRE M By 727 100.0%
672 =R & RIEET 405 3.2 AL AEH 777 91.7% e B 2 BT 513] 100.0%
673 EFHE NN 1,742 3.2 672|252 FA AN ZHT 1,068]  91.7% e H IS HT 254 100.0%
674[JtiEE [LERT 419 3.2 674| AR 28X 11,118]  91.5% 1|FRE R BT 464  100.0%
675 %ME EE 54 2,961 3.2 675|=HE =RE 42,901  91.5% e SRR AT 521] 100.0%
676|252 SEE 443 3.2 676(HJIIE BN 635  91.4% e PUBEES 344] 100.0%
677U 2 EEELN 408 3.2 677[dt:EE XN 162]  91.3% 1|FRE B JII# 343 100.0%
678 1LLIE Fidllinl 2,776 3.2 677 g%nkr REF 419]  91.3% 1|FHBE 24] 100.0%
679|5F 8 R Ril = FH 1,113 3.2 67952 m RER [EEm 3534]  91.2% T 23,395 100.0%
680[EEE HET 2,800 3.2 680[EEREER |EEh 11,802]  91.1% T 30,378]  100.0%
681|=F12 FREA 772 3.2 681[ILOE FFm 2,792]  91.0% T 11,539] 100.0%
682[ILIZE R EE 601 3.2 682[ L& S]] 845  90.9% [T 2,857] 100.0%
683|ZIEIE FHEH 4,676 3.2 682[dt:EE BER 211]  90.9% [N 2,916 100.0%
684 EFHE SR AT 724 3.2 682 EEIR ¥4 )IET 2,887]  90.9% [N 2519 100.0%
685| SR EBAT 538 H R AT 666 3.2 682 EEE AhbLiMAmEE 447]  90.9% T 3,137 100.0%
686 SEY 2 = SHET 489 3.2 682[Z %12 HENEIETERAE 150]  90.9% HEE 4,020 100.0%
687| B1RE BiEE 16,237 3.2 687[ L2 A% HET 437 90.6% T 1,952]  100.0%
688 TEE 2 LLET 481 3.3 6881 E 2 EX10) 793  90.5% [ 3,371] 100.0%
689[ILIZIIE Jettrn 3,390 3.3 689 =RE =R 23974]  90.3% T 7,404] 100.0%
690BE R 1A 595 3.3 690[Z IR |EERA™ 9,318]  90.2% T 334] 100.0%
691[ILZIE B i 2,179 3.3 691 | AR HZEH 167]  90.0% T 1,302] 100.0%
692 E A EF1 1,554 3.3 691 EEHE HEAH 340 90.0% T 1,929]  100.0%
6RERSE [Efsm 2,585 3.3 693 EEE ZmEh 6,357  89.8% T 1,612] 100.0%
694 FEE [EGq 1,969 3.3 694 B3 2 FEQOET 3519]  89.8% [ 637] 100.0%
695 EE RIBHET 450 33 695| K2 Bfh 2,596]  89.8% eI tEh 3,490] 100.0%
696| HJIE AIE 23,398 3.3 696|FkAE BEm 2,203 89.6% [, BmETh 1,312]  100.0%
697/t E AL AL 331 3.3 697/t B S PR AT 1,345]  89.6% [E=IIT BN 635] 100.0%
698| BIEIE I\ ETH 2,117 3.3 698|&JIIE B 34,779 89.6% [E=IIT PIVETH 1,301]  100.0%
699| S ERIE JL S ET 1,182 3.3 [LEINET EVNCYH 16,015]  89.6% [E=IIT MESTHT 2,814] 100.0%
700| i 2212 I BRI 44,120 3.3 7100 ZRE il 278]  89.5% [E=IIT =15 9,650] 100.0%
101 EHE BAE 309 3.3 701 EER iR R AT 998]  89.0% [E=IIT BEEM 4,535 100.0%
702| 1@ 12 F X0 BT 1,286 3.3 702|FEE 182 SeHT 1,592]  89.0% HESTIT %2t 4,806 100.0%
703|fBFH B PN il 2,254 3.3 703D Ehah 9,276]  89.0% HESTIT AL BT 742] 100.0%
704| RIFE ElFm 2216 3.3 704|F N2 )1 [BT 1,704]  88.9% HESTIT FEIRET 3282 100.0%
7105| =R 8 FiEH 1,816 33 704[BEARE KINBTRU R RS 102]  88.9% eI PR ET 2,197] 100.0%
706|B¥E 2 BAFOAL 541 3.3 706| F AR wBEmH 3414]  88.8% eSS, EEHKET 823] 100.0%
707|BE X2 FEHHAT 449 3.3 707 EIGE RS 19,833]  88.8% [E=IIT i BE B HT 1,358 100.0%
708[=F R TARR T 12,567 33 708[IR BB ;tt BT 2,018  88.6% [, 7UKET 412[100.0%
709|BE2 il 2,460 3.3 709[Jt i EREEET 1,364]  88.6% 1aNE BEZHHT 822 100.0%
T10[&JIE =2 4513 3.3 T10| &R AT W5 5473  88.5% 1fEHE EHE 17,443 100.0%
T [RAE /NRET 255 3.3 THEER )[BT 821] 88.5% 1|@BHE wHFm 20,342] 100.0%
12| K8 R ELH 4,797 3.3 T12|EE R MEHT 7519]  88.4% 1|1EHE E &t 5313] 100.0%
T3 EHE [ E BT 826 33 TR[ARE IRBRHET 1,060]  88.4% 1[fEHE INETH 2,265 100.0%
T1A|FIRILE  [AE~ET 1,002 3.3 HEEFR AEHT 470]  88.2% 1|@BHE PNl 2,254] 100.0%
15| =R Fe 1,772 3.3 T14[E LR EEELN 637  88.2% 1|1EHE Bl 1,605] 100.0%
716|dt 8 /NEKET 316 3.3 716|342 FET 4649  88.2% 1|1EHE &I 6,257] 100.0%
TIHERE =R 2,712 33 T17[E 2 ElGg 3958  88.2% 1EH#HE Hhom 1,940[  100.0%
718[B3 A2 Pt by 233 33 718[ILFIE ELEHEM 3546 88.1% 1EH#HE #RTH 6,572 100.0%
TIRHE P it 38,352 33 o EHE EiRETH 7,186]  88.1% 1EH#HE WA 7,688] 100.0%
720[BER IR A £ BT 836 3.3 720 FEE BEHH 13,967] 87.9% 1|1EHE il 1,466 100.0%
7214t imE TR 433 3.3 21 FEE HEEAT 2211]  87.9% 1BHE sth FH AT 121]  100.0%
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B | ERE AR HEEL REARH A &8 | |JELL|HEFESL HEEA REERER % | Nz | ERaE AR 2 HEES REERE %
12|EFE IJ.IEEET 921 3.3 21| FER WgHh 2,208]  87.9% 1|1EHE ERRATET 770] 100.0%
7123|F)IE R 520 3.4 123 EFE BRKHET 551]  87.9% 1|1EHE HBRITRT 1,644]  100.0%
1245 HE ARAET 386 3.4 T24[BHE Mz 7,268]  87.9% 1|1EHE EFi1 606] 100.0%
7253 iR 2 kg™ 3,313 3.4 725|E I WEH 1,312]  87.8% 1|1EHE BT 788] 100.0%
726|512 TiEm 1,657 3.4 726|118 H 2 EEHT 606]  87.5% 1|1EHE HELET 713]  100.0%
727lLO [T =]} 25,676 3.4 726[ILIFIE SR 487]  87.5% 1|@BHE EPRET 1,201] 100.0%
728|212 Ik B2 71 30,651 3.4 728[ILIFIE hRH 2436] 87.4% AMET] A RFh 12,849 100.0%
729| R w/Em 3414 3.4 729 =F§Lr o 7,546  87.3% AMET] E+rEHEMAT 3,546 100.0%
730[RIFE EGH 3,203 34 T30[BER EiRm 9425 86.9% [NTET! AT 2,150] 100.0%
731| SRR STET 1,545 34 731[E3 M2 EtEm 10,588 86.9% [NTET! IET 2,516] 100.0%
PRAEE T = 5,334 34 FAEER S B O Hi BT 1,492]  86.8% [NTET! XA™ 1,268 100.0%
733[dbifmE iR &R i ET 469 3.4 733|FEHIE #BFh 5876 86.7% AMET] T 2,143[ 100.0%
734|FR R +HETH 3,638 3.4 734[dtimE ES ¥ 123]  86.7% AMET] Bm7INTARH 5917 100.0%
735|dbifEE EX351 277 3.4 R MTET] FEAT AT 324]  86.7% [NTET! Jettrn 3,390 100.0%
736[I% 212 Tam 2,281 3.4 736 ;ﬁm%ﬂ JaiIh 4804  86.5% AMET] EEH 5,996] 100.0%
737 LT R HiBH 3,941 34 737|dtimE AR 4,754]  86.4% [ TED! FHERT 1,346 100.0%
738|B52 JI{RET 728 3.4 738[ SN2 mEm 3352] 86.3% AMET] B i 2,179] 100.0%
739|dbifmE — ol 451 3.4 739|dbifEE FISHAT 380[  86.2% AMET] R 2,436 100.0%
740/ FEER —=H 974 34 739 B3 2 S ET 489]  86.2% AMET] h /1| = $BET 1,052] 100.0%
741 [SHE LNOET 1,288 34 741 IO & WO 14,646]  86.2% [NTET! ENER 56 100.0%
142|RB)IE 73K ET 412 3.4 142|fEE R BR3¢ T 2471  86.1% AMET] SR 487 100.0%
743|F0FILE  [IE)IET 552 3.4 743| R Be 8,099  86.0% AMET] FAERHET 426] 100.0%
144 RIGE B 3,243 3.4 T44[FXEE BFAEH 5155  85.8% AMET] =BT 1,037] 100.0%
745|E8RE IR HMBHT 338 34 745|1L3BE & L ET 126] 85.7% AMET] BRFOET 1,869] 100.0%
T46|EREE  [HMIGH 1,401 34 745] b ZYLHET 484]  85.7% AMET] BER 90] 100.0%
747|= 11 Stk 7,404 34 7454638 T iRET 646]  85.7% AMET] FEATAT 324 100.0%
748|=RIE BB &4 356 34 745\ 8 [ILdEET 591 85.7% AMET] B 829 100.0%
149|FEHE HLFHE 984 34 TYERE Fhe 1,772]  85.4% AMET] mqu,am 366] 100.0%
750/ 5 F 8 AFH 794 34 750|F08ILE  |HHET 1,935] 85.3% [NTET! 8R4 152] 100.0%
751 | SRER AT FHFH 440 3.4 IHIEFR RHABKT 8,089 85.3% AMET] FHER L 24] 100.0%
752| K52 E3#Fmh 2,631 3.4 752 iRIR Xl 4,356 85.3% 11EHE RHR 49,604 100.0%
753|ERRE IR N RITIE T 2,137 3.4 753[=F R BAFOHET 1,816]  85.2% 11EHE E%h 28,640] 100.0%
754|dbifmE ERRT 6,107 3.4 754 EHE ARAET 386]  85.2% 1| EHFE LHET 12,130] 100.0%
755 =B 8 A 4,186 34 754|188 A RHET 247]  85.2% 1EHE [ & 3,638] 100.0%
756 |dbifEE FINRET 462 3.4 756 B% [ 2 EpmE 48,864 85.2% 1|EHE fRET 8,157] 100.0%
757|E&HE REFET 1,321 3.4 757|dbifmE HEai1 369]  85.0% 1| EHFE FiEind 3,704] 100.0%
758| =502 0N BT 287 3.5 758| R K IR f2@E™ 3222  84.9% 1| EHFE BT 3,944 100.0%
759 1B 2 J1 U5 ET 1,157 35 759 BB 12 AR 3022 84.9% 1EHE INEETH 3,186] 100.0%
760[#F K2 MAES LT 1,711 35 760 FER [mEET 2434 84.8% 1EHE FIBH 5,558] 100.0%
761|#EA R NI 5,380 3.5 761]dtiEE FEH 465]  84.6% 1|EHE B4R 2,655 100.0%
762| EER AT Ay 827 35 761 [dLiEE B ETET 267]  84.6% 1| EHFE it 3,394 100.0%
763|dbifEE = IET 695 35 761 [db3EE JLEHT 95]  84.6% 1|EHFE XHTH 1,742] 100.0%
764 KB FF KBz 177,864 3.5 761[dLEE RZEHT 614]  84.6% 1EHE G 1,406 100.0%
765| B R I2 A F BT 1,135 3.5 761[ILFZ IR il 1,542]  84.6% 1|EHFE *Hh 4,448 100.0%
766 |t 38 ZYLET 484 3.5 766|[L &8 FE FRET 4,148]  84.5% 1|EHE ERT 4,986 100.0%
767|852 FEECET 935 3.5 767|dbifEE E{= AT 306]  84.2% 1| EHFE EAH 7,689 100.0%
768/ 5F 2 FE AL 269 35 167 ZERE +Z)H 155]  84.2% 1|EHFE Fehh 4,472] 100.0%
769l 218 RARET 636 3.5 769db3EE t /ERT 287]  84.0% 1EHE EXELn 2,386 100.0%
770 EJHLr SEHE 1,168 35 770[db3fmE EANEY 4,503]  83.9% 11EHE ZEHH 7,431 100.0%
MERSE [XKH 91 3.5 R EIM=T) SEART 753]  83.8% 1|EHE /N 160] 100.0%
772 ffa.%tr /NEPET 705 3.5 772|dt i BLET 285]  83.3% 1| EHFE JIEH 252 100.0%
773|B rz. RER |hiETE 615 35 772|REH INEEH 266] 83.3% 1|EHFE A 238 100.0%
TAEREE [SOFE 1,524 3.5 T2[BER FriMh 4,420]  83.3% 1|EHE EAMEAH 35] 100.0%
15| EFE J\BEEH 1,484 3.5 772|218 BRI E 25] 83.3% 1| EHE ER BN 61] 100.0%
REET JIGES 538 3.5 TT2[EEARR HEH 332] 83.3% 1|EHE 1 AFEET 737] 100.0%
N =RE 42,901 3.5 777 | XM AF 2 31,458  83.2% 1|EHE B2 3 RET 1,363] 100.0%
778|BHE 2Ly 1,525 3.6 T78[REEAR R Fim 3,137]  83.0% 1EHE X B AT 1,292]  100.0%
779 =50 AT 1,218 3.6 EEEET JI{RET 728]  82.7% 1EHE SLELET 452 100.0%
780| KRR AT ABRAF 122,548 3.6 7180 BFE EFH 794]  82.6% 1| EHFE BARH 340 100.0%
781[ LR [EIEY 39,126 3.6 780[BER &I ET 1,817]  82.6% 1EHE RFET 229] 100.0%
782|212 L 3,118 3.6 780[ SN2 BEMH 1,355]  82.6% 1|EHE T iREAET 1,376] 100.0%
783|FEHIE [NESH 1,626 3.6 183 EHE AILH 215]  82.4% 1|EHFE ELRE 1,105] 100.0%
784| FER AR 12,826 3.6 783|F3RE IR EFRZE 509]  82.4% 1|EHE REFET 1,321] 100.0%
785|518 KEH 3,091 3.6 783 iRIR EEien 5107 82.4% 1| EHFE FERET 2,084] 100.0%
786 | KRR AT BAah 4,362 3.6 786/ I% B 12 J\E AT 693]  82.2% 11EHE B S BT 639] 100.0%
187|ES R ikl 3774 3.6 187 =8R FR{FEAET 461]  82.1% 1|EHE EE R 1,484] 100.0%
788[{E B R bEEF T 2,011 3.6 788 FNALE  [ERHAT 1,320]  82.0% 1EHE EES 410] 100.0%
789|FIFLE  [HEHET 728 3.6 7189 EER mhhlm 3,129] 81.9% 1|EHE =HEA 821 100.0%
790|412 IR NN 3,707 3.6 790[dt i SRS 4 BT 164]  81.8% 11EHE 3 J1[BT 1,015] 100.0%
791 IFRLE  [eymEs/EsEREa 166 3.6 790[dLEE AL CET 167]  81.8% EBFE =R 1,273]  100.0%
FANET! IETC) 17,727 3.6 790[ KBR FF Exd 914]  81.8% 1|EHE ] e AT 283 100.0%
793 .—,%ukr KEH 261 3.6 790[REARIR % B ARHT 748]  81.8% 1|EHFE (DRSS 561] 100.0%
794|dbifmE Rt 1,287 3.6 7194[SHE 7975 +Br 996]  81.7% 1|EHE TAH 26] 100.0%
195 EHE WL/ BT 694 3.6 795 RJIIE JIE: 742]  81.6% 1EHE T IEH 335 100.0%
796 | 1@ FE IR Pl 269 3.6 796[ LT IR EBFE 9,089 81.4% 1|EHE FEAH 47 100.0%
797|3R R AT 5,607 3.6 197 EER 1% FHET 1,002]  81.4% 1|EHE REEH 31] 100.0%
798ILHZ IR =JIET 599 3.7 798| B2 It 8248 81.3% 1EHE BAH 555 100.0%
799|dbifEE Il FFEET 369 3.7 799|218 ZERET 1,157]  81.3% 1|EHE 2HH 612] 100.0%
800|E4 [ 12 THH 1,237 3.7 800[IF B2 B 3782] 80.9% 1|EHE AEH 60] 100.0%
801[JtimE J\EHT 1,087 3.7 801[;h#EIE pEEE 46,484]  80.8% 1|EHE EAREH 309 100.0%
802 EHE FRIEHL 99 3.7 802|E4[H 18 R Er 382] 80.8% 1|EHE REH 199] 100.0%
803| KRR FF SFOm 8,872 3.7 803[JtimE FOT=HET 1,588  80.5% 1EHE EEN 33[  100.0%
804 E IR ZBHT 574 3.7 803 FEE FEd 4,731]  80.5% 1|EHE REH 675 100.0%
805|AJIIE BHET 1,312 3.7 805 REFE FEERET 2,084] 80.5% 1|EHE FRAEH 99] 100.0%
8061t & E{Z AT 306 3.7 806 REFE EZ i 4,448  80.2% 1|EHE H R 99] 100.0%
807[dt & + = REHT 830 3.7 807[ILfs I8 =JIET 599  80.0% 1|EHE IS 480[ 100.0%
808[dL:BEE =%m 546 3.7 807 EHE EARET 267]  80.0% 1|EHE EAH 218 100.0%
809 REFIE FAJIRT 1,015 3.7 809[;ZEE BEH 7,282 79.9% 1EHE HILH 215 100.0%
810[FER 182 ST 1,592 3.7 810[dt:EE EET 499]  79.5% 1|EHE St FH Y 633] 100.0%
[N Rl 5,197 3.7 s11|BHME ER A ET 239]  79.5% 1EHFE ENIIES| 725 100.0%
812|F LIS EHh 4,111 3.7 812| KR AT ABR¥EILTH 4,801]  79.5% 1|EHE HEH 627 100.0%
S13[EER ZATHT 1,483 3.7 S13[EEE TR EET 868]  79.4% 1EHE 175 100.0%
814|=HIE Rl 1,398 3.7 S14|EESR |&|Kh 859]  79.2% 1|EHE 1,111]  100.0%
815[HFRE P ARHT 1,834 3.7 815| =58 EEM 2,895  79.2% 1ERE 909] 100.0%
816|212 T ERET 349 3.7 816[TRARKT kT 95,147 79.1% 1|EHE 694] 100.0%
817[IF B8 ERMEHEMEEERAS 286 3.7 S17IF B IR KiETH 12,761]  78.9% 1 EHFE 336 100.0%
818|EHRE EEal 301 3.7 818[JtimE &) 3377 78.9% 1| EHE i 216 100.0%
819 EER REH 2,863 3.7 819[dtimE SHET 664]  78.7% 1| EHE ST 493  100.0%
820|E4 [ 12 HIAZE 584 3.7 820[ILZIE i) 17,727]  78.7% 1| EHE INITFE 142] 100.0%
821 IR B2 [ 8,169 3.7 821 [dt:EE HEET 232]  78.6% 1| EHE SR AT 724] 100.0%
822182 H &8 AT 6,572 3.7 821|FEE iat 825]  78.6% 1| EHE FH 70 100.0%
823|F B2 PUERESH 344 3.7 821| B S 5959  78.6% 1| EHE L+ EAH R SRS 224] 100.0%
824[dtimE ELILN 894 3.7 82412 B8 AT 935] 78.3% 1EHE REETER /PR S 122]  100.0%
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HEEANIEL PRICHITHERICTIREDEMIKR(1)
Q%Sz’éﬁﬁ:ul: A—R1BLEYDR Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R23IBRE Q4> A—Fyk(30MbpsLLE) R23.1IR%E
N | ERE AR HEEL REERH] A& | [IBE|BEFEZ HREES REERFR % NG | ZRiERTIE & REEZ REERR %
825(IF B 18 .—;IJ.ITﬁ 7,022 3.7 825/ SR8 HE 14,454]  78.3% 1|EHFE R AL MRS 59] 100.0%
826/ EEIR FHE#Z LT 3,019 3.7 826[ILOE JElL PN 646]  78.3% 1| EBE WATLRHRRHRERAS 450 100.0%
827|FEILIE AT 870 38 827 AFE ZAH 2012  78.2% 1EHE BRI REE PR S 71]_100.0%
828[#F A2 FRE) 1| BT 923 38 828| LR R 522  78.1% 1| EHE NBEHBRR B AR RS 139 100.0%
829|=iRIE SAlAH 33816 3.8 828| = IFE B 1,395]  78.1% [T Y 44,120 100.0%
830|[LBE BT 9,345 3.8 830[IF B 18 EF At 1,435]  78.1% 1 B8 I &1 30,651] 100.0%
831|[LBE =Rt 3,869 3.8 831[dL:EE i J11L00 461  77.8% [AGET] KiETH 12,761 100.0%
832[f L8 K& 3,568 38 83 [MENE [WZ)IE 131,715]  77.8% AGET] B 7,022] 100.0%
833[iHE AR Pt 2,276 3.8 8NEREE [HERAT 585  77.8% AGET] ZARM 8,117] 100.0%
834|BE K2 AEh 2,539 3.8 834[RERE FEM 3985] 77.6% AGET] 3E)IH 6,191] 100.0%
835(IF B 18 =BT 1,435 3.8 835 FEE EEX 3379 77.5% AGET] =Eh 1,435] 100.0%
836 E IR = THT 1,024 3.8 836| = IAIE &R 22 BT 755  77.3% [T HR™ 2,605 100.0%
837[{EBE KT 446 38 837[dt:EE B =1 884]  77.0% 1 B8 HEH 5596] 100.0%
838fIFLIE [MEEET 3216 3.8 838 FJIIE Rl 520  76.9% AGET] BEih 3,782 100.0%
839|F4 12 SAEET 489 3.8 839[HIIIE BEZHT 822] 76.8% AGET] ERmBETH 5,156 100.0%
840 EFH 8 RIBET 1,111 3.8 840 EIFIE ERH 3377]  76.7% [T Tk 4,333]  100.0%
841[ILFIE = AT O AT 1,555 3.8 841|Z5E BHE 127,043  76.7% [AGET] EBET 12,153 100.0%
842 ffB#Lr HBATHT 1,644 3.8 842[dtiEiE B4 249  76.5% [AGET] AR 8,238 100.0%
843[FAHE BT 2,046 3.8 84212 B 8 HIZ AT 209]  76.5% AGET] R 1,872] 100.0%
844 F4[H 18 EpmE 2 67,541 3.8 844| KR AT =i 26,535]  76.4% [T Hnih 5144 100.0%
845|212 SEERR 1,360 3.8 845 %uaxm;% FHTE BT 1,002]  76.4% AGET] FReBET 1,630 100.0%
A FHZET 362 3.8 846|FEIRBIE [KIAT 506]  76.3% [AGET] AEH 3,022 100.0%
847|212 RERET 385 3.8 847ILZIE HRFh 12,849]  76.3% [AGET] EEH 3,118 100.0%
848 SRR XHT 2413 3.8 848 ffa.%Lr EREAED] 197]  76.2% AGET] Tam 2,281 100.0%
849|[LBE ERT 2,310 3.8 849 =i IR £ KR 1,398]  76.1% AGET] imiEh 2,436 100.0%
850 = IA I8 HIFE 24,434 3.8 850| B 512 Ba 22 L BT 2,790]  75.7% [T It 7 T 2,056 100.0%
851 |FAIE MEE 22,242 3.8 851 HRAR RIBX 32,119]  75.3% [T & HART 1,701] 100.0%
852 HE R ﬂ’%’d’ﬁ 618 3.8 852|FAE PR T 921]  75.0% [AGET] X1 2,194] 100.0%
853[IR B I8 R AT PR S 177 3.8 FEAMEA SRS BT 362]  75.0% AGET] AT 2,301 100.0%
854|IR R I8 #/\ET 1,193 3.8 852 ZRIE A 37]  75.0% AGET] B8 /7[R T 446] 100.0%
855 S ERIE BEm 3,667 3.9 852[fILIE HET 2,776]  75.0% 1 B8 HEHT 1,496 100.0%
856 HEE AiEh 4,991 3.9 852| = &1 L\DHET 1,288]  75.0% [AGET] .2 NET 889] 100.0%
857 B IR A R AT 518 3.9 852[AEARIE EXEH 1,739]  75.0% [AGET] = J\BT 1,193] 100.0%
858 | TRARKT CEEL 1,391 3.9 858 1= 12 &R 123,026]  74.9% AGET] 1535 I BT 1,379] 100.0%
859 | B AR EYITES 20,847 3.9 859|=HE ALFRET 780  74.6% AGET] sth FH AT 2,018 100.0%
860/[JtiEiE ZEM 1,883 3.9 860 FIFMILIE  [F:RHT 868  74.5% AGET] Bl &l 1,598] 100.0%
861 AF 8 EFE 27,651 3.9 861[FAHE [TEAiH 1,615]  74.5% [AGET] RATET 636 100.0%
[AEET EEE 42,456 3.9 862| FER A+HEET 866]  74.4% AGET] = nET 336] 100.0%
863|122 — A 3,794 3.9 AL HREFET 859  74.4% AGET] JIDET 769] 100.0%
864|212 RIEH 537 3.9 862[AEARIE FR { BT 836  74.4% AGET] +RET 203 100.0%
865|382 #erh 5816 3.9 865 = HIE S4B 3816  74.4% 1 B8 J\E2HET 693] 100.0%
866| RFHIE fRET 8,157 3.9 866[ILTIZE o LI BT 772]  74.3% AGET] =L 465 100.0%
867 | KBRFF ERH 2,643 3.9 867|EEER [MmsDoFHh 2280]  74.0% AGET] EX=NIES 123] 100.0%
868 | H IR AR ZHKX 13,954 3.9 868 EEE FHE 4,822  74.0% AGET] I ET 1,192] 100.0%
869[JtiEE EREEET 1,364 3.9 869|[LEBE A RET 497]  74.0% AGET] =IES 116] 100.0%
870| SR8 HHET 3,600 3.9 870|FnFR LR | EE)I BT 177]  73.9% AGET] ERNFRELRETES 201]  100.0%
8712 R EXiii 797 3.9 871[BEE BET 10,753]  73.6% 1 B8 KEHR/\BR/N\ETHE 318] 100.0%
872|&IIIE EIE 20,232 3.9 872[hHEIE AiEh 4991]  73.5% AGET] B IR A AT AR AR A 177]_100.0%
873[=ILIE =Y 23,395 3.9 SWBERESR |fEBH 975]  73.4% 1 B8 ERMEHEMERERAS 286] 100.0%
874 AR N 154,009 3.9 874|552 FUERET 85] 73.3% 1|ERRE IR BT 64,227] 100.0%
875/t H 2 ANVETT 2,265 3.9 875[dtiEiE KB 709]  73.2% 1|ERRE IR BiEH 13,616 100.0%
876|EEEE R |EXEm 3,733 3.9 876 B FEILET 2,196]  72.8% 1|ERRE IR it 1,464] 100.0%
877[RERIE FEEAL 611 3.9 877[dtimE Z ERET 228  72.7% 1|38 2 =B 8,682 100.0%
878[1= 2 HOFEH 2,657 3.9 877|dLiBE HEFET 301]  72.7% 1|3EE BER 4,028] 100.0%
879 B R 2 JBRHT 702 3.9 8771 EER AFHT 3251  72.7% 1|ERRE IR EME™ 7,556] 100.0%
880[IF 218 i) 2,436 3.9 880| B8 INNENH 2427]  72.5% 1|ERRE IR =2tm 20,644] 100.0%
881 HHE HBLSHHE 2,117 3.9 881[TRARKF KZ)lh 7,826]  72.5% 1|ERRE IR B 10,795 100.0%
882[HEE BETT 3,421 4.0 882[ EEE RERT 2,993 72.4% 1|5 EE B 11,641] 100.0%
883 KRR FF EP N 34,001 4.0 883 EHE ERM 4986 72.3% 1|ERRE IR HERIS T 7,543 100.0%
834|EB 2 A HT 1,128 4.0 884[1a 18 ERAh 11,031]  72.0% 1|ERRE IR K"HT 7,928 100.0%
885|[E L2 TR 437 4.0 885[HF A2 R 10,295 72.0% 1|5 EE ST 4,649] 100.0%
886[ A2 &N 4,688 4.0 886| B RIE SHRE 12,433 72.0% 1|3EE BEm 1,731] 100.0%
887 EIGE & = BT 1,387 4.0 887/ B HVE = AR 489  72.0% 1|ERRE IR IR T 2,137] 100.0%
8sg[ILOE HIFHH 2,189 4.0 888X AR BERX 12,386 72.0% 1|3EE ElGa 3,958] 100.0%
889[1F K2 AEERT 9,332 4.0 889[ L& it 1,190 71.7% 1|EEE FEQET 3519 100.0%
890[EESR |fFkmh 1,662 4.0 839 ER #J1[BT 950[  71.7% 1|ERRE IR RIFZHE 584] 100.0%
891[FinE Rt 2,882 4.0 891[HJIIE e 4,688  71.6% 1|ERRE IR A EET 489] 100.0%
892k E R kB 17,882 4.0 8928 Al 143]  71.4% 1|ERRE IR EFREE 509] 100.0%
893| RIFE R5HT 3,453 4.0 892[JtiEE [EEHT 357]  71.4% 1|ERRE IR Fa{FZEr 382 100.0%
894/ B IR EEHIIH 2578 4.0 89212 B8 [LEFET 237]  71.4% 1|ERRE IR B IKET 2,598 100.0%
895|F4H 18 Bt 20,644 4.0 892 S &1 B R 66]  71.4% 1|38 2 RRET 3,970[ 100.0%
896 ZRIE FIIES 68 4.0 896| B 512 21187 1,525]  71.2% 1|ERRE IR /NLET 1,361] 100.0%
89748 I 1,093 4.0 897|REFE KB 1,742 71.2% 1|EEE = HHEr 2,439] 100.0%
898|EEEE ISET 589 4.0 898D Fekidnd 15,075  71.1% 1|ERRE IR JII4R A BT 292 100.0%
899|HF AR A 7,419 4.0 899 B8 wem 18,094]  70.7% 1|ERRE IR AT 1,355] 100.0%
900[RERIE EZE AR 313 4.0 900/t 8 EERET 2,065]  70.6% 1|ERRE IR e B3P RAs 233 100.0%
901 [JtimE T iRET 366 4.0 901 (B HE S0 1,298]  70.3% 1|ERRE IR i CA ) 374] 100.0%
902[{EBE KETHT 415 4.0 902[Z I E EIERET 283 70.0% 1|ZmE BEIE 127,043] 100.0%
903[Z 58 BEMH 1,355 4.0 903|FE L2 Zlidr 8,080]  69.6% 1252 ZEEh 175,091] 100.0%
904 FHE BERE 27,002 4.0 904 H AR E 4,423]  69.6% 1252 2h 32,173] 100.0%
G =& 2,697 4.0 904 #EIE BTN 362]  69.6% 1252 e W T 33,171] 100.0%
906 lLOE FEBH 11,798 4.0 906| =2 EAM 5972  69.3% 1ZmE —&=m 32,086 100.0%
07| EEE MAT 2,943 4.0 07IFEE SANET 1,701 69.2% 1|ZmE R 10,295] 100.0%
908[fE[ 2 g 1,748 4.1 907 lkAE FOAHEL 615  69.2% 1|ZmE EX:hid 9,795 100.0%
909 EHE sth FH T 633 4.1 I9[ERSR [HEFENAET 659]  69.1% 1ZmE HEHHH 25,874] 100.0%
910[Z 58 M5+ 2,235 4.1 910[HJIIE Bl 9,650]  68.8% 1252 ENGE 15,320] 100.0%
I [HFEARE EARHT 691 4.1 911[JLimE = BEET 416]  68.8% 1|BHE EXTid 4,694] 100.0%
912 FHE $7 30 Hh BT 818 4.1 o11[JtiBE FRAUET 237]  68.8% 1252 E@h 6,346 100.0%
913|BHE BFETH 4,748 4.1 oti[fngRLE [ EEMET 1,289  68.8% 1|ZmE WA 12,688] 100.0%
914[dtiEE Eait 1,190 4.1 914|E3ME 2 Bt 1,464]  68.7% 1252 EX: ki 36,153] 100.0%
915 AR AHX 40,285 4.1 915[db:EE Bl EET 1,379]  68.4% 1252 RHh 17,134]  100.0%
916|FELLIE HREM 3,264 4.1 915/ REFE RS 309]  68.4% 1|ZmE FwEM 15,089] 100.0%
917[FHE BFAREH 5,155 4.1 917[Fing S 2,127]  68.4% 1252 SEERT 6,157] 100.0%
918X IR EEXET 2,682 4.1 98| KR EX N 2316]  68.2% 1252 Xl 6,014] 100.0%
919[FIFLIE (B EHT 1,320 4.1 919| KRR AF =af 4,362]  68.2% 1252 ®iEh 5,365 100.0%
920[EFE —Bir 8,032 4.1 920[=HE BT BT 806] 67.9% 1|ZmE ST 8,248] 100.0%
921[FER EA=101 841 4.1 921[#F IR  [chFHAT 681]  67.9% 1|ZmE NM&T 12,731]  100.0%
922[JtiEE L FRET 435 4.1 922|=F 8 W 3537] 67.8% 1|ZmE FEiR 1 10,849 100.0%
923[#Z NI  [ILJLHT 591 4.1 923[FFEE A BT 687]  67.7% 1252 Fiimm 3,307 100.0%
924 FER KET 1,059 4.1 924[{EBE EEm 10,048]  67.7% 1252 it 10,402] 100.0%
925|FER R"emh 3,987 4.1 925 FEE HIERT 901]  67.6% 1252 pN il 8,363 100.0%
926| KRR AF ERIh 16,280 4.1 926|B5EE /NEETET 843]  67.4% 1|Z5E FEAH 7,268] 100.0%
927 EER  ERET 967 4.1 926[IF B 18 JII DB 769]  67.4% 1ZmE HILTh 5,959 100.0%
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REEAIRL FRICHITHERICTIREDEMKIRE (1)

g;z%&%%:/tl—mf*étua) Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
B | ERIE AR 4 | HEEL REAMGH] A &8 | |JELL|HEFESL HEES REERER % | Nz | &R AR HEES REERE %
928|=IHIE | E’éﬁ 5972 41 928[FTin 8 FEH 5816] 67.4% [EGT] EEEH 7.186] 100.0%
929[{EBE N 3,857 4.1 929[fEHE EHE 17,443 67.2% 1|ZmE =Em 4,646] 100.0%
930[fEHE BT 1,605 4.1 930[EBFIE EBm 3518  67.2% 1ZmE EBm 3518] 100.0%
931|ZEE BR™ 2,677 4.1 31 [IHER SR 4360 67.1% 1ZmE ZB™H 5,335] 100.0%
932 B3 2 KA 7,928 4.1 9R2|EEE =4Fmh 1,369  66.9% 1Z5E B 8,701] 100.0%
933[lLOE EFm 2,117 4.1 933[IHmEE AEM 10,665]  66.9% 1Z5E HERT 4,923 100.0%
94[ERSE  |FIART 600 4.1 934[JtiBE RBEEH 193] 66.7% 1|Z5E Bfhh 4,748 100.0%
935[JtimiE FEESH 1,667 42 9344t 8 & FTHT 94]  66.7% 1ZmE EAT 5,676 100.0%
936[AEARIE TEIRRET 1,361 42 9344t E SN 239]  66.7% 1252 tEHEH 7,382 100.0%
937[dtimE VLN 2,123 42 934[ILLE KTHT 525  66.7% 1252 PRE 3,534 100.0%
938[AEARIE g 3,835 42 934[FEEE iR AT 45|  66.7% 1|ZmE #H&EL 5,759 100.0%
99|EEE HEmH 3,954 42 9UEFHE REH 119]  66.7% 1|Z5E HEH 7,451 100.0%
940 S 58 E@m 2,439 42 934|FNFLIE  [#2ETFET 392]  66.7% 1|Z5E EAFH 6,109] 100.0%
941 | KB FF WET 8,128 42 934[BERE EX T} 449]  66.7% 1252 FIERET 4,314] 100.0%
942 KI5 I8 SERTh 2,225 42 M2 =RE ZRE 25,144]  66.6% 1252 I3 1,525] 100.0%
943 FIHIE ZUDH 1,356 42 94318 H 8 HBATAT 1,644]  66.3% 1|Z5E A CIHET 2,145] 100.0%
944 FER Bl 2,211 42 944 AR IERX 32,667] 66.1% 1|Z5E R ET 2,879 100.0%
945 KRB E RN 3,638 42 945[Z 512 =EE 13,708]  65.8% 1|ZmE XA 3,079] 100.0%
46| =F & =EE 40,666 42 946[HF K2 T 13,294]  65.7% 1|ZmE BESTHT 2,859] 100.0%
947[4tiEE AT 1,276 42 947 EHE T iREAET 1,376]  65.6% 1252 REF 419 100.0%
948 TRERKF fEERT 2,352 4.2 948 SR8 TRt 2,904]  65.5% 1252 Ba 2% L BT 2,790[ 100.0%
949|3rR 12 el 521 4.2 9491l 18 W% BT 833]  65.5% 1|Z5E FUBET 4,257] 100.0%
950 FHE KEEET 417 42 950/ B 18 32l 6,191]  65.4% 1|ZmE AN ZHT 1,068] 100.0%
951 IO & EEm 9,654 42 951 [Fin 8 AT 5607  65.2% 1252 EFi1 1,554] 100.0%
952/ L8 SEEFHT 962 42 951 (128 FEAT 3383] 65.2% 1252 SR AET 239 100.0%
953|&JIIE + FEET 823 42 953[IF B2 EEmBET 5156  65.2% 1252 FRHET 169] 100.0%
954 | K Bx FF HET 7,633 42 954 TR ERKF [Eiaiid 2,115  64.8% 1|Z5E SIRH 62] 100.0%
955[ILIfis 18 i 1,058 42 955 2 18 FREET 1,630]  64.8% =88 =R 40,666] 100.0%
956[IF B2 KEHE/\BE/\RTHE 318 42 956 | [# L2 =2m 1,810]  64.7% =88 Xt 20,458] 100.0%
957[#F AR 7% KRBT 744 43 957 AF 8 BT 281]  64.5% =88 mAhh 23,736] 100.0%
958 TR ARKF Eft 2,115 43 958 B8 EAN=T0] 1,231]  64.4% =88 ®EH 9,382] 100.0%
959|FB e H“V\]Tﬁ 1,988 43 959| &I SHEH 3,191  64.3% e TARR T 12,567] 100.0%
960|122 BES—Th R E 307 43 960[ k8 ZHHITHT 286]  64.3% =88 Z28H 11,524]  100.0%
961 B AR %ﬁfﬁ'[g 12,145 43 960|RIHE TEh 3353] 64.3% =88 ™ 16,278 100.0%
[AME]! BT 2,150 43 960[FFEH 12 A& 242]  64.3% =88 &Rt 5988 100.0%
963 FE B TR ET 346 43 963[AFE ERHAET 1,094 64.0% e BEm 1,056 100.0%
964 EFHE EEEES 218 43 964 #EIE HEPEEH 744]  63.9% =88 EXNGH 4,186 100.0%
965|FkHE Al 5,222 43 965 BEE SBET 3421  63.7% e BHm 1,125]  100.0%
966| F %2 P 16,698 43 966|518 BAI e T 5527  63.7% =88 REBFTh 992 100.0%
967X IHIE L) 514 43 967[JtiEE BN 193] 63.6% =88 WA 3537] 100.0%
968 =F§Lr S IHT 377 43 967 1L - BHET 96]  63.6% =88 EEM 2,895 100.0%
969| X5 hiEh 7,029 43 969 FRARKF @0l 6,178]  63.1% =88 BEH 6,480 100.0%
970 ;m&% AZH 1,612 43 970 EHE sth FR T 633]  62.5% e A IRET 423] 100.0%
971 [1BHE Hhoi 1,940 43 970[ B4 18 HBHT 338]  62.5% =88 HEH 2,136] 100.0%
92 EER EEE 93,966 43 N(HER #EYH 4,009  62.3% e FMEFET 3519 100.0%
973[BHIE Bk 7,186 43 I3 EHE hEh 3394  62.3% e EEIEL 1,437]  100.0%
974[12 8 A 7] ET 1,308 43 IT4[EE R =R 6,382 61.7% =88 JIREET 1,290 100.0%
975 ER fTHE™H 5,671 43 975| EER EXL 1,483 61.6% e B FNET 1,816] 100.0%
976|EEEE [LWEEREKRHFH 2,043 43 976 R AR Hh R AT 2373]  61.5% =88 & 572 100.0%
71 EESE |EEh 11,802 43 976[ILOE £ 1,466]  61.5% =88 EIRET 1,386] 100.0%
978l I8 JIIF5ET 1,047 43 978[IF B 18 B3 ) I BT 1,379]  61.4% =88 ESH 607] 100.0%
979|=HE & FRET 554 43 979[=F 8 #2LET 869] 61.3% =88 AATHT 432 100.0%
RN ERET =E=ki 2,330 43 980| F 1A I8 = SRET 1,670]  61.2% =88 #oJL BT 869] 100.0%
981[ILFLIE =10 984 43 981 [ RIFE KRE5H 3453]  60.7% =88 EIERT 602 100.0%
982|EF 8 =Eh 1,773 43 982|=RE PN E G 6,106]  60.4% =88 FREA 772] 100.0%
983 EEER FLE ™ 4,822 43 983[ L& B BT 264]  60.0% =88 SRS RARRHERES 372[ 100.0%
984 FEE FEH 4,731 43 983[ L& PN L 400 60.0% 1BEE BEE 34,119] 100.0%
985| FEHRE NEHE 818 44 983 EHE A& et 535  60.0% 1B R XiE 27,247] 100.0%
986 BB R REZE 792 44 983[=ILIE FHER 334]  60.0% 1B R EiRh 9,425] 100.0%
987 BHE e W T 33,171 44 983[ZHE % HET 96]  60.0% 1B R EEh 9,881 100.0%
988|&JIIE i 3422 44 988|RIHE SEd 1,868]  59.5% 1B R SFT )\ 6,853] 100.0%
989 FIHIE = T HET 880 44 989 FEE #amh 32,932] 59.2% 1B R e 11,750[ 100.0%
990X I8 FIRE 61,813 44 990 (iR 8 % AH 2,773]  59.2% 1B R SFlTH 8,522 100.0%
991 [Jh#EIE =Hah 5,107 44 991 (B4 18 RS T 7,543 59.2% 1B R EX il 6,726 100.0%
992|Z 52 BESTHT 2,859 44 [FAMED! FEBH 2,143]  59.0% 1BEE HEH 7,282]  100.0%
993[JtiEE EEA0] 813 44 993 1I:§:E RIEAT 209] 58.8% 1B R FriMh 4,420] 100.0%
994[IHE R I SET 1,297 44 993|FNFRILIIE [ SAHT 200]  58.8% 1B R ™ 4,437] 100.0%
995|118 $RFHT 1,158 44 995[FEARIE XE 5,700  58.5% 1|#EE S 3,404 100.0%
996 EEIR Pt 3477 44 996 = I8 AT 1,302]  58.3% 1B R T 9,702] 100.0%
997 EER BERR T 45,920 44 996 #EIE AR 130]  58.3% 1B R KR 3,091 100.0%
998 EIFIE Rk RET 1,232 44 998[FEE HEHEH 16,057]  58.0% 1B R B EFH1 1,635] 100.0%
999[HF K2 h B BT 861 4.4 999k 8 —+aff 451]  57.7% 1BEE = TH 1,024] 100.0%
1000|#% () 2 AT 1,355 44 1000 EIFE Sl 2216] 57.6% 1B R FILET 2,196 100.0%
1001[ L 18 EaTth 3,263 44 1001[dt 8 FRBIET 125]  57.1% 1B R 2 JBRET 702] 100.0%
1002[BEARIE XE 5,700 44 1001[2 B8 HET 2,800  57.1% 1B R B R ET 518] 100.0%
1003| FEE hB 4,784 45 1003[IHEE =il 10,259]  56.6% 1B R ZEH 574] 100.0%
1004[#5F R BEE 121,552 45 1004]dt 8 AT 555  56.5% 1| FRER AT AT 34,850] 100.0%
1005|EREE  |[55RET 481 45 1004];h 4812 A ERET 1,148]  56.5% 1| FRER AT kT 95,147] 100.0%
1006| K58 B Hi B7 2,410 45 1006t miE TR 433]  56.4% 1| FRER AT wELT 6,178 100.0%
1007 |1 A2 b 33819 45 1006|BEAIE SKJIET 782  56.4% 1| R ERFT EEh 6,361 100.0%
1008| =I5 18 E=HT 1,395 45 1008 & LR EHh 4,111]  56.3% 1| FRER AT #EERT 2,352 100.0%
1009[#Z= IR [EERSTH 9,318 45 1009|FRERKF SHHNEEhRERES 262]  56.3% 1| FRER AT Fah 14,438] 100.0%
1010|182 EA=T:01 2,034 45 1010[BEARIR LI ZRET 841] 55.7% 1| FRER AT =i 1,017] 100.0%
1011 [3RRAR BT H 32,324 45 1011| KBRFF RKEH 5857 55.6% 1| FRER AT 5™ 5473 100.0%
1012|888 =50 1,214 45 1012[fER 2 BEH 752]  55.3% 1| FRER AT | B 4,470] 100.0%
1013| B2 #’EH 2,846 45 1013[FER il 15,752]  55.2% 1| R ERFF RERH 6,655 100.0%
1014[#F A2 TEh 4,781 45 1014|1258 A2 BhET 256]  55.0% 1| FRER AT J\ i1 5,266 100.0%
1015/ B8 BEe 2,377 45 1014 4EIE SlRI=H 863]  55.0% 1| FRER AT RADH 6,379] 100.0%
1016|118 IR BT 1,991 45 1016 E iR I8 XM 3,193  54.9% 1| FRER AT lax: Aitl 3,832 100.0%
1017|@ S8 BAT 3R T 2,471 45 1017238 )l 2953]  54.9% 1| FRER AT K 7,826 100.0%
1018[BJIE NN 9,387 45 1018[RE LR FRM 1928]  54.7% 1| &R AT K LI BT 1,300[  100.0%
1019|F03ILIE  [FiEh 1,918 45 1019|E%FH 18 A 3,103]  54.7% 1| R ERFF XIS 1,186] 100.0%
1020 B4 2 i CA ) 374 45 1020 S &R FF i 1,017]  54.5% 1| FRER AT FHFH 440[  100.0%
1021 SR BAT R T 5,527 45 1020 S 502 EANIES 73] 54.5% 1| FRER AT 538 H R ET 666] 100.0%
1022|;h#BI2 SEmT 11,633 45 1020[BEARIE =dLET 508]  54.5% 1| RER AT FEZEHT 3,298 100.0%
1023 IO & 2,792 45 1023[ B #D E5FEH 7,824]  54.4% 1 RER AT KA 779 100.0%
1024[ IR M7 INTRH 5917 45 1024 B 12 [ 8,169  54.4% 1 RER AT {RIEET 87] 100.0%
1025 ffaiﬂtr 1B 1,868 45 1025/ =118 ST 822] 54.3% 1 RER AT CE R 1,391]  100.0%
1026|112 At 3917 45 1026| EER HETH 2,057  54.3% 1 RER AT SHGIE T REREE 262] 100.0%
1027|EREE  [EENAT 8,024 45 1027 ER BEE 121,552]  53.8% 1| KR AT KBRAF 122,548] 100.0%
1028[#F A2 L 6,761 45 1028|[EEE ZEmET 1,919]  53.6% 1| KR AT PN 177,864] 100.0%
1029[dtiEiE tiEE 89,735 45 1029[dt 38 L& 1,883]  53.6% 1| KR AT SR 65,545] 100.0%
1030[FER 31 [ BT 950 45 1030[#Z= IR [BARKET 1,617]  53.5% 1| KR EF EfEh 16,331] 100.0%
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DH%ERIVEL—21E84-YDRE Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BE QA ZA—F vk (30Mbpskl E) R23.1IR%E
B | ERE AF IR 2 HEEL REERY] A8 JEGE | ZRERFIE & HEES REERFR % | MBS | ZRERTIE & HEEL REERR %
1031|#08IIE  [#E ]Il 4,373 45 1031 =88 FREA 772]  53.4% 1| KR AT 2 31,458] 100.0%
1032| BEHE HRATNET 860 4.6 1032|E4 (18 B#’Eh 1,731]  53.4% 1| KR AT shE 7,633 100.0%
1033 | B R AR E 4,423 4.6 103312 B8 KEH 382] 53.3% 1| KR AT W 29,799] 100.0%
1034|FRERKF =iEh 1,017 4.6 1034[#F A2 BB 7419 52.9% 1| KR AT RKEH 5857 100.0%
1035|Z% 5 18 i 10,493 4.6 1035| SR8 EES 799]  52.7% 1| KR AT [t 26,535] 100.0%
1036 =8 % SUET 937 4.6 1036 LT IR 7)1 BT 327]  52.6% 1| KB FF BiEm 7,470]  100.0%
1037[t=2E 8 7 EHET 645 4.6 1037[=E R FEH 9382  52.3% 1| RBRAF SFOT 8,872 100.0%
1038| FEE S8 = FHET 1,432 4.6 1038 B AR bk il 5493  52.2% 1| KR AT [ akitl 31,259] 100.0%
1039[ 1L 18 e BT 833 46 1039[ b8 LT 419]  52.0% 1| KR AT RAH 23,969] 100.0%
10405 F 8 & rhET 2,188 4.6 1039 EHE Z2EM 612]  52.0% 1| KR AT J\ETH 19,530[ 100.0%
1041 | =8 EXEL04 1,694 4.6 1039 LR FSET 870]  52.0% 1| KR AT RiEEHH 7,289 100.0%
1042 ILFIE EBH 2,143 4.6 1002|ZR 18 SEREET 1,210]  51.8% 1| KR AT EA#MH 7,683 100.0%
1043| KB FF AR REF T 6,747 4.6 1043[RIBE HhiET 7,897]  51.8% 1| KR AT ERE)IH 16,280 100.0%
1044| B 52 3T 4,694 46 1044|123 B 8 — AW 3794  51.7% 1| KB FF AAREF T 6,747] 100.0%
1045| X B =LA 5,243 4.6 1045/ F0FLE  [#FET 1,918]  51.6% 1| KB FF tART 8,128] 100.0%
1046 ZHE K IBET 579 4.6 1046[#F K2 O 3819 51.4% 1| KB FF AEm 8,666] 100.0%
1047|582 AEH 777 4.6 1047| KH 8 FiEh 4,134]  51.2% 1| KR AT R 16,164 100.0%
1048 218 R 1,872 4.6 1048| =R AR 1,046]  51.1% 1| KR AT Em@mh 12,376 100.0%
1049 K12 ATRET 1,060 46 1049 EJHL% SEHE 1,168]  51.0% 1| KR AT HaEh 4,861 100.0%
1050|518 mem 18,094 4.6 1050|FE'RE IR [RESRAT 531]  50.9% 1| KR AT PR EH 8,123[ 100.0%
1051 EHE it 3,394 4.6 1051 jc?;\E Bl FF 7,563  50.2% 1| KB FF PE™ 7,673 100.0%
10525 F 8 ERET 1,094 4.6 1052[dLiEE SEH 322]  50.0% 1| KR AT i 6,343] 100.0%
1053 1lﬁi§ M 1,030 4.6 1052[ b8 B8 AT T 597  50.0% 1| KR AT BAah 4,362 100.0%
1054 EREE |[ERAE 550 46 1052 B8 FED 116]  50.0% 1| KB FF BEFFh 4,719] 100.0%
1055 E%ukr MM 12,731 4.6 1052|FHE 18 ERT 261]  50.0% 1| KR AT EPNAi 34,001] 100.0%
1056 | B AR BEX 9,196 4.6 105212 B8 B 414]  50.0% 1| KR AT R 5,043 100.0%
1057[IF B 18 AEH 3,022 4.6 1052|512 m75+ 2235]  50.0% 1| KR AT o {E B 4,425] 100.0%
1058]dt i A IRHET 441 4.6 1058 LIS e (L2 30,126  49.9% 1| KR AT XE 6,116] 100.0%
1059 R iBE TEH 3,353 4.6 1059 &R FAnd 4,962 49.8% 1| KB FF ABR¥E LT 4,.801] 100.0%
1060| RIA 2 BRH 3,377 4.6 1060[ LT IR XEH 43881]  49.8% 1| KR AT BREE 1 3,983 100.0%
1061 218 ZARM 8,117 4.6 1061|EREE [BiRH 2410  49.7% 1| KR AT EARH 2,643 100.0%
1062|H)IIE EiEKET 823 4.6 1062| =I5 12 EIELH 5158]  49.6% 1| KR AT Exd 914 100.0%
1063 | B AR JAIH 4,804 47 1063|532 EpmE 2 67,541]  49.2% 1| KR AT EE%%*ET 488] 100.0%
1064]dt 38 EIRET 1,349 47 1064[= LR =Y 23,395]  49.0% 1| KR AT 2 [E] BT 1,336] 100.0%
1065/ K58 fh 2,596 4.7 1065| = IR hnEET 1,621]  48.9% 1| KR AT ﬁEHXET 3,770[ 100.0%
1066| %5 18 FEgk 2,486 47 1065/t 12 F X0 BT 1,286]  48.9% 1| KR AT FA BT 782] 100.0%
1067| FEE A+HEET 866 47 1067| KB FF PNl 177,864]  48.8% 1| KR AT e BT 854 100.0%
1068| EH 8 SLELET 452 4.7 1068[dt 8 ALIR 140,310]  48.3% 1| KR AT AFHT 1,030 100.0%
1069[EBX B2 HEYH 4,009 47 1069|EEE HFEHT 1,081 48.3% 1| KB FF ;] T 1,146 100.0%
1070| FEE FEH 72,812 47 1070[[E B8 PNl 1,783 47.9% 1| KR AT FE R 308] 100.0%
1071 [FiR 8 mAaZ 4,418 47 1071 =R Wwem 80,543  47.9% 1|EER EEE 93,966] 100.0%
1072|FRERKF AT 34,850 47 1072| KBR FF taEh 43861 47.7% 1|EER wEm 116,579] 100.0%
1073| FEE AZER 495 47 1073|FER ENFaTH 9274  47.6% 1|EER JERR T 45,920 100.0%
1074[dLim3E S PR AT 1,345 47 1074 EER EEh 6,233  47.6% 1|EER BT 32,994] 100.0%
1075/ =48 PN L 519 47 1075| EHE 1L/ R ET 694  47.4% 1|EER AT 24,344] 100.0%
1076 EHE EHE 49,604 47 1076]&JIE % % UK ET 823]  47.1% 1EER wEm 40,206 100.0%
1077| =58 FEHT 1,405 47 1077|252 FEHT 1,405]  47.0% 1|EER IMATH 2,943 100.0%
1078| FE R B 2,558 47 1078| =R 1B Al ET 4510]  46.8% 1|EER EEh 6,233] 100.0%
1079| FEE RAEH 938 4.7 1079[EB 8 /NEFET 705  46.8% 1|EER Eanit 17,119]  100.0%
1080[ IR [#ZNIE 131,715 4.7 1080[fXEHE J\BRiEET 322]  46.7% 1|EER HHES 2,057] 100.0%
1081[FriR 8 R A 648 47 1080|[E B8 trEl it 9,022 46.7% 1|EER Elehd 6,357] 100.0%
1082|518 it 4,803 47 1082[ZE R SFlTH 8522  46.0% 1EER PN 21,406] 100.0%
1083[dt i e BT 419 47 1083[ZRFAE K RET 1,107]  46.0% 1EER P dit) 3,477] 100.0%
1084[EBXE IR T AR 868 47 1084|282 A)IET 1,038]  45.7% 1EER il g 2,993 100.0%
1085| = IR NGt 9,846 47 1085]dt i chitE 71| By 94]  45.5% 1EER E3 4 17,445 100.0%
1086|Fim 8 EOEEET 1,265 47 10852 B8 FER 3954] 455% 1|EER =K 5,508 100.0%
1087|ZR 2 = BT 463 47 1085 SERE il 1,354 45.5% 1EER =T 7,227] 100.0%
1088| =15 I8 aEH 10,310 47 1085|fE S IR EF L1 301  45.5% 1|EER JI#aTH 11,809 100.0%
1089|= LR INEERTH 1,952 4.7 1089 KB FF EAMH 7,683  45.3% 1EER N 4,258 100.0%
1090t & Eirlil 1,165 4.7 1090[#XHE —é 846  45.0% 1EER =Hh 8,904 100.0%
1091[FXEHE AEETH 4,462 47 1091 [#= IR (RS 51,859]  44.8% 1EER hn#a 2,972 100.0%
1092| EHE FRIZHT 1,070 438 1092[; B8 it 6,427  44.7% 1|EER FHE#Z L 3,019 100.0%
1093[3B R HRH 3,345 48 1093[{E8H 2 BHMH 20,342  44.6% 1EER EXh 1,651 100.0%
1094[F 0FLE  [F0LB 23,769 438 1094[JL3EE HFaET 227]  44.4% 1EER FHE T 4,822] 100.0%
1095[ LIFIE ELXEHAET 3,546 438 1094[2 B8 )15 232]  44.4% 1EER EaHblh 3,129] 100.0%
1096 LLIEIR BB 829 438 1094| RE 2 AETH 336]  44.4% 1|EER Bikm 2,207] 100.0%
1097 [Elu.ltr I 8,080 438 1097|EEE MIRT 1,489]  44.3% 1EER RRTH 2,993 100.0%
1098 B #D Hh R AT 2,373 438 1098|EHE sl 960  44.2% 1|EER REh 2,863 100.0%
1099[ EER =K 5,508 438 1099l 212 mEh 2436]  44.2% 1EER hnE™ 2,802] 100.0%
1100[IREE BRI FRELAREITMEE 201 48 1100[EF & BT 8425  44.1% 1EEE =2 6,012 100.0%
1101[#=2M 8 e 2,079 438 1101 EHE shAiTT 10,498]  44.0% 1|EER ¥4 )IET 2,887] 100.0%
1102 1L 18 FE™ 2,597 438 1102[ERER [Fi#&af 119]  44.0% 1|EER % Al By 1,483] 100.0%
1103[Frin 8 BA[ % Er v 3,010 438 1103[iFER =50 3,114]  43.9% 1|EER FEEHT 2,464 100.0%
1104[iF5F R A BT 687 438 1104[fXEHE FIIET 246  43.8% 1EER FEEZET 2,979 100.0%
1105|3188 i 13,784 48 1105[IIEIR HAFNET 1,869  43.4% 1EER hI[ET 821] 100.0%
1106 IR b= G 40,586 438 1106[LLFZ 12 BA E AT 408  42.9% 1|EER 1R IBHT 1,653] 100.0%
1107 | KBRFF SR 65,545 438 1106| EHE R 3,186 42.9% 1EER AT Ay 827 100.0%
1108|#=F 8 )1 4,981 438 1108[B3 2 BIKET 2598 42.6% 1EER AFHT 3251 100.0%
1109|FRERKF & 7,036 438 1109[ B 52 ZEEh 175,091]  42.5% 1EER E ZRET 967 100.0%
1110[KH 8 EART 1,011 438 10| SRR 2 AT 713]  42.1% 1EER 1k FHET 1,002] 100.0%
NMIERSE [FEzxh 1,195 438 1110[[EB8 THETH 1,113]  42.1% 1|EER BEHT 1,196] 100.0%
H12[BER EEHHHET 629 438 HI2[EHE AR T 18,186  41.9% 1|EER im R AT 998[ 100.0%
1112[IuEIR IETS 2516 438 13 EER FHEZ LT 3019 41.8% 1EER AhbLiMAm#EE 447 100.0%
1114 1I:§:E EXCE S0 1,032 438 1114]dtimE FFIF 94]  41.7% 1EER BESRLGERES 116] 100.0%
NS|EREE [BEREE 29,327 438 1114[dLiEE FEEIET 364]  41.7% HEI=T ZRE 25,144] 100.0%
1116[FiRE NFAH 2,680 438 1116[IHER BRM 4,489  41.6% HEI=T =R 23,974] 100.0%
1T7[HERE NI 13,294 438 117[EEARR FINET 1L111] 41.3% HEI! XM= ET 4510] 100.0%
MIg[EREE [IEEH 3534 438 1118]|BHME EF1 1,554]  41.3% HEI=T PN E G 6,106] 100.0%
119X BE BT 5,663 49 1119 =88 % BT 937]  41.2% HEI=T XEhH 4,020] 100.0%
1120[EHE T iREAET 1,376 49 1120 =B 8 PR 12,567]  41.1% HE EEH 9,106] 100.0%
1121k FEELi 852 49 1121 EER =2 nh 6,012] 40.8% HEI=T Hm 4,123[ 100.0%
1122[EHE AT ERE PR 224 4.9 1122 BHE ERhd 5365  40.8% 11=ZRE HiEH 1,816]  100.0%
1123[RJIE tEm 3,490 4.9 1123[f0FLE  [#BATh 4213 40.4% HEI! AT 1,312]  100.0%
1124 B8 XiEh 27,247 49 1124[IF B8 = InET 336  40.0% HEI=T EX L 10,125] 100.0%
1125[RIBE Bl 1,961 49 112404818 REEH 117]  40.0% HEI=T FZh 7,674] 100.0%
1126 FER WFHH 2,208 4.9 1126 FFER )M 5197] 39.7% 11=ZRE EEm 3,459] 100.0%
1127]dLimE FlEaiH 11,498 49 1127 IUEIR /1| = R8T 1,052]  39.5% 1|=RE Fieh 1,772] 100.0%
1M2|[EREE [BRh 2,410 49 1128 n&ELr R 1,872  39.2% 1|=RE IS 228 100.0%
1129 EHE E4t 652 49 1129[ZRE EX LN 10,125]  39.2% 1|=RE SEREET 1,210 100.0%
1130 LIS EERT 937 49 130[HENE  [FyiGh 19,127]  39.1% 1|=RE = ERET 1,687] 100.0%
131 =HE &gt 3,868 49 1131 EHE =4t 652]  39.1% 1|=RE BEABHET 2,373 100.0%
1132| =K 8 EXoh 1,291 49 1132 ER S -ER 102,537]  39.1% 1|=RE IR 405] 100.0%
1133 RIGE Ei&h 28,349 49 1133[RIBE EE 4 2961] 38.8% HEI=T] JII 7R 411]  100.0%

11/18



REEAIRL FRICHITHERICTIREDEMKIRE (1)

g;z%&%%:/tl—mf*étua) Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
JEGL | ZBEAFIR HEES REARH| A& JEGE | ZRE R IR & HREES REERER % | MBS | ZREFFIE & HEES REERR %
1134| =52 xsiuﬁm 1,989 49 1134]dtimE AT 2,305] 38.8% 1|=RE =EfT 299 100.0%
1135[1= k8 FEHAT 3,383 49 1135| 5 HE [ b BT 826]  38.5% HEI=T A [ A ET 2,339] 100.0%
1136|#MZ)IE  [=iEh 2,489 49 1135| FER ETEHET 282] 38.5% HEI=T Lol 57] 100.0%
1137[BEARR KERH 1,730 49 1137]|BHME i) U5 7 33,171  38.1% 1|ZERE Wi f 37] 100.0%
1138[dtimE HWEH 2,510 4.9 1138[fF AR FRIEET 1,426]  38.0% 11=RE = BT 463] 100.0%
1139[IIEIR A fF 12,849 49 1139[dLimE A MSEHET 441]  37.9% 1|=RE B A &4 356] 100.0%
1140[ L2 B[] 1,328 4.9 1140[=F 8 SRH 1,125  37.8% 11=ZRE 3BT 1,498 100.0%
A EHE B4R 2,655 49 NN|[EEE LR 43,887  37.7% HEI=T FFET 1,841] 100.0%
1142/ ZR 8 =RE 25,144 49 1142[IWEIR ES 5996 37.6% HEI=T LR 3,084 100.0%
1143[R)IIE R T 2,197 5.0 1143[ILZE A=Y 21,730]  37.6% HEI! i & ET 1,125]  100.0%
1144 RIBIE AT 5,083 5.0 1144[3188 mARh 4,418]  37.5% 1|=RE = EPET 278 100.0%
1145t 8 EENid 3,769 5.0 1145[f8HE f&Tm 6,257  37.4% 11=ZRE KieHT 1,193]  100.0%
1146|258 EX ¥l 3,324 5.0 1146[15F R A 27,364]  37.3% HEI=T T 233 100.0%
1M47|MENE  [FEEMT 3,188 5.0 147 RBE BE BT 5663  37.3% HEI=T 2EH 22] 100.0%
1148|5512 EpmE 48,864 5.0 1148]| BB A LLIET 1,113]  37.1% 1|ZERE EIIES 68] 100.0%
NYERSE [mSoFh 2,280 5.0 1149[IF B 18 R 2,605] 37.1% 1|=RE [SZCHIES 10[ 100.0%
1150[ EER Y4 ) IET 2,887 5.0 1150|ZR 8 KiHT 1,193]  36.7% HEI=T +:Z)IH 155] 100.0%
1151 [RIBE )l 2,953 5.0 1151 [Fin g T 13,784]  36.6% 1|ZERE IS 6] 100.0%
1152 AF 8 KHERT 730 5.0 1152[@ L8 EERT 937]  36.6% 1|ZERE N EF 37] 100.0%
1153|EREE [HEWN 3,953 5.0 1153 EER it} 116,579]  36.4% HEI=T B HH 50] 100.0%
1154[B B2 HAEET 926 5.0 1154[[LOE Gl 8915]  35.9% 11=ZRE NFERT = BRI ERAE 331] 100.0%
1155[JL:mE AT 1,047 5.0 1155 RHE £ ATh 7,689]  35.7% 1[F08LE  [fFlLE 23,769] 100.0%
115612 =28 1,874 5.0 1156[BE AR AR 31,491  35.6% F ST I £ AT 25,056] 100.0%
1157| KB FF R 4,861 5.0 1157 ER XN 6,583]  35.6% 1|#0FLE  EEah 3216 100.0%
1158| =8 Ff B BT 742 5.0 1158] b8 EEA0] 813[ 35.5% [T 7 N 4,213] 100.0%
1159[#E A2 EESan 8,391 5.0 1159 AR KT FRERT 3298]  35.5% 1#18RLIE  [AEA| 1,935]  100.0%
1160[ EER Tl 2,993 5.0 1160[ZE R BEE 34,119  35.4% 1|F0FLE  |#Eshh 1,512]  100.0%
1161[FILE fAalah 2,694 5.0 1161]dt 8 ZXRET 236]  35.3% 1|#FLE  [FHEh 1,918 100.0%
1162| =12 SEFET 2,811 5.0 1161[{ERE Piol 269]  35.3% 1|#FFLE  [follld 4,373 100.0%
1163|818 SR 6,382 5.0 1163 B8 EREiH 11,750]  35.1% [T =i 4,477]  100.0%
1164| FER AT 901 5.0 1164| FEE RHET 1,059]  35.0% HENERTT - ERE S 3151 392] 100.0%
1165|2512 R 9,357 5.0 1164 BRED e 177]  35.0% 1|#FLE  [ADSEHT 1,074]  100.0%
1166| B R AR hEFX 12,977 5.0 1166|EEE REFPHT 1,969]  34.9% 1|#030E [ A ILET 251 100.0%
1167| S &RKF SHHN EEhRERES 262 5.0 1167[BIINE T 1,301]  34.7% 1FELE  [SEE 134[  100.0%
1168| FEE P it 4,367 5.0 1168| =R 8 (el 1,312 34.6% [ E TR 868 100.0%
1169|3182 iR BT 464 5.0 1169|3iR 2 e 28 T 513]  34.3% 18RS [[R)IET 552] 100.0%
1170[FHE +FAT 4,174 5.1 1170[ BE]RE KF 11,535]  34.2% F ST BT 2,013 100.0%
N7 IR FE A ET 1,493 5.1 NN[BEER KEFRET 348]  34.1% 1F0FLE | SEERT 461] 100.0%
1172|342 i 1,464 5.1 172| R BEX 9,196  33.7% [ E T EEETS 728] 100.0%
NBERSE |KIGHE 912 5.1 173[BHME 2| 36,153 33.6% 1#0F0LE  [HRET 357] 100.0%
H74[BER SREETH 5,247 5.1 1174 LR 28m 40,586]  33.5% 1080 [ENRIRY 622] 100.0%
1175[dLiEE & 3,377 5.1 11754t iE {EEnRET 1,172]  33.3% 1|F0FLE A ET 1,002] 100.0%
1176| KB FF SR AT 1,146 5.1 175|888 £ 1B 58]  33.3% [T =S 638] 100.0%
177 RIGE 1E1ﬁ{%ﬁi 19,833 5.1 175|858 BAFIAL 40  33.3% [ E T =R 1,320[ 100.0%
78| 5FE SR ET 548 5.1 HMI5[EBER 1A 595]  33.3% 1|#030LE [ EEHAET 1,289 100.0%
179|258 = SR 1,670 5.1 1175[RJIIE MESH 2.814]  33.3% 1R  [FSHHT 200] 100.0%
180|#MZIE  [#Eh 266,080 5.1 175|AIIE FAamh 4,.806]  33.3% #0300 | BRES R ET 902] 100.0%
1181 KB FF HEZAET 488 5.1 1175[IIELR FHER LA 24]  33.3% [ ENE T E[ATIE D] 24] 100.0%
182|RHE ST 534 5.1 1175 E%vtr /N BT 909]  33.3% [EE TN EF N5 782] 100.0%
1183/ 0FLE  [FaFrilth 25,056 5.1 1183[EF & TEEm 6,933]  33.0% 1FIBRILE  [@smEE I eEREs 166] 100.0%
1184];h4E12 S RAT 1,161 5.1 1184 RIBE AT 5083  32.9% 1|BERE SmE 12,433 100.0%
1185| B 4D )1 12,379 5.1 1185 =B 8 EhEET 16,278]  32.9% 1|BRE Bl 14,403]  100.0%
1186[lLOE Fh 3,444 5.1 1186 FER S 2,558]  32.8% 1|BRE KFh 11,535] 100.0%
1187| SRR JEHETH 3,783 5.1 1187[=B 8 EIEGEd 23736]  32.8% 1|BRE =m 3,667] 100.0%
1188|#03ILIE [ HIIIET 2,013 5.1 1188[%2E 2 EHE™ 7,556  32.8% 1|BRE EEH 2,482] 100.0%
1189[#1iB 12 o 1,687 5.1 1189[ILF IR == 1,874]  32.5% 1|SH]E EEHT 765 100.0%
1190/ =R & KT 1,193 5.1 1190/ B 8 L IEET 905  32.4% 1|BERE T 130] 100.0%
191]EHE EIHEAT 2,551 5.1 1191 EHE =HEA 821  32.4% 1|BERE AIBEAT 411 100.0%
1192|Ix 212 A EFHT 2,045 5.1 1192[fE B8 i BT 1,128]  32.3% 1|BERE J\BEHT 1,228] 100.0%
1193 BB Pk il 1,354 5.1 1193[ KR FF R BT 782]  32.1% 1|BRE =BAET 489] 100.0%
1194[=Z 1L 37 LIET 1,929 5.1 1194[ZEE AT 22,337  31.9% 1|BRE bl 1,354]  100.0%
1195/ =I5 18 EHT 658 5.1 1195| =R E-to Al 4945]  31.9% 1|BERE JE R ET 1,182] 100.0%
1196| FHE A& e 535 5.1 1196| =R XN 3,143[  31.9% 1|BERE EEEL 201[ 100.0%
N7EREE [BEW 9,955 5.2 1197[fERE [EE S0 2934]  31.6% 1|BERE ALLIET 1,113 100.0%
1198[=8 8 EXAH 11,524 5.2 1198| B I8 &M 8329 31.2% 1|BERE A ERET 836] 100.0%
1199[#=M 8 HHEREEEERAS 650 5.2 1199 KBRFF WA 29,799  30.9% 1|BERE BERT 811 100.0%
1200[FE R S RAT 1,081 5.2 1200[ 5 HE {EFEE 104]  30.8% 1|BERE EEN 204] 100.0%
1201 | ZIIE [ 2)IET 2,897 5.2 1200[2 B8 SIZHET 980[  30.8% 1|SH]E KFh AR PRRAS 457] 100.0%
1202/ EHE R 4,986 5.2 1200[EHE SR AT 724]  30.8% 1| SR8 EiRE 16,237] 100.0%
1203[ILIFZ 12 £y 1,844 5.2 1200[fE2[ B SRIFTH 9,920  30.8% 1| SRE EMET™ 3,783 100.0%
1204|258 EX=Ea 25874 5.2 1204]i B 12 PEH 5596] 30.7% 1| SRE XHH 2,413 100.0%
1205|BE B2 il 24,924 5.2 1205|F )18 ZEEIEET 1,689]  30.6% 1| SR8 =kh 2,904 100.0%
1206| = 52 AEm 2,136 5.2 1206| iR 18 FHSH 4,676]  30.3% 1| SR8 JLiEh 1,545] 100.0%
1207 AR FIEEL 921 5.2 1207[dLEE BT 22314]  30.3% 1| SRE e 799] 100.0%
1208| B8 SREm 3534 5.2 1208 B 12 L 3,118]  30.3% 1| SRE JIZET 177]_100.0%
1209 K Bx FF Fﬁé‘ fitl 7,673 5.2 1209[fXEHE 5% Lol 138]  30.0% 1|BRE EIERET 361 100.0%
1210[# AR ek 3,156 5.2 1209 FEJIE B SR 183 30.0% 1| SRE SEH 354] 100.0%
12113 AR ‘\‘.Eﬁlll?ﬁ 6,345 5.2 1211 FFER AT 10,884]  30.0% 1| SR8 75/ SHT 140] 100.0%
1212|E56 18 RRET 3970 5.2 1212 FER B A FHET 1,432]  29.8% 1|BRE MEFR 36] 100.0%
1213|F)IE ZEEIEET 1,689 5.2 RRBERSE [BEWH 9,955] 29.8% 1| SR8 TRl O S BT 969] 100.0%
1214| KB FF EMMH 7,683 5.2 1214 R EEEART 2,906]  29.7% 1| RE L2 fiE] LI 8 39,126] 100.0%
1215 =B 8 M Amh 23,736 5.2 1215[fE B R b= EF T 2011]  29.5% 1R =t G 40,586] 100.0%
1216[FER &I ET 1,817 5.2 121622 B 9,767]  29.4% 1R G 8,080 100.0%
1217|588 PNt 1,783 5.2 1217|BEE BEh 3667 29.3% 1[RLLIE HEH 2,776 100.0%
1218[t=2E 2 E[& 71,215 5.2 1218 EHRE 7P BT 818  29.3% @S it 5,903] 100.0%
12195 HE shAlTH 10,498 5.2 129ERSE [HGH 1,401 29.2% 1| RE L2 SEdiH 1,810[  100.0%
1220 EREE |FEKh 859 5.2 1220 S HE JLRET 1,182]  29.1% 1| RE L2 R 1,928]  100.0%
1221[FiR 8 RBIIH 2,773 5.2 1221[ILF IR EBIER™T 1,058]  29.0% 1[RLLIE fiE R T 2,000] 100.0%
1222 ZHE EH 4,384 5.2 1222[ILOE AT 10522 29.0% 1R falahi 2,694] 100.0%
1223 | FRERKFF AR 95,147 5.2 1223[ &I J\FHRET 1,612] 28.8% 1[RLLIE AT 3,568 100.0%
1224[#HZJINE [ FHT 1,826 5.2 1224|BHE R 4,646] 28.8% 1R BREH 3,264 100.0%
1225|812 AT 7,703 5.2 1225\ EREE |ERAE 550]  28.6% 1| FELE BEERT 1,164] 100.0%
1226 EER =20 6,012 53 1226 AR IR 49,658  28.2% 1ELE EXEd) 937] 100.0%
1227| SR8 [ECIET:N 969 5.3 1227]dt 8 SRR 3988 27.8% 1| RE L2 FEF 63] 100.0%
1228 B #D TEX 32,667 5.3 1228[dt 8 ERE R RT 201]  27.8% 1| RE L2 SREFRT 962] 100.0%
1229|B 52 B2 127,043 5.3 1228 BF 82 ARE 506]  27.8% 1| RE L2 BEREEH 120[ 100.0%
1230[dt 8 [ERIER N 1,172 5.3 1228[18H 2 ABH 2,254]  27.8% 1| RE L2 AKFART 274] 100.0%
1231|182 R E7 BT 859 5.3 1228[BE AR FafERT 592]  27.8% 1| RE L2 EIXHET 984] 100.0%
1232[F5F R = ET 671 5.3 1228|4812 EX0] 123[  27.8% 1| RE L2 2 fif o BT 701] 100.0%
1233 EHE FAJIF 725 5.3 1233[HF AR B 5186] 27.7% 1S L R PR A 85| 100.0%
124|ZRE A= BT 4510 5.3 1234|5418 HIpZE 584]  27.6% 1|ESE LEE 43,887 100.0%
1235[FER FEHE 2,523 5.3 1235[E B2 FEEM 4647  27.6% 1ESE Amh 15,801] 100.0%
123635 2 B 11,641 5.3 1236[1FF R Bl 6,540] 27.4% 1ESE =R 6,382] 100.0%
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Q%Sz’éﬁﬁ:ul: A—R1BLEYDR Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
N | ERE AR HEES REERH] A& | [IBE|HMEFEZ HREES REERFR % | MBS | ZREFTIE & HEEL RE %
1237/ =R 8 E%ET 299 5.3 1237 1I:§1E #Em 2510]  27.3% 1EER il 37,073] 100.0%
1238t B8 EiEh 10,048 5.3 1238|BE R BN 69] 27.3% 1EER fFhh 2,664] 100.0%
1239[IF B 18 BT 5,596 5.3 1239[ 5 HE AR 645]  27.1% 1EER =Rt 3,869 100.0%
1240|546 18 BETH 13,790 5.4 1240[BE AR EEH 906  27.0% 1|ESE ERm 2,310[ 100.0%
1241[RBE 5 B BT 1,182 5.4 1241 FER EEh 5524]  26.8% 1EER pNiUiii] 1,783] 100.0%
1242|[L B8 LEE 43,887 5.4 1202|[EHE EEL 627]  26.7% 1|ESE fi=Kitkitl 9,022] 100.0%
1243[BEAR IR EEH 906 5.4 1243| KB FF Hixm 7,470 26.6% 1EER REmmET 1,919] 100.0%
1244 5F 82 AT 2612 5.4 1244[HF R 2 FHEH 40,545  26.4% 1|ESE IHET 1,113 100.0%
1245[1F A8 R FHT 1,766 5.4 1245| 5 %82 F7 30 i BT 818  26.2% 1EER FE R ET 4,148 100.0%
1246|4LiEE EsEouit 4,754 5.4 1246[Jt 8 2 FRET 435]  26.1% 1EER S T 2,424 100.0%
1247 | KBRFF RXEH 5,857 5.4 1247 EHE AR 1,273 26.0% 1EER REEFFHT 1,969] 100.0%
1248[JLiEE HERET 2,065 5.4 1248|R)IIE RBIE 23,398] 25.8% 1EER [ 1,151] 100.0%
1249[#Z IR [KFHAT 1,431 5.4 1249[dt 8 Fikh 8,110] 25.8% 1EER T A HET 303 100.0%
1250( %518 J\FRET 1,612 5.4 1250 #= 18 Ak 4,183]  25.7% 1|ESE EAN=T00 1,231] 100.0%
1251[IL I8 f=Fiiil 1,895 5.4 1251 =58 JI[ U BT 538]  25.6% 1|ESE K+ SHBT 317] 100.0%
1252| 1=k 18 #5187 983 5.4 1252|RIBE E¥oit 10,493]  25.6% ag [T =], 25,676] 100.0%
1253[1@H 8 HE™H 5313 5.4 1253[BE R RBIET 17.955]  25.5% ag =3 14,646 100.0%
1254 FFER =T 30,248 54 1254 RFE By 52 BT 3,667  25.0% g F&h 2,792] 100.0%
1255/ =R I8 =B 23,974 54 1254| IS [ EET 1,371]  25.0% ag NG 4,762 100.0%
1256| = )IIR  [FiEH 18,960 5.4 1254| EHE B e T 283]  25.0% ag EMT 2,117] 100.0%
1257 EHRE Lot 3,933 54 1254|fBf 8 &2 74,360  25.0% g HIFH 2,189] 100.0%
1258/ E R & ] 3,864 54 1258 #@E)IE  [FERT 7,233]  24.9% g Arh 10,522] 100.0%
1259|2512 JIIEa R 1,345 5.4 1259 | SR KT AT 34,850 24.8% ag LIS /NEF R T 4,787] 100.0%
1260] FEE B SR BT 437 5.5 1260 EE {REHET 4,463  24.7% ag FNAHET 615 100.0%
1261[=8 8 BAFOHET 1,816 5.5 1261 RIBE FEN 3540]  24.6% ag - BHET 96] 100.0%
1262| KB FF FAT 23,969 5.5 1262t IR [Z)IIAT 2,897]  24.6% ag FA 1 e BT 1,127] 100.0%
1263|F)IIE it 4,114 5.5 1263[dt 8 o FIEHT 440]  24.4% ag SEAET 753 100.0%
1264|518 fRATT 3222 5.5 1264|588 SEEBRE 1,360 24.3% 1|ESR meE 18,655 100.0%
1265|518 Al AT 444 5.5 1265 EHE Tl 4,472 24.2% 1|ESR #mem 18,094] 100.0%
1266 EHE 2RMH 2,114 55 1266 BB 8 ARIhH 6,249  24.1% 1|ESE [wkit 3,774 100.0%
1267 [ A2 T Hh 10,295 5.5 1267[HE AR AL LT 1,711 24.1% [EET MaETH 2,427] 100.0%
1268|BE B2 BT 4,802 5.5 1268[dt 8 2= 283]  24.0% 1|ESR BAT R 1 5527 100.0%
1269 B2 BAFOHET 842 5.5 126835 [H 2 HREH 4,028]  24.0% 1|ESR E=EHIH 2,578 100.0%
1270 B 12 T 4,333 55 1270 ZRFE EE T 1,961  24.0% T BALRE T 2,471] 100.0%
1271[ILZE FKiRTH 6,181 55 1271 RFE AT 7,491]  23.9% T £Em 1,846 100.0%
1272t SR HET 2,139 5.5 1272|=NE  [=Fh 2489  23.7% [EET =8 1,369] 100.0%
1273[#Z IR [P FHAT 681 5.5 1272|F031E [ HIIIET 2013]  23.7% 1|ESR BT 295 100.0%
1274|2118 BiEH 2,857 5.5 1274|252 Bk 13945]  23.7% [T ERSET 58] 100.0%
1275|dbiEE +iF )BT 461 5.6 1275|1&H 8 +EHT 665]  23.7% 1|ESR {EBRAIAF 125] 100.0%
1276| REH 2 fSoditl 28,640 5.6 1276 EER Frtm 17,119]  23.6% [T RFHET 1,937] 100.0%
1277|BHE Fiimm 3,307 5.6 12772 B8 =50 1,214]  23.5% 1|ESR 1L BT 175] 100.0%
1278|ZR 8 HHm 4,123 5.6 1277 EHE TEM 335] 23.5% 1|EER 2 I BT 171]  100.0%
1279|FIE SHhET 3,191 5.6 1279|RJIE tEh 3490 23.4% 1|ESR EF L1 301[ 100.0%
1280[=8 8 &R 5,988 5.6 1280HE R B R AT 518] 23.3% 1|ESR BT 483 100.0%
1281[ILO & TR 18,629 5.6 1280[fE LR KA 3568  23.3% [T AT 1,231] 100.0%
1282| 5 HE =FH 620 5.6 1280 #& [ 8 R EET 645]  23.3% [EET JL SET 2,034] 100.0%
1283 AF & & /7 I HT 1,218 5.6 1283| SR8 EATT 3783  23.1% 1|ESR BE{EET 3,138] 100.0%
1284|IF B 18 HR™ 2,605 5.6 1284|12 B8 SFEENH 8829 23.1% [T EARET 825 100.0%
1285|;h4E12 Rt 1,818 5.6 1285]dt 8 ERRT 6,107]  23.0% 1|EER DHEH 434 100.0%
1286| %58 AT T 7,491 5.6 1286|SRARKT 38 H R BT 666] 22.9% 1|ESR R LET 1,014] 100.0%
1287|dtiEE ERE 773 5.6 1287| R ERAT CEEL 1,391]  22.8% 1&ENE =T 34,779 100.0%
1288| SHVE B 14,403 56 1288 BHIE Z8h 5335 22.8% 1EINE R 3,422] 100.0%
1289[fEH 2 BHM 20,342 56 1289 E%DL% AT 1218 22.7% 1EINE E®Fm 2,325 100.0%
1290[FJIE HLEH 9,211 5.6 1280 EREE [HEM 3953  22.7% 1EINE XY it 1,744] 100.0%
1291[fERE &2 74,360 56 1291 u.n*" E7IIVTARH 5917]  22.7% 1EINE =2 4513 100.0%
1292|BE B2 fEM T 5,749 5.6 1292 BRE BRI RT 1,070[  22.6% 1&ENE + FEET 823] 100.0%
1293[BE R BEE 34,119 56 1293[KFE B 12,239]  22.6% 1EINE =RHET 2,283 100.0%
1294| K12 NEFETH 3,879 5.6 1294|I% 212 ZARM 8117  22.6% 1&ENE B ST 183 100.0%
1295|AJIIE BEET 4,535 5.6 1295] b8 % H] 492]  22.6% 1&ENE FZEE 1,507]  100.0%
1296| FFEE EH 34,838 5.7 1296 &D HARK 48,014]  22.5% 1EINE #&)I1RT 1,704] 100.0%
1297[#F K2 FAERT 3,141 5.7 1297[dLEE EZHT 627]  22.5% 1EINE ERd] 520] 100.0%
1298[FFE R EAT 11,138 5.7 1298|F IR = KET 2283  22.3% 1FNE ZEEIZET 1,689] 100.0%
1299[FJIE #&IRT 1,704 5.7 1299 KR I REAM 5043  22.3% 1ENE FADSHE 1,445]  100.0%
1300|252 SEENH 8,829 5.7 1300 1= 8 /NERTH 5143]  22.2% 1FNE SEHREShEREE 340 100.0%
1301 | =8 B 3,809 5.7 1301|588 LT 24615  21.9% 1|22 BIEE 28,932] 100.0%
1302| iR 8 FFAT 7,153 5.7 1302|F)IE FADSHT 1,445]  21.9% [ #’Au.lﬁi 38,358] 100.0%
1303|[E B8 A 15,801 5.7 1303[#= IR [#EH 266,080] 21.9% [ SR 10,974] 100.0%
1304[#F A2 HARE 40,849 5.7 1304[ILUFZ 12 LD BT 1,132]  21.8% [ FHEH 4,676 100.0%
1305|ZRE XEH 4,020 5.7 1305|BE B IR 1z DN FET 1,013 21.7% [T J\IEET 2,117] 100.0%
1306 IR hRH 2,436 5.7 1306 K Bx FF ABRAF 122,548]  21.7% 1|22 FEET 9,295] 100.0%
1307 ,:F%%Lr SIRICH 863 5.7 1307|EIGE RIFE 27,809  21.6% 1|22 FaEh 8,329 100.0%
1308 B8 EiRh 9,425 5.7 1308| EER EEE 93,966]  21.6% e XM 3,193[ 100.0%
1309[IF B 18 FReBET 1,630 5.7 1309[EERSE  [RF{HHT 1,016]  21.5% 1|22 PO E R R 6,512 100.0%
1310[dtiEE Mg 6,516 5.7 1310[ LT IR EaTth 3263] 21.5% 1|22 il 2,460 100.0%
131 ER SFT )\ 6,853 5.7 1311 BHME EAT 5676  21.4% 1|22 E il 2,677] 100.0%
1312|FRERKF A gL BT 1,186 5.8 1312|B5E ERHAH 25874]  21.4% [ L ERT 317] 100.0%
1313[]AEE BrEETH 1,296 5.8 1313[#H=NIE  [KFnh 17,137]  21.4% 1|22 AT = R BT 399 100.0%
1314[dLiEE B 22314 5.8 1314 BB #H&L 5759  21.1% [ FARITHT 2516 100.0%
1315 KB FF RiEEHH 7,289 5.8 1315 %8 KIEH BT 4370]  21.0% 1|22 BT 1,135] 100.0%
1316|ZR 12 4k ET 1,498 5.8 1316|EREE [RBE 870[  21.0% 1|22 RAHET 445 100.0%
1317]=88 EXL] 2,136 5.8 1317|FIE FIE 20,232]  20.4% [ FREFHT 221 100.0%
1318[RIBE =k 1,868 5.8 1318[RBEAR R g™ 3,835  20.3% 1|22 SRALET 623 100.0%
1319[FiR 8 ERh 20,254 5.8 1319[ B #D BRI 13.814]  20.3% [ EERET 1,157] 100.0%
1320| B RAR BHEX 12,386 5.8 1320/ EER ES2 4 17,445  19.9% [ BRI E 25 100.0%
1321[FEHE EZ:08 1,238 5.8 13215 HE R 27,002] 19.8% 1[E5E =R 13,708 100.0%
1322[ILOK A 10,522 58 1322[BE AR &Em 6,893  19.7% 1|SmE AT 22,337] 100.0%
1323 KR FF wA™ 31,259 58 133[EEE BT 37,073 19.7% 1|EmE Edahin 571] 100.0%
1324[FAILE it 5,903 58 1324|3188 HEm 3,624 19.6% 1|EmE TEM 990] 100.0%
1325| KB FF [t 26,535 5.8 1325| B #D N 154,009  19.6% A TiEm 1,657] 100.0%
1326[ILZE #ERE 9,089 58 1326 R IBIE iETH 4,008]  19.6% 1|SmE AT 1,218]  100.0%
1327[ LB WL DT 1,132 58 1327[dLEE FEm 2,358]  19.5% 1|SmE BEM 1,355 100.0%
1328|ZR 1B AFOAR LT 6,106 58 1328 ZINE = [ 11,539 19.4% 1|EmE E@m 2,439] 100.0%
1329/ EER 1R IBHT 1,653 5.9 1329 #RIE SRS 383]  19.4% A FEH 1,579] 100.0%
1330/ =158 sk 13,945 5.9 1330[RIBE RIRE 61,813] 19.4% A BEET 85] 100.0%
1331[FiR 8 FiRg 46,642 5.9 1331352 T 7,928]  19.3% A = FIET 157] 100.0%
1332|HEE =T 22,337 59 1332[fEM 2 )1 4981  19.2% I FH BT HT 141]  100.0%
1333|832 B 9,767 5.9 13320 4RIE Rt 1,818]  19.2% A = H ] 96] 100.0%
1334|[L B2 fFhh 2,664 5.9 1334 BB R T 4437]  19.1% A EIAIIES| 73] 100.0%
1335|102 FA #f fE BT 1,127 5.9 1335|IF B 12 ST 7,022]  19.0% A &R 66] 100.0%
1336 KB FF BREEm 3,983 59 1336 EHE EHE 49,604]  19.0% 1|E5mE =P 261] 100.0%
1337|BHME iR 10,849 59 1337|EER BP9 3774]  18.9% 1|E5mE A LLIET 186 100.0%
1338];h4EIR o R ET 3,402 5.9 1338 ER I SET 1,297]  18.8% A X2 105] 100.0%
1339[1FF R = RET 2,188 5.9 1339 ZRE 4k ET 1,498]  18.6% A T 1kRT 231] 100.0%
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Q%Sz’éﬁﬁ:ul: A—R1BLEYDR Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
JEGL | #BERFR HEEL REAMGH] A &8 | |JEGL|HEFESL HEEA REERR % | MBS | ZRE R IR & HEEL REERR %
1340[ I 218 32 6,191 5.9 1340 HEEH— JeRkEH 1,741]  18.5% A pNIIES 31] 100.0%
1341 [ BEHRE 88+ KRBT 496 5.9 1340[AILE E31 984]  18.5% 1|EmE LNOET 1,288 100.0%
1342|1882 AL 1,652 5.9 1340552 i1 BT 224]  18.5% A =i BT 224 100.0%
1343[FF R SEHET 4,360 5.9 1343[;h4EIE 5 3R IR BT 2,133]  18.5% 1[E5E oh + {E BT 355 100.0%
1344 |3 AR B X 44,804 5.9 1344|1318 i) 15 T 2,690 18.4% 1[E5E &I [BT 813 100.0%
1345 R E YNt 6,970 5.9 1345| FER KEZEH 10,662]  18.4% 1|EmE B A0 BT 287] 100.0%
1346 B2 2 BEH 4,028 5.9 1346 BEE Rl 6,014]  18.4% 1|EmE 5 IR AT 203] 100.0%
1347 =88 EEh 1,056 5.9 1347 L08R THAT 4762] 18.4% A A4t 206] 100.0%
1348| FER fEILTH 3,035 6.0 1348| KB FF wA™ 31,259  18.0% 1|EmE 3101 386] 100.0%
1349 5F B TE&Em 6,933 6.0 1349| KB FF St 7,633 17.9% I 79 75+ BT 996] 100.0%
1350[= INE G 30,378 6.0 1350[fE B8 T ERET 349]  17.9% 1|EmE L 261] 100.0%
1351[E LR i 3,137 6.0 1351 [F 0L [FOgRLIE 23,769 17.7% A RN 66] 100.0%
1352| B iR 12 REER AT 1,668 6.0 1352| REF 2 B S BT 639]  17.6% A ERLN 584] 100.0%
1353 EER FEEZHET 2979 6.0 1353|BE B2 BERE 4,802] 17.5% 1|E5mHE BERHE BT 2R & 150] 100.0%
1354 BEE X OB 2,145 6.0 1354[HF R IR 75 FHT 1,766]  17.5% 1[fERE &R 123,026] 100.0%
1355| % 518 SEET 1,871 6.0 1354|ERE R  |FfEFHT 467]  17.5% 1|12k R AEHET 7,832 100.0%
135635 F I8 PEH 3,844 6.0 1356]dt i ELILN 894 17.4% 1|12k R AB*kH 26,027] 100.0%
135715 FE R EXELS 793 6.0 1356] b /NEIKET 316]  17.4% 1|4E[ 2 BEAT 4,496 100.0%
1358[BEAR IR FINET 1,111 6.0 1358| 4% IR BR™ 2677 17.4% 11k 2 =G 3,707] 100.0%
1359[dt i FEm 8,110 6.0 1359| = IR aE&EM 10,310 17.3% 14k 2 J\&ZTh 4,446] 100.0%
1360[FEERE EX A 4,997 6.0 1360[JL:mE BT 1276]  17.3% 14k 2 k™ 4,183] 100.0%
1361|852 K IRET 1,346 6.0 1361 EER = 7,227 17.1% 1|12k R PG 2,155 100.0%
1362|F1iR 8 Fimm 59,512 6.0 1362[dt i ERET 773]  17.1% 1|12k R 1T48h 5,609 100.0%
1363 EHE [EELLT0I 1,484 6.0 1363[BEAR R KiZHT 3593 17.0% 1|2k R EX i 1,748] 100.0%
1364/ 218 HIEHT 1,192 6.0 1364|H=NIE  [EARH 17,169]  16.9% 1|12k R /NERTH 5,143 100.0%
1365|182 W 7,688 6.0 1365 =B 8 =58 40,666]  16.8% 1[fERE REEHH 9,047 100.0%
1366 FEE AT 10,884 6.0 1366 FER gL 3035 16.8% 1[ERE ZAh 11,031]  100.0%
1367[=ILE HRR 4,020 6.0 1367[IRE R HHEHT 1,496 16.7% 1[fERE KB 9,283 100.0%
1368| S 12 AFHET 1,937 6.0 1368|FEIR B! '|wET 3,733  16.6% 1|2k R _gm 8,167] 100.0%
1369 BB 2 Z 3,791 6.0 1369/ =R 8 FHiEh 1,816]  16.6% 1|12k R AZERFH 6,373] 100.0%
1370/ =8 XN 3,143 6.0 1370[IF 218 A EFET 2,045]  16.5% 1|12k R ikt 5,168 100.0%
1371 [IE AR mAT 11,470 6.0 1371 IO M 2,189]  16.4% 1|12k R &2 5886] 100.0%
1372|BR 2 74 [ R 6,512 6.1 1372 BB SFHT 1,158]  16.2% 115k 2 SEFm 2,285 100.0%
1373[=F 8 ESH 607 6.1 133 EHE RIBET 1111]  16.1% 1|2k R il 2,079 100.0%
1374| B2 HET 4,923 6.1 1374|BHE BET 10,295  16.1% 14k 2 g 2,791] 100.0%
1375 BB R BT 9,702 6.1 1375 =HE FIFFET 3,407  16.0% 14k 2 BA™ 3917 100.0%
1376|852 1 RRET 395 6.1 1376]| K12 i 7,029]  16.0% 1|12k R HROFEH 2,657] 100.0%
13772 Wwem 80,543 6.1 13775 HE FAERHET 1,056]  15.9% 1|12k R FEHT 3,383 100.0%
1378[t=E 2 R 2,805 6.1 1377|352 TH| 1,237]  15.9% 1[fERE BT 2,934 100.0%
1379 ER B&h 4,541 6.1 1379[RIBE NEETH 3879 15.8% 1|12k R SRET 4,516 100.0%
1380[ILTZ R Elhg 2,271 6.1 1380[AJIIE MR 9,387] 15.6% 1[fERE ‘BB HEL 2,896] 100.0%
1381 |RARKT EEh 6,361 6.1 1381 %8 YNt 6970 15.3% 1|12k R = By 4,199] 100.0%
1382[f0FLE  [#BATH 4213 6.1 1382|RIBIE ti@m 10217 15.2% 1[fERE ALLET 908] 100.0%
1383 | B R AR REEh 7,758 6.1 133EREE [+5H# 99] 15.2% 1|12k R FHE AT 4,974] 100.0%
1384 IS 1% SLET 957 6.1 1384]fE LR EEH 1,752]  15.1% 1|12k R EREET 1,091] 100.0%
1385| K BR FF BRI 4,719 6.1 1385|fAEHIE AEETH 4,462]  15.0% 1|E[ 2 JKEHT 1,991] 100.0%
1386 #EI2 i€ 6,359 6.1 1386[;ZE R 3T\ BT 6,853]  15.0% 1|12k R e 15 BT 2,690 100.0%
1387[dLimE EEET 15,707 6.1 1387| B2 FHT 9,795 15.0% 1|12k R =T 1,529] 100.0%
1388[1HE IR B LLIBT 676 6.1 1388| B4R BT 4,748]  15.0% 1|12k R $RFHT 1,158] 100.0%
1389|;h4EIR 5 HR IR BT 2,133 6.1 138935 2 AT 1,355]  14.7% 1|12k R #E) 18T 983 100.0%
1390| B2 HEE 38,862 6.2 1390[FEARIE JKiE 1,730]  14.1% 1|12k R A 7]EET 1,308] 100.0%
1391 %8 DL 5,448 6.2 1391/ 5 HE #E AT 878 14.0% 1|12k R RARHET 1,387] 100.0%
1392[F IR SEHRESTEREE 340 6.2 1392|#03kILIE  [ENEIRY 622  14.0% 14k 2 RIINET 1,673]  100.0%
1393|352 MAFa™ 4,649 6.2 1393|RJIE PR T 2,197]  13.9% 1|12k R BEH 752 100.0%
1394 B8 FiEh 9,881 6.2 1394[fXHE FEE 22242  13.7% 1|2k R R EAET 645 100.0%
1395[31:B 18 =%&m 7,106 6.2 Ta0s|E RSB [BE)IAm 8,024] 13.7% 1[fERE S EHET 724] 100.0%
1396[ZE R SEIT 4,437 6.2 1396 RHE BT 3944 13.6% 1[fERE KIEET 412] 100.0%
1397 EER mEh 40,206 6.2 13970 4EIE AKSHET 681] 13.5% 1|12k R 1B 1,868] 100.0%
1398[1FF R e 6,071 6.2 139812 B8 WhEh 24,835  13.4% 1|12k R Xii FR BT 3,114[ 100.0%
1399| FER Sy At 8,179 6.2 1399| B8 HE R T 6512] 13.4% 1|2k R F X0 BT 1,286] 100.0%
1400 KX Bx FF Lkt 31,458 6.2 1400[F5E R BE T 3864 13.3% 1|12k R EEA 391 100.0%
1401 |I 212 = HnET 336 6.2 1400[BEAR IR EZL54 573]  13.3% 1|12k R ) 1,276] 100.0%
1402|= 118 = [ 1 11,539 6.2 1400| =I5 18 F 4 EERT 224]  13.3% 1|82 EEETS— T P PRAE 307] 100.0%
1403|E B8 AT 1,231 6.2 1403 &R FF I\ 5266 13.3% 1|4E[ 2 KEKTN=HEBETRES 222] 100.0%
1404| K Bx FF AEM 8,666 6.3 1404[#Z IR [ KBERT 2329] 13.3% 1|12k R HHEREEEERAS 650] 100.0%
1405|=8 8 FHEFET 3519 6.3 1405| B 512 Rk 17,134]  13.2% 1EBER EBE 21,399] 100.0%
1406 1= 12 BEAh 4,496 6.3 1406 BB BEX 46,329]  13.2% 1EER BT 17,882 100.0%
1407|R)JIE =N 9,650 6.3 1407;h 4812 S%F 12,309]  13.2% EEE B 10,048] 100.0%
1408| B iR 12 Sah 10,974 6.3 1408|3182 +HETH 3638] 12.9% 1EER Bt 6,971 100.0%
1409 R E REM 4,024 6.3 1409[E B2 FEET 3227  12.8% 1EER ZAH 1,385 100.0%
1410[dLiEE FOT=HET 1,588 6.3 1410[EER 3T EY 827] 12.8% 1EER BEET 4,647] 100.0%
1411 [IF AR FEHET 1,257 6.3 14ESE A 15,801  12.7% 1EER i 4,018 100.0%
1412|[EER HHET 2,057 6.3 1412/ EER MAT 2943  12.7% 1EER e 2,377] 100.0%
1413|FRERKF I\t 5,266 6.3 1413[EHE ER T REE RS 71 12.5% 1EER NG 3,857 100.0%
1414|258 = 32,279 6.3 1413| B8 =T 317]  12.5% 1EER T 2571] 100.0%
1415 BB R EEE] 2,196 6.3 1415[fER 2 EXT) 1276]  12.3% 1EER = BHET 1,481 100.0%
1416| B 58 24 32,173 6.3 1416]| B2 21Eh 32,173]  12.3% 1EER (LET 1,276] 100.0%
147 ZERE JIIFEET 411 6.3 1417]fERE mg 8,167] 12.2% 1EER e300 905 100.0%
1418[BER =@ m 3577 6.3 1418[dtimE EXCE S0 1,032]  12.0% 1EER FHROEE] 1,834] 100.0%
1419 EER EEh 6,233 6.3 1419[R4RIE J\ E FEET 3367] 11.8% 1EER KB 446] 100.0%
1420[dt 38 FLIR 140,310 6.3 1420/ R )IE &R 35001] 11.6% 1EER HHET 1,606] 100.0%
1421[#=NIE  [BR™ 33,934 6.3 1421 EHE L A ET 1,292]  11.3% 1EER KHTET 415  100.0%
1422 RFE I H 4,041 6.4 1422 FFER HEE 38,862 11.2% 1EER STALET 802] 100.0%
1423[ER 2 RiFEH 9,920 6.4 1423[EERE AR 9,360  11.0% 1EER =E=T0] 1,762]  100.0%
1424 EHE BT 3944 6.4 1424] 3t 8 dtiEE 89,735] 10.8% 1| EIFE RS 19,833] 100.0%
1425[ILZ R XEm 4,881 6.4 1425|1588 AT 2513]  10.7% 1 EBE ERm 3,377] 100.0%
1426|EREE  [HKH 4,853 6.4 1425|E B2 BEe 2,377]  10.7% 1| EIFE A#tth 9,192] 100.0%
1427[BER AEM 10,665 6.4 1427 BER FARTET 2,516]  10.3% 1 EBE ERT 2,225 100.0%
1428 KR I 2 [E BT 1,336 6.4 1428 ZINE R 4,020]  10.3% 1 EBE & 2,249] 100.0%
1429];h4BI2 it 6,427 6.4 1428|EREE [fAR™H 6,856  10.3% 1| RIEE Sl 2216 100.0%
1430[#Z IR [ KHBERT 2,329 6.4 1430] KB FF BHFT 4719]  10.2% 1| RIEE HETH 2,477] 100.0%
1431 | B8 FARITHT 2516 6.4 1431[fAEE iR 2559  10.1% 1| EIFE EGH 3,203 100.0%
1432|FEARIE I\ 9,360 6.4 1432[#Z IR [)I[&H 108,613] 10.1% 1| EIFE E5H 3,453 100.0%
143312 B8 SR 1,083 6.4 1433| SR8 [ECINET:N 969]  10.1% 1| EIFE B AT 2,639] 100.0%
1434 | FRERKF W5 5,473 6.4 1434| B2 A OIET 2,145  10.0% 1| EIFE EX a0 541] 100.0%
1435|IF B 18 AT 2,301 6.4 1435|E B2 BT 17,882 9.9% 1| RIEE JIIAHRET 1,115] 100.0%
1436 TRERKF KZ)Ih 7,826 6.4 1436| iR 8 o 1,687 9.8% 1| EIFE Rk RET 1,232] 100.0%
1437| 2R AT 1,046 6.4 1437|BHE BwEM 15,089 9.8% 1 EBE & R ET 1,387]  100.0%
1438| & IR FZEE 1,507 6.4 14382 F 8 LI R ET 921 9.5% 1|EEXRE AR 31,491] 100.0%
1439| KB FF REah 5,043 6.4 1438[Z LR INEERT 1,952 9.5% 1EEARE AT 61,564] 100.0%
14402 B =Bm 8,682 6.4 1440[ZEE XN 4,694 9.5% 1ERE J\tTH 9,360] 100.0%
1441 [ XD E Bl FF 7,563 6.4 1441 [IRE R Iz B2 71 30,651 9.1% 1EEARE =m 2,539] 100.0%
1442| B8 Wil 38,358 6.4 1442[\UFZ 12 FiRA 252 9.1% 1EEARE EXAH 4,997] 100.0%
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Q%Sz’éﬁﬁ:ul: A—R1BLEYDR Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
JEGL | ZBERFIR HREES REAREH A& JEGE | ZREFFIE & HEES REARER % | MBS | ZRERTIE & HREES REARER %
1443|882 EliFJTﬁ 4,762 6.5 1443[ILFIE =L)IE 1,037 8.9% 1ERE i 3,907] 100.0%
1444|BHR I 8,248 6.5 1444 *JIIL.— A& 9,211 8.7% 1EEARE Fim 3,137] 100.0%
1445| KB FF o {E B 4,425 6.5 1445|180 2 BRI T 5,080 8.6% 1|EEXRE EXEH 1,739]  100.0%
1446| =R 12 A R A HT 2,339 6.5 1446|F03xLE  [F0gRILTH 25,056 8.4% 1EEARE Fik 4,665 100.0%
1447[FAAE F)IEL 246 6.5 1447 ENE  [FiED 18,960 8.4% 1EEARE [DEid 1,788 100.0%
1448 FEHE tFHEr 960 6.5 1448 EHE FH® 12,130 8.4% 1[EERE XEm 5,700] 100.0%
1449| B VR KFh 11,535 6.5 149 EHE By AR 2,655 8.3% 1EEARE &&m 6,893 100.0%
1450|E NS [#BEET 28,400 6.5 1450 S &R FF AR 2,352 8.2% 1|EEXRE SEHET 573] 100.0%
1451[IIEIR HW 4,924 6.5 1451 IO R [T =], 25,676 8.2% 1EEARE EX 1} 449]  100.0%
1452 ﬁ‘iktr RIRET 3,141 6.5 1452 RIBE [IY YAy i 12,702 8.1% 1EEARE RiMET 1,111]  100.0%
1453|{x B2 JTALET 802 6.5 1453|882 EER 42,456 8.1% 1|EEXRE FNIK BT 623] 100.0%
1454|JtiEiE H#ATH 2,305 6.5 14545 F 8 AigiEh 2,263 7.9% 1|EEXRE EAE 4,413] 100.0%
1455|512 BT 5,365 6.6 1455|5512 TiEm 1,657 7.9% 1|EEXRE [EUNEL 266] 100.0%
1456 IR [T 108,613 6.6 1456]Jt 8 IMRET 462 7.7% 1EEAE /NE T 443 100.0%
1457 28F 8 e b 7,484 6.6 1456/ ERBIE  |[XDFHE 1,524 7.7% 1|EEXRE ELF 15[ 100.0%
1458| KBz FF J\ET 19,530 6.6 1458|552 T iEFEKT 661 7.5% 1|EEXRE = AT 442] 100.0%
1459| = I 12 EIELH 5,158 6.6 1459[ b8 Z 2T 595 7.4% 1|EEXRE FERAT 611] 100.0%
1460 R IBE EEIB T 4,962 6.6 1460| FE R A 3,987 7.3% 1|EEXRE EapTERA 708] 100.0%
1461|542 BiEh 13,616 6.6 1461|128 AEHT 7,832 7.3% 1EEARE TEIRRET 1,361] 100.0%
1462|BIIE MESTH 23814 6.6 14625 E R KIET 3,091 7.2% 1EEARE EEH 906] 100.0%
1463|AJIIE FEIRET 3,282 6.6 1463|[L 52 B 9,345 7.1% 1|EEXRE RIRET 3,141] 100.0%
1464[ILIF1E XA 1,268 6.6 1464 ZILE 28 3,137 7.1% 1EEAE FR T 836] 100.0%
1465[FER tEW 16,934 6.6 1465 ZRE Femh 7,674 6.9% 1EEAE 1L ZRET 841] 100.0%
1466|252 WhEh 24,835 6.6 14662 F 2 b b 7,484 6.9% 1|EEXRE SKJIET 782] 100.0%
1467 BEE Z@EH 36,153 6.6 1467|3188 Bt 2,882 6.8% 1EEARE AALEr 1,107]100.0%
1468| & JII2 SNt 34,779 6.6 1468|182 = By 4,199 6.7% 1|EEXRE 2 AR 313] 100.0%
1469|Jt 8 EA=NIH 8,029 6.6 1469|1212 s LT 1,328 6.6% 1|EEXRE SRET 965] 100.0%
1470EREE |[HERA 585 6.6 1470[lLOE TR 18,629 6.6% 1|EEXRE % ELKHT 748] 100.0%
1471|BE R HEET 9,295 6.6 1471 EHE 1 BT 1,015 6.5% 1|EEXRE ] 274] 100.0%
1472|8[ 2 XEHT 7,832 6.7 1472|1858 IBET 589 6.5% 1|EEXRE KEH 192] 100.0%
1473|1E B2 FBEEH 4,647 6.7 1472|3B 2 FRE 46,642 6.5% 1|EEXRE R 332] 100.0%
1474[[R B8 AT 2,424 6.7 1474]IF B 12 AR 8,238 6.4% 1|EEXRE EAH 54]  100.0%
1475[ IR LEET 1,346 6.7 1475 BEE SEEkTh 6,157 6.4% 1EEAE WST 371] 100.0%
1476| KB AT PR 8,123 6.7 1476| FEE FEE 100,268 6.4% 1|EEXRE BREEH 245] 100.0%
1477|MENE  [FEEaH 10,591 6.7 1477 ILIELR IETSH 2,516 6.3% 1|EEXRE HET VR 1,345]  100.0%
1478[FER /NI BT 1,663 6.7 1478 ERE INEFTR 4,258 6.3% 1EEARE ZFILEr 508] 100.0%
1479[4BR 2 EE 5,080 6.7 1479 EER BHE T 24,344 6.0% 1EERE KRG /ARG PERES 102]  100.0%
1480[18H 8 &I 6,257 6.7 1480 EI5 8 mERm 3,243 6.0% XD E AHR 24,274] 100.0%
14815 FE R ZEH 3,269 6.7 1481|E B8 AT 1,231 6.0% 1|X% Ao 38,352] 100.0%
1482|t= IR [KFnmh 17,137 6.7 1482[1EH 2 &2 5,886 6.0% 1|X% Al FF 7,563 100.0%
1483 | R AR e 19,357 6.7 1483 #EIE B 28,469 5.6% 1|X% i 7,029] 100.0%
1484|1318 = 2 T 1,529 6.7 1483[;F#EIE HEZH 9,393 5.6% 1|X% BEM 5243 100.0%
1485 B8 h 2 BT 991 6.7 1485| B2 = AT 4,223 5.6% 1| X% 3 ELH 4,797] 100.0%
1486 B 418 R ET 2,879 6.7 1486 B #D PRX 8,532 5.5% 1|X% EItFh 2,631] 100.0%
1487|582 REFPHT 1,969 6.7 1487|552 REh 990 5.4% 1|X% EART 1,011] 100.0%
1488 =B 8 ES510 1,386 6.8 1488 FFE R HHET 7,703 5.4% 1 jc?;\ HETH 1,224] 100.0%
1489| B4 12 FEEHH 4,216 6.8 1489|FiR 8 FEAT 7,153 5.4% 1|X% 2% eHEh 1,515] 100.0%
1490[ I B 18 & HART 1,701 6.8 1490| R JIIE EEEd 4,535 5.4% 1 jcéa\k'% T 2,054] 100.0%
1491|dbiEE SRR 3,988 6.8 1491|8HE Bl 1,605 5.3% 1| X8 FE 4,134] 100.0%
1492 EER =@M 8,904 6.8 1492| B R =R h 3577 5.2% XD E 2H%KXEHH 2,316 100.0%
1493[ =R Z 7,454 6.8 149318 e L 55,004 51% XD E B 2,596] 100.0%
1494182 Hikm 4,183 6.9 1494 FEE KEM 9,881 51% 1XHE EEH 1,656 100.0%
1495| R IIR TAT 2,263 6.9 1495| B 1R 18 REER AT 1,668 4.9% 1| X8 B 102] 100.0%
1496| B AR HEAKX 48,014 6.9 1496 B F 8 EFE 27,651 4.8% XD E B Hi B7 2,410[ 100.0%
1497 [RIBE BF 6,861 6.9 1497[F0FLE  [MDHEHT 1,074 4.8% 1XHE hEHE 615 100.0%
1498[{EH 2 Xl 2,155 6.9 1498[IZEE ®ih 10,043 4.8% 1RXHE IRBRET 1,060[ 100.0%
1499[ B 512 REF 419 6.9 1499[#Z IR [3E)IIAT 3,898 4.8% HEGT HiFE 24,434] 100.0%
1500 B8 EET0] 1,945 6.9 1500] B 4012 it 3,307 4.7% HEGT ECn 32,279] 100.0%
1501 [ EER JIFaTH 11,809 6.9 1501| SRR WiIh 15,823 4.6% HEGT T 13,945] 100.0%
1502 K Bx FF e BT 854 6.9 1502| =I5 18 EXoh 1,291 4.6% HEGT FE Al T 9,357] 100.0%
1503| FE & #amh 32,932 6.9 1503[ iR NFHMSI5H 3,085 4.6% HEGT NG 3,498 100.0%
1504 |HR#R RIBX 32,119 6.9 1504 =I5 12 G 32,279 4.6% HEGT EXOh 1,291] 100.0%
1505| SR &RKF @0l 6,178 6.9 1505| RE 2 R FNET 229 4.5% HEGT ZUDH 1,356] 100.0%
1506 KI5 8 B2 T 2,639 6.9 1505[{E B8 =E=T0] 1,762 4.5% HEGT =B 2,697] 100.0%
1507[#F K2 =R R ET 2,200 6.9 1507 B EE NI 12,688 4.5% HEES =R AT 653] 100.0%
1508|FXEHE #BFEH 5,876 6.9 1508[ IR [f&™ 11,256 4.4% HEGT E = 1,395 100.0%
1509| 1= 18 A *kH 26,027 6.9 1509|t= [ 18 EAT 4,496 4.4% HEGT #EHT 658 100.0%
1510 B 52 R 15,089 6.9 1510/ =458 K IERET 579 4.2% HEGT SR 1,670 100.0%
1511[#2F 18 A LLET 908 6.9 1511[3BE Fimm 59,512 4.1% HEGT FEREH 85] 100.0%
1512| R #R NEFH 40,305 7.0 1512|1288 SR 1,083 4.1% HEGT RILET 471]  100.0%
1513| KB FF EEm 6,343 7.0 1513[RIBE FRm 5,448 3.9% HEGT JIIEa R 1,345] 100.0%
1514[BE K12 FEM 3,985 7.0 1514 KBRFF EiFEh 6,343 3.9% HEGT P9 BT 1,492] 100.0%
1515|RIBE Fo L 7,897 7.0 1515| EER el 32,994 3.9% HEGT HEZEH 185] 100.0%
1516[1HFE R AT 13,992 7.0 1516;F B8 G 4,498 3.8% HEGT EZ01 283 100.0%
1517 28F 8 SRET 2,551 7.0 1517218 & 1,192 3.6% HEET = T HET 880 100.0%
1518| B4k 18 RS T 7,543 7.0 1518[dtimE BET 1,667 3.5% HEG F 4 EERT 224 100.0%
1519[RIBE +i@m 10,217 7.0 1519 BF 8 SRET 2,551 3.5% 1|EREE [BREM 51,198] 100.0%
1520 B4 12 ELX=H 10,588 7.0 1520[ I B 12 B8 /7 [ T 446 3.3% 1|BERESE |[BEm 9,955 100.0%
1521 |BR AR BiX 29,062 7.0 1521 [IUEIR HW 4,924 3.3% 1|ERESE |H&h 1,401] 100.0%
1522| B HE =R 3,152 7.0 1522 n&ELr it 5,144 3.3% 1|BEREE [MARH 1,293] 100.0%
1523 RIGE RET 10,971 7.0 1523[4EH 2 JE A 71,215 3.1% 1|ERSE [f5Em 3,534 100.0%
1524 KB FF Y H 29,799 7.0 1524|=NIE  [[EFH 3,693 2.9% 1|BEREE [fEzxm 1,195] 100.0%
1525 R IBIE RIBET 2,189 7.0 1525| B 512 P& 3534 2.6% 1|BEREE [EENAT 8,024 100.0%
1526|I% 212 EBET 12,153 7.0 1526 LT 12 A 18,972 2.6% 1|ERESE |A&m 3,953 100.0%
1527|2512 RIFET 471 7.0 1527[iF5E R =K 45,369 2.6% 1EREE [LWbESRKREHH 2,043] 100.0%
1528|HEAR IR 25 HT 4,413 7.0 1528|852 AEh 2,577 2.4% 1|BEREE |[EfHEh 2,585 100.0%
1529t 8 ESiihd 5,205 7.0 1529|dtimiE iR &R i ET 469 2.4% EEEIEE T 3,733 100.0%
1530 JtiEE Z Rl 3,128 7.0 1529| 5 HE AR 564 2.4% 1|EREE [mAMd 2,437] 100.0%
1531|FER EiFh 5,524 7.0 1529|EREE  [FIART 600 2.4% 1|EREE [fEmh 1,662] 100.0%
1532 EER AT 24,344 7.1 1532| KB FF RiEEHH 7,289 2.3% 1EREE [=8#H 68] 100.0%
1533| B4 12 ERT 64,227 7.1 1533[F TR [fL)lTh 4,373 2.2% 1|EREE [+5# 99] 100.0%
1534[1F5F R =i 10,259 7.1 1534[IIF1IR R il 2,179 2.1% 1|ERSE [HARH 585 100.0%
153512 B8 BT 19,152 7.1 1535 ﬁ%tr AHH 19,841 2.1% EE PN 440[  100.0%
1536| EEER AFHT 3,251 7.1 1536|B B 12 h 2 BT 991 2.1% 1ERESE |FFHH 1,016] 100.0%
1537| B R EET 2,482 7.1 1536|122 XS 2,079 2.1% 1|ERSE |hiEFHE 615 100.0%
1538 B AD IR 49,658 7.1 1538| b8 Mg 6,516 2.1% 1|ERSE |FEiEFar 467 100.0%
1539| EHE #8 R BT 878 7.1 1539[ EER g 21,406 2.1% 1RSSR | X 91] 100.0%
1540[ 1L 18 SEA T 7,031 7.1 1540[F E 8 wETT 7,915 2.0% 1|ERSE [REET 531] 100.0%
1541 FER mEET 2434 7.1 1541 |IF B 18 AT 2,301 1.9% 1|ERSE |=RET 550 100.0%
1542| KR FF ABR¥E LT 4,801 7.1 1542| R 8 XIEh 4,020 1.8% 1ERSE |f#EzER 975 100.0%
1543|JLiEE DN 12,599 7.1 1543 EER FEEZET 2979 1.7% 1ERSE |[XEH 506] 100.0%
1544\ IF1R FRFOET 1,869 7.1 1544| B HE +F#ET 4,174 1.7% 1|ERESE |fART 600] 100.0%
1545 B I Fahm 4,806 7.1 1545 EHRE HARIET 3,434 1.7% ERSE [MEf 518]  100.0%

15/18



REEAIRL FRICHITHERICTIREDEMKIRE (1)

Q%Sz’éﬁﬁ:ul: A—R1BLEYDR Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
B | ERE AR HEES REERHE] A& | [IBE|HEFEZ HEE REERFR % [ B | %IhEu‘fLr% HEEL RE %
1546| = 1518 x%uﬂﬁ 2,561 7.1 1546 *Jﬁ?kLr HARE 40,849 1.7% 1ERESE |55 481] 100.0%
1547 | RIBIE IEh 20,701 7.1 1547 EHE ZEHH 7,431 1.7% 1 ;ufr%L% A FRth 28,469] 100.0%
1548 KR P9 IET 1,492 71 1548 ZEE ERTLN 584 1.6% 1E AiEHm 4,991] 100.0%
1549| FE R EENH 3,379 7.2 1549| FE R Hh/rET 5014 1.4% 1]hEER SEmT 11,633]  100.0%
1550 =2 8 BEH 6,480 7.2 1549|482 X715 BT 1,308 1.4% 1[piRIR S2REH 7,411 100.0%
1551[#H=JIIR  [EXH 17,169 7.2 155182 ES 26,027 1.3% 1]hEER bk 4,553 100.0%
1552| IR AR H @ Hi BT 1,492 7.2 1552| = LR EtTiin 3,371 1.3% 1[piRIR AEHKRH 216 100.0%
1553| B8 =Hh 17,134 7.2 1553[LLIEIR EEEH 1,346 1.3% 1[piRIR EX0 123] 100.0%
155485 [H 2 B IKET 2,598 7.2 1554 E%ﬂr it 3,704 1.3% 1[piRIR SIRI”H 863 100.0%
1555|{@ k18 SARITET 2,438 7.2 1555| B 512 SRR 4314 1.2% 1[piRIR RGeS 948[ 100.0%
1556 R E Eloa 12,239 7.2 15565 2 BHM 19,894 1.1% 1]haER S RET 1,161]  100.0%
1557[dLimE BREh 5,698 7.2 1557| EER I FET 11,809 1.0% 1[piRIR By 4,356] 100.0%
1558 EfEIR FAH 17,119 7.3 1558 RIFIE AT 1,789 1.0% 1]haER LA ET 3,044] 100.0%
1559 iR e LT 3,667 7.3 1559 RIGE At 9,192 0.9% 1[piRIR EAE 4ol 1,690 100.0%
1560|588 NN 101,328 7.3 1560 B 12 EBET 12,153 0.9% 1[piRIR Rt 1,818] 100.0%
1561 FJIIE =RHET 2,283 7.3 1561 ZEE HERT 4,923 0.8% 1]haER FER AT 3,402] 100.0%
1562t iEiE FEET 1,751 7.3 1562|518 FEgh 2,486 0.8% 1[piRIR 5 3R BT 2,133[ 100.0%
1563|852 AEH 2577 7.3 1563 #E I8 ZEh 6,359 0.8% 1[piRIR G 4,498 100.0%
1564 mEE E=Fh 3,390 7.3 1564| iR 8 INFRTH 2,680 0.7% 1]hEER FERE R AT 90] 100.0%
1565| % 2 18 Hnidh 5,144 7.3 15655 F & ™ 22,112 0.7% 1[piRIR REH 47 100.0%
1566]:5F 2 ™ 22,112 7.3 1566tk 2 B8 8,532 0.6% 1[piRIR BEAREMN 23[  100.0%
1567 E &8 RBE™ 17,955 7.3 1567|dLiEE A 8,582 0.6% 1[piRIR FREH 117] 100.0%
1568|518 EN 3,540 7.3 1568[LLIOE Fh 3,444 0.6% 1[piRIR AKSHET 681] 100.0%
1569| 5 %2 SEJITH 2,109 7.3 1569|8818 EX ¥l 3,324 0.5% 1[piRIR 5 AR E BT 184] 100.0%
1570/ FE R SLVFEM 102,537 7.4 1570/ H 2 E Sl 5,313 0.4% 1570|128 LA 71,215]  99.5%
1571|218 I 7 T 2,056 7.4 1571|BHE HEH 7,451 0.3% 1571 [#ENE  [JIGH 108,613]  99.4%
1572| SR AR ZE™ 9,984 7.4 IAMEAS! SEET 7,031 0.3% 1572|852 Epm 2 67,541]  99.2%
1573 B8 FE®ET 6,726 7.4 1573 B8 LEBh 101,328 0.2% 1573|RJIE £iR 35001] 98.8%
1574| B2 tZEHET 7,382 7.4 1574 KR KT J\ETh 19,530 0.1% 1574 5F 8 ERRE 22,112]  98.5%
1575/ B8 RILSH 16,015 7.4 157538 EXiind 5,205 0.0% 1575| B #D X 154,009]  98.4%
1576/ EHE NGB 3,186 74 1575[JLmE LM 12,599 0.0% 1576| =R aEM 10,310]  98.1%
1577 4EI2 G 4,498 7.4 1575]dt e Z Rl 3,128 0.0% 1577 EHE WA 18,186]  98.0%
1578|BE B2 2 [ BT 2,069 7.4 1575[dLiEE A RET 181 0.0% 1578 ILOE EET 9,654] 97.8%
1579t B 8 (LET 1,276 7.4 15758 At 105 0.0% 1579 ;R #EIE pEEE 46,484]  97.6%
1580 Z 4118 SEZAT 5,676 7.4 1575 dt3EE #HERN 50 0.0% 1580 F)IIE EIE 20,232]  97.4%
1581 | KB FF Hixth 7,470 7.4 157538 Eitl 1,165 0.0% 1581[#=JIIE  [#EH 266,080]  97.3%
1582|I% B 18 LA ET 1,598 7.4 1575[dLiEE el 214 0.0% 1582[ IO R FEH 11,798]  97.2%
1583| FE R /7 aT 5014 7.4 1575[dLimE EFES 271 0.0% 1583| A JIIE AT 9387] 97.1%
1584 ] K B FF XEH 6,116 74 1575 EHRE 2R/MH 2,114 0.0% 1584 |3 B #H 9,767  96.8%
1585|8512 BBIh 6,249 7.4 1575| 5 %8 =R 3,152 0.0% 1585 1= 18 SRIFTH 9,920]  96.6%
1586 X RIE LR 3,084 7.4 1575| B % E Lot 3,933 0.0% 1586| B B8 RET 7,703]  96.4%
1587|BEARIE REHT 3,593 7.5 1575|558 EIGH 2,109 0.0% 1587 | RIGR K™ 28,349]  96.4%
158835 E I8 EHEH 16,057 7.5 1575| 5 %8 884 iR BT 496 0.0% 1588 | TR ARKT BE™H 7,036]  96.0%
1589|;h4EIR A FRTh 28,469 7.5 1575| 5 %8 ZRAET 380 0.0% 1588| SR8 AT 3,600  96.0%
1590 REF & IS 480 7.5 1575| 5 %8 b il 417 0.0% 1588 B8 RILEH 16,015]  96.0%
1591[BEAR IR Fim 3,137 7.5 1575| 5 %8 HRATNET 860 0.0% 1588 EIFIE RiFE 27,809]  96.0%
1592| R AR =Em 12,335 7.5 1575| 5 HRE =FHr 620 0.0% 1588 R IF 12 B 3243]  96.0%
1593| =R 8 JITEH = B2 REE 331 7.5 1575| B HE S FHT 984 0.0% 1593| B JIE hnEh 4,688  95.8%
1594|518 KIEH BT 4,370 75 1575| BEHE FH BT 301 0.0% 1593| FIFE HeEah 3,809 95.8%
1595 % B2 SPliT 8522 7.5 1575 A F & =Hh 1,773 0.0% 1593|;h#EIR PR 14467|  95.8%
1596[FER EAM 5,620 75 15755 F B —@h 8,032 0.0% 1596|[E B2 L5 101,328]  95.3%
1597[#H=NE  [EFHh 11,995 7.5 1575 A F & R 4,819 0.0% 1597[IIEIR I 17,727]  95.1%
1598 B AR R 10,295 76 1575 5 F B FEFIE BT 273 0.0% 1598[JLiEE FERH 8029 94.7%
1599[ILIFIIR EE 5,996 7.6 1575 58F 8 & /7 I HT 1,218 0.0% 1599 & LR fiE] LLI 7 55,004]  93.8%
1600 EF B EYH 8,425 76 1575 ZHE AEm 2,136 0.0% 1600[fXEHIE AR 22242  93.8%
1601 [ EHE TFeim 4,472 76 1575 =HE S5 R ET 2,811 0.0% 160085 [H 2 AT 13,790 93.8%
1602[EBE B2 RE T 1,015 7.6 1575| =R EIEAT 2,551 0.0% 1602l B 12 B 8,169 93.1%
1603|122 _g 8,167 76 1575 =HE I 694 0.0% 1603[FJIIE RBINE 23398  92.9%
1604 B AR AR 5,493 7.6 1575 =HE AFOET 2,561 0.0% 1603[ IO E BERF T 8915  92.9%
1605|;h#E12 Xl 4,356 7.6 1575| 2R = FERT 784 0.0% 16055 F 2 i 3339 92.6%
1606| FEE R 5,999 7.7 1575|fAEE B 2,046 0.0% 1606[dt 8 HEH 2,358]  92.3%
1607/ =B & Edi 20,458 7.7 1575|fAEE L= FE 88 0.0% 1606] = 512 EA/T 5972 92.3%
1608| BRI AR MEHH 7,519 7.7 1575[IUF IR ElEnd 2,271 0.0% 1606 iR E ART 3345] 92.3%
1609|FJIIE 2R 35,001 7.7 1575 ILfZ R R EH 601 0.0% 1606[FEERE mEh 3985 92.3%
1610t 8 EAN=YH 4,503 7.7 1575 1L 18 EEI) 461 0.0% 1610/ =458 SAlE 3816] 92.0%
1611|5562 JE vl 10,795 7.7 1575[ LR IR /NEET 507 0.0% 1611]db e % AT 555  91.7%
1612[dLimE HEH 2,358 7.7 1575[ IR IR E R ET 1,493 0.0% 1612|128 EEE 74,360  91.6%
1613[FER FHEH 11,843 7.7 1575 B8 Bt 4,762 0.0% 1613[AILE EEh 4111]  91.3%
1614[;h4E12 S%Fm 12,309 7.7 1575|888 =iZR TR 1,089 0.0% 1614]dt 8 &I 3377]  90.9%
1615| KRB R EXEt 2,386 7.7 1575|888 ElES 263 0.0% 1614[5F 8 L/ FRET 921]  90.9%
1616 B8 EE5N 1,635 7.7 1575|888 RIBF 537 0.0% 1614] =52 EELH 5158  90.9%
1617 |3 RED EHFEh 7,824 7.8 1575|888 K WRET 1,346 0.0% 16140 4EIE ZEh 6,359]  90.9%
1618|EREE [fAR™H 6,856 7.8 1575|888 RERET 385 0.0% 1618[ 1L I8 A 21,730]  90.8%
1619[1EM 2 AAHT 1,387 78 1575|888 EFNESi 541 0.0% 1619[IREE REFHT 2,045 90.0%
1620[FEARIE A& 6,893 7.8 157512 B8 EANLH 509 0.0% 1619|E%6H 12 [ ¥A 3,103]  90.0%
1621]dt 8 =g 13,449 7.8 1575|888 1 RRET 395 0.0% 1619 LR O 2,407 90.0%
1622 RFHE NTHAS5TH 3,085 7.8 1575 ZRFE 5 B BT 1,182 0.0% 1619[{E@ 2 hRE T 2,805  90.0%
1623|3182 M _EHBT 727 78 1575 RFAE ;o] RIET 444 0.0% 1623| SRR HER 14,454]  89.8%
1624 EHRE HF)IIERT 3,434 78 1575 RFAE FIARET 946 0.0% 1624 ZEE EEm 3352]  89.5%
1625[FER JBET 8,593 78 1575[#F AR 2 E=JIET 2,712 0.0% 1625[JL &1 HATH 2,305  88.9%
1626/ ZR 18 T A 1,841 7.8 15751 A8 7% KRBT 744 0.0% 1625t H & 884] 88.9%
1627|;h#E12 EET 4,553 7.9 1575[#F A2 h HHT 861 0.0% 1625[JLimE FOT=HET 1,588]  88.9%
1628 BEIE Rl 6,014 7.9 1575[#F R B FEHET 1,257 0.0% 1625[FE KR KiZHET 3593  88.9%
1629[FER Al 10,043 7.9 1575|B B2 fEHTH 5,749 0.0% 1629|E2 [ B EtEm 10,588]  88.6%
1630[ZEE SEEBT 6,157 7.9 1575|B B2 R 3,791 0.0% 1630[BEA IR IR 3,835 88.2%
1631|ZRIE SEEEET 1,210 7.9 1575|B B2 31 330 0.0% 1631]dt 8 EREEET 1,364]  87.5%
1632| EHE BAm 19,894 7.9 1575 B8 RE T 1,015 0.0% 1631 HE A 713]  87.5%
1633 FER J\fiih 4,542 7.9 1575 BB R KSRET 2,983 0.0% 1633[F0FLE  [HBH 5334] 87.2%
1634];h4EI2 EFHNET 1,379 7.9 1575| B B2 & ZEET 1,945 0.0% 1634|F I8 it 4,114]  86.7%
1635/FXEHE FETH 21,352 7.9 1575 E R AT 13,992 0.0% 1634| =512 FEER T 2359  86.7%
1636|818 HBhh 9,022 7.9 1575 E R AR 24,232 0.0% 1636|EREE [ERBE 29,327] 85.9%
1637|ZHME FUBAT 4,257 79 157515 F 8 hnZEm 8,328 0.0% 1637[dLimE SHET 664] 85.7%
1638 B #D e 8,099 7.9 1575 E R BEmH 8,593 0.0% 1637| 5 HE #EFR AT 878] 85.7%
1639 1= 18 BT 1,673 8.0 1575 E R BRh 4,381 0.0% 1637[#F AR R FHT 1,766]  85.7%
1640|1218 st FR BT 2,018 8.0 1575 E R @) 5,470 0.0% 1637|352 [t it 4216] 85.7%
1641];h4E12 X i 3,367 8.0 1575 E 8 E[#Nit 4,406 0.0% 1637|852 BRI AT 2,749]  85.7%
1642|I% 218 EF b 5,156 8.0 1575 E 8 =il 5,129 0.0% 1637|E SR HRE T 396] 85.7%
1643|MZ NS [FBET 7,233 8.0 1575 E 8 B& 4,541 0.0% 1637|1&M 8 JI U T 1,157]  85.7%
1644 ZRE BRT 9,106 8.0 1575[FER = RHE 1,081 0.0% 1637| RIGE HETH 10,971] 85.7%
1645|512 BEOET 3519 8.1 1575[15F R EEDHET 629 0.0% 1645|852 ERRE 48,864  85.5%
1646| RF 8 +HM 12,130 8.1 1575 E 8 RIS 450 0.0% 1646|EREE  [BEP NET 659]  85.0%
1647|582 IRET 1,151 8.1 1575 E 8 2B 3,269 0.0% 1647| iR 8 #¥m 2,846 84.6%
1648|MZE NS [HHEET 51,859 8.1 1575 E R HMRET 2,278 0.0% 1648[ S 2 Mm%+ 2235] 84.0%
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g;z%&%%:/tl—mf*étua) Ee‘zﬁgﬁi R23.1IR%E g:}iﬁ%zga)aﬂﬁLANwrt:E R231BRE QA Z—F vk (30Mbpslt) R23.1IR%E
JEGL | BB AT IR HEEL REARH| A &8 | |JELL|HEFESL HREES REARR % JEGEL | ZRERTIE & HREES REERE %
1649| =158 iﬁ%Tﬁ 3,531 8.1 1575 %ﬁtr LdllGd 31,564 0.0% 1648|122 )1 4981 84.0%
1650| S &R FF REDH 6,379 8.1 1575 FER EET 5,999 0.0% 1650 bl = AT 3988 83.3%
1651[#Z /IR [#E#H 7,072 8.1 1575| FE R BHM 6,132 0.0% 1650 L8 T IRET 646]  83.3%
1652| FEE AEEEH 3,408 8.2 1575| FE R FHIEHET 346 0.0% 1650| F %2 FAERET 1,056]  83.3%
1653[t2 [ 2 INERTH 5,143 8.2 1575| FEE B R ET 437 0.0% 1650 (5 F & ERAET 1,094  83.3%
1654l B 12 XiEH 12,761 8.2 1575| B #D FFeh 19,357 0.0% 1650| = 512 EEM 3531 83.3%
1655|;h 4812 LT 3,044 8.2 1575| B 4D ol 7,726 0.0% 1650[fXEH IR e 1,615] 83.3%
1656|252 =R TR 1,089 8.2 1575| B #D Pt 4,267 0.0% 1650| =28 % SUET 937]  83.3%
1657[15 E R FEET 12,985 8.2 1575| B #D HEHHM 6,412 0.0% 1650| S &R FF it 2,115]  83.3%
165855 [H 12 BRI AT 2,749 8.2 1575| B AR FEH 36 0.0% 1650[{E [ 2 SABIET 2,438] 83.3%
1659|518 fER T 4,008 8.2 1575| B #D \3CHT 490 0.0% 1650 4R I8 i 6,427] 83.3%
1660[FE R =581 3,114 8.3 1575[# &8 [/NEER 13,337 0.0% 1650[;h 4812 J\EXEE] 3367 83.3%
1661|t2M 2 = By 4,199 8.3 1575|MZE)IE  [EHH 11,995 0.0% 1661|122 LB 8532] 82.6%
1662| =R 18 ES TN 10,125 8.3 1575|#=NIR  [EELT 10,591 0.0% 1662|HHBIR 3%5Fh 12,309]  82.1%
1663| 1=k 12 [EE S0 2,934 8.3 1575[#= IR [#E#EH 7,072 0.0% Z&h 1,883  81.8%
1664| B RAR A 15,075 8.3 1575[#Z< IR [ZLAT 2,602 0.0% THM 1,237]  81.8%
1665| B 5012 HELTH 5,759 8.3 1575 I8 [—=HE 1,826 0.0% Jt £ 7,484]  80.8%
1666|512 BE{EET 3,138 8.4 1575|&)E  [FIIF 205 0.0% 23T 167]  80.0%
1667|Z 48 —=m 32,086 8.4 1575|#iR 8 ERH 20,254 0.0% O hvoET 491  80.0%
166815 E IR =il 5,129 8.4 1575|#1iR 8 =&t 7,106 0.0% FRIZHT 1,070]  80.0%
1669|1212 AZEfFH 6,373 8.4 1575|#1iR 8 kg 3313 0.0% ANEHT 818]  80.0%
1670|512 EMA™ 7,556 8.4 1575|388 FRER 648 0.0% E=to A 4,945]  80.0%
1671|BHE HEH 7,451 8.4 1575|#iR 8 BT 727 0.0% KTHT 525  80.0%
1672 =8 SEBSRETRIRHERIES 372 85 1575|FiBE 2R T 464 0.0% /MR HT 705  80.0%
1673|MZE NS [Hin[RET 1,371 8.5 1575| iR 8 FEER AT 521 0.0% Z AT 841]  80.0%
1674|122 &R 123,026 8.5 1575|= IR I H 30,378 0.0% HERBLEES 347]  80.0%
1675/ EHE 1 AFHET 737 8.5 1575|2WLE ST LLET 1,929 0.0% SHhET 3,191]  80.0%
1676|852 EINLH 509 8.5 1575|RJIE R RET 3,282 0.0% MG SHET 831]  80.0%
1677[BER AETH 5,649 8.5 15752 F B sth FR T 121 0.0% REERET 1,668]  80.0%
1678 E R AHM 19,841 85 1575 ILZIE XA 1,268 0.0% FEH 665  80.0%
1679[dLimE A 8,582 8.5 1575 u.l*"Lr 8R4 152 0.0% AERET 1,148]  80.0%
1680 E 4018 MmZh 7,268 8.5 1575| EHE EXEn 2,386 0.0% il 1,542]  77.8%
1681|BHR ELEhd 5,335 8.5 1575 EHE EaMEAH 35 0.0% =E=ki 2,330]  76.9%
1682| K Bx FF EREH 16,331 8.6 1575| EHE RS 410 0.0% HEZH 9,393]  76.9%
1683| EE IR FEEHT 2,464 8.6 1575 EHE FRiEH 99 0.0% +FEH 4,174]  76.0%
1684|HRED X 8,532 8.6 1575 EHE SIS 534 0.0% %R 3076] 76.0%
1685|FRARKT | B 4,470 8.6 1575| EHE R R AR RS 59 0.0% FARITET 283]  75.0%
1686|#Z=JIIE  [HaTh 11,256 8.6 1575| EHE IATLEHRERBEREE 450 0.0% EERET 2,065] 75.0%
1687 |3 RAD HABKT 8,089 8.6 1575[IF B8 T 4,333 0.0% XS 162]  75.0%
1688 REF R EH 18,186 8.7 1575|Ig B 18 TaEm 2,281 0.0% = BEET 830  75.0%
1689 EHE EATH 7,689 8.7 1575|IF B 18 201 2,194 0.0% b 2 BT 991  75.0%
1690[B¥ B2 K RET 2,983 8.7 1575|Ig B 18 Bl %1 1,598 0.0% HEH 177]  75.0%
1691|128 B 8,532 8.7 1575|IF B 18 =IES 116 0.0% SEH 1,168]  75.0%
1692|ZHE FHMm 9,795 8.8 1575|IK B IR AR TSR R ERA S 177 0.0% I 103]  75.0%
1693|418 ZEEh 175,091 8.8 1575|IF B 18 ERMEHENERERAS 286 0.0% gBh 11,802]  73.5%
1694| B R AR Ehah 9,276 8.8 1575|832 &= HET 2,439 0.0% 310 1,298]  71.4%
1695| = IR Z2EHH 4,945 8.8 1575|258 —=h 32,086 0.0% [EliEN=0 646  71.4%
1696| REFE AT HE BT ERAS 450 8.8 1575|BHME ENGd 15,320 0.0% HiskH 4853  71.4%
1697[BEE EAFH 6,109 8.8 1575 B AR BT 6,346 0.0% TEm 18,629]  70.0%
1698| RFF R X AT 1,292 8.8 1575| B2 FaiR 10,849 0.0% BT 1,379]  68.8%
1699 E R HMAHET 2,278 8.9 1575|252 it 10,402 0.0% R 6,856  68.2%
1700[;h#B12 S2REH 7,411 8.9 1575|252 SBET 3,079 0.0% i FET 126]  66.7%
1701|FEE AREEH 10,662 8.9 1575| B 52 FUARET 4,257 0.0% H i BT 419]  66.7%
1702 EER #WETH 116,579 8.9 1575 =B 8 2R 5,988 0.0% L 419]  66.7%
1703 IO T 4,762 8.9 1575| =88 EEh 1,056 0.0% AT 209]  66.7%
1704|1328 i1 EH BT 3,114 8.9 1575| =88 BEH 6,480 0.0% R 3.860]  66.7%
1705 2% 3518 FIARET 946 8.9 1575| =88 AEHE 572 0.0% H FrHT 127]  66.7%
1706 B8 FriMh 4,420 8.9 1575| =88 FIRET 1,386 0.0% S T AT 315]  66.7%
1707[ZEE Fa A LL BT 2,790 9.0 1575| =88 PN 432 0.0% g ET 144]  66.7%
1708 | B R AR BRI 13,814 9.0 1575| =88 SEBS RARRHERES 372 0.0% BAT 2 AT 194]  66.7%
170935 F 8 ELRH 8,421 9.0 1575 BB R EX T 6,726 0.0% /MEE BT 112]  66.7%
1710 ER EZ it 4,406 9.0 1575 BB R S 3,404 0.0% TR 859|  66.7%
1711 | BRR AR PNl 6,556 9.0 1575 BB R T 9,702 0.0% EsEH 383]  66.7%
171235 F 8 SLHFHT 8,952 9.1 1575| SR ARKF EEh 6,361 0.0% = FHNET 1,379]  66.7%
1713| FER FEE 100,268 9.1 1575| SR ARKF BE™H 7,036 0.0% BEEEHH 80] 66.7%
1714[fERE [FREEL 2,690 9.1 1575| S &R KT " BT 4,470 0.0% Z@mh 2,697  63.6%
17T15[BER Brh 4,381 9.1 1575| SR ARKF ERZEH 6,655 0.0% KERH 1,730]  63.6%
1716| REHE ZEHH 7,431 9.2 1575| SR ARKF RADH 6,379 0.0% fRLET 677]  63.6%
1TMIBER wETM 7,915 9.2 1575| S &R KT NI 1,300 0.0% RS ET 2,139]  62.5%
1718 4EI2 EAE 4ol 1,690 9.2 1575| S &R KT HFH 440 0.0% A 2,410]  60.9%
17T19[BER IR 27,364 9.2 1575| KB FF EREH 16,331 0.0% EXLE S0 1,032]  60.0%
1720/ FE & E At 9,374 9.2 1575| KBR FF XEh 6,116 0.0% = AT O AT 1,555]  60.0%
17213 BEX 46,329 9.2 1575| KBR FF B @ 3,983 0.0% A R AT 592  60.0%
1722|5568 A 3,103 9.3 1575| KBR FF HEERET 3,770 0.0% B 2 28T 252]  60.0%
1723|252 =2 HET 4,223 9.3 1575| KBR FF WEIET 854 0.0% Rl 1,190[  58.3%
1724 BHE EBm 3518 9.4 1575 EER FEEHT 2,464 0.0% T 1,830]  52.6%
1725| SR8 HEH 14,454 9.4 1575| EER 1R IBHT 1,653 0.0% AR 105]  50.0%
1726 | R ERKF FEEET 3,298 9.4 1575|ZRIE it 4,123 0.0% iR 4 ET 164]  50.0%
17271 EHE WWEATH 3,704 9.4 1575|ZRIE RIEET 405 0.0% 1k = R ET 346]  50.0%
1728 | SR AR hE 5B 6,412 9.4 1575|ZR 8 =EfT 299 0.0% XN 551]  50.0%
1729| FER Mihil 50,511 9.5 1575|ZRIE A [ A ET 2,339 0.0% 4 EET 58]  50.0%
1730| FEE kBT 12,489 9.5 1575|ZRIE Lol 57 0.0% EL 149]  50.0%
1731 [BER A R T 24,232 95 1575|ZRE = BT 463 0.0% J\ER;SET 322]  50.0%
1732[IF B 18 EEA01 2,194 9.5 1575|=ZR 8 B A &H 356 0.0% [P 437]  50.0%
1733 IO R B RF 8915 95 1575|ZRE EX 10 1,841 0.0% INEH 46]  50.0%
1734[BER =5z 45,369 9.6 1575|ZRE LR 3,084 0.0% HEH 119]  50.0%
1735| B2 SIRET 4314 9.7 1575|ZRIE ST 1,125 0.0% N 267]  50.0%
1736 B R AR EXoi 10,945 9.7 1575|=ZR 8 eI 28 0.0% AZH 195]  50.0%
1737|R&RKF Fah 14,438 9.7 1575/ R I8 NIFEET = BRI RS 331 0.0% SIS 534]  50.0%
1738[lLOE IR /NEr 4,787 9.7 1575/ F 0L  [MEEE™ 3216 0.0% REAIE ] 28]  50.0%
1739| SR AR fEdk 7,726 9.7 1575|F0ILIE [t 4,477 0.0% AHhET 133]  50.0%
1740 S HRE KFHES2HRERAE 457 9.7 1575|F03ILE [ A EILET 251 0.0% S3 T HT 491]  50.0%
1741 FER G 5,470 9.8 1575|F0RILIE  [[E)IET 552 0.0% HEPEEH 744]  50.0%
1742|RELIE & Ll T 55,004 9.8 1575/ F 0FLIE  [dbist 24 0.0% FEEH 144]  50.0%
17435 FE 8 hnZETh 8328 9.8 1575| B EVE KT AR PPRMAE 457 0.0% % B 112  50.0%
1744 EER Bl 32,994 9.8 1575| LR KT 862 0.0% =Hah 5107 46.7%
1745[1F A8 FHEH 40,545 9.8 1575[[E L E 1% SLBT 957 0.0% == AT 4223  44.4%
1746[1F5F R = 18,302 9.8 1575| LR R 437 0.0% TiEFEKT 661] 42.9%
1747 FRERKF RERH 6,655 9.8 1575/ B8 FFep 2,664 0.0% R B 870  41.7%
1748[#Z IR [ZELAT 2,602 9.8 1575|818 ER T 2,310 0.0% TN 522  40.0%
1749[FFER EX NI 6,583 9.9 1575/ B8 5 F T 2,424 0.0% ) || BT 177]  40.0%
1750 EER =T 7,227 9.9 1575| LB R IRET 1,151 0.0% EEE Hx EF BT 859]  40.0%
1751 | KBRFF A R AT 782 9.9 1575|818 K+ SHBT 317 0.0% 1751[E B8R =B 2011] 385%

17/18



REEAIRL FRICHITHERICTIREDEMKIRE (1)

DEBERAIE21—21ELU-YDREERESR  R231BE QEBREEDHEEIANEFER R231BRE QA Z—F vk (30Mbpslt) R2313R7E
JEGL | ZRE R4 HEEL REERE| A B JELE | #R3E FF IR HREER REERR % JEGE | ZRE FFIE & HREES REERR %
1752 FER IR 19,931 9.9 1575[lUO 8 LIS/ NEF R T 4,787 0.0% 1752 RIBE AT 1,789  37.5%
1753 B8 FEG 37,073 10.0 1575 ILOE FA 1 e BT 1,127 0.0% 1752|EERER [F#&# 119]  37.5%
1754|582 JiF R ET 4,148 10.0 1575|ES8 % AHT 295 0.0% 1754|[E B8 B 9,345]  36.6%
1755 R &RKF NG 1,300 10.0 1575| B8 BE{EET 3,138 0.0% 1755] 4t SEH 322]  33.3%
1756 R I E ¥ 9,192 10.0 1575|F IR T 3,422 0.0% 1755[JL3EE SRR ET 499]  33.3%
1757 |3 ER PRt 4,267 10.0 1575|F I8 it 4,114 0.0% 1755| @ LR 1% BT 957]  33.3%
1758/ B ER BEm 10,753 10.0 1575| BB 18 5iam 10,974 0.0% 1755|482 A1 5080]  33.3%
1759 #Z= IR  [BARKET 1,617 10.0 1575| BB 18 J\i&;ETH 2,117 0.0% 1755|2512 HEHT 1,405 33.3%
1760/ EER BRI 4,258 10.1 1575| B8 #EH 2,846 0.0% 175504818 BT 362] 33.3%
1761 B8 HILth 5,959 10.2 1575| BB 18 AT = RET 399 0.0% 176112 B8 SiEEBRE 1,360  28.6%
1762|1218 A=kt 11,031 10.2 1575| B8 P F BT 1,135 0.0% 1761|ERSE  [iB/KET 615]  28.6%
1763| B #D INE 13,911 10.2 1575| S HE EFH 571 0.0% 1763| SRR =X 713]  27.3%
1764|512 EHEHT 3,860 10.2 1575| S A2 EEL 141 0.0% 1764]dt 8 = REFET 416]  20.0%
1765|248 Bi#h 8,701 10.3 15755 A2 =F 261 0.0% 1764]dt 8 EVILN 415]  20.0%
1766|;h4E12 SpfET 14,467 10.3 1575|552 LN BT 287 0.0% 1764/ =88 FA{REAET 461]  20.0%
1767 FER Rl 15,752 10.4 1575|faf B NG 3,707 0.0% 1764[AILE FSHET 870  20.0%
1768|I% B 12 B 8,238 10.4 1575 {2 B PG 2,155 0.0% 1768| SRR HiIth 15823  19.2%
1769 EHE N ET 909 10.4 1575|482 T 2,805 0.0% 1769|[EEE IR 1,489 16.7%
1770[ZEE =Em 4,646 105 1575|48[ 2 HEm 5,168 0.0% 1769[ILOE Eimh 1,466 16.7%
1TT1[EFE R 43819 10.6 1575|4E[ 2 BA™ 3917 0.0% 1771 4B IR =01 423]  15.8%
1772 NE  [EFH 3,693 10.6 1575|482 HROFEH 2,657 0.0% 17172 5F 8 BT 281]  14.3%
1773|BIRE T 15,823 10.6 1575|482 JEEET 2,896 0.0% 1773|BIE A& 9,211 8.7%
1774|138 KEr i 9,283 10.7 1575|482 ALLET 908 0.0% 1774 LR £ 1,752 7.1%
1775 B ER AR 10,878 10.7 1575[faf B FEHT 4974 0.0% 1775[lLO0 8 Fh 3,444 6.3%
1776| EER P 21,406 10.8 1575|4E[ 2 =B 1,529 0.0% 1775|EREE  [MmeoFh 2,280 6.3%
1771 ER J\Ei 6,544 10.9 1575|1&@ M8 INTET 430 0.0% 1777 ER I 27,364 5.4%
1778|1&M 8 S HET 724 1.0 1575|1&@ M8 #E)[1BT 983 0.0% 1778 EXh 5,747 3.1%
171719/ ZRE BHh 3,459 1.0 1575|482 SARITET 2,438 0.0% 17794 mENTH 119 0.0%
1780[FER Bam 26,363 11.0 1575|1& M8 g 145 0.0% 1779 Il F FEET 369 0.0%
1781[#= IR [FJIAT 3,898 1.1 1575|4E[ 2 RARHET 1,387 0.0% 1779 ] 63 0.0%
1782|MZENE  [/MEET 13,337 1.2 1575|1&@ M8 BT 1,673 0.0% 1779 i BB 147 0.0%
1783| =R 8 BEASHET 2,373 1.2 1575|1&@ M8 S EHET 724 0.0% 1779 A BT 301 0.0%
1784|HENR  [FyiGThH 19,127 11.2 1575|1& 8 JIGES 1,157 0.0% 1779 FERh 4,384 0.0%
1785|ILZ IR A 18,972 1.3 1575|1& M8 KAEHT 412 0.0% 1779 SR 2,559 0.0%
1786| % B8 [N YA 12,702 1.4 1575|4E[ 2 BT 1,868 0.0% 1779 EEXET 2,682 0.0%
1787 FER & 7,546 1.5 1575|482 Xii FE BT 3,114 0.0% 1779 MEAES LT 1,711 0.0%
1788| FER EEHH 13,967 11.6 1575[1a M8 AR ETEBELRES 222 0.0% 1779 BN 69 0.0%
1789 #BIR HEEH 9,393 1.7 1575[{2f B HEERESSEREE 650 0.0% 1779 hnZEm 8,328 0.0%
1790| B R AR EEH 13,544 1.8 1575|E B8 Bif 6,971 0.0% 1779 XN 6,583 0.0%
1791[BEE 2)ilh 15,320 1.9 1575|E B8 STALET 802 0.0% 1779 FENH 8,593 0.0%
1792/ RER ES2 4t 17,445 11.9 1575 RIS HEH 10,971 0.0% 1779 xEmH 6,071 0.0%
1793[FFER Bl 6,540 11.9 1575 RIS xtEH 2,249 0.0% 1779 FEH 36 0.0%
1794| FFE R ENFaTH 9,274 11.9 1575 EIGE EGH 3,203 0.0% 1779 o 10 0.0%
1795| FE R BHmH 6,132 11.9 1575 RIGE -7 EH 1,134 0.0% 1779 ED&H 4,924 0.0%
1796| B 58 M AT 12,688 12.0 1575|FEAR R REATH 61,564 0.0% 1779 A O FERES 522 0.0%
1797[F0FLE  [BHTH 4,477 12.0 1575|BE AR EX A 4,997 0.0% 1779 XS 652 0.0%
1798| B2 E@h 6,346 121 1575|BE AR FoK BT 623 0.0% 1779 -ERES 38 0.0%
1799t B8 Bt 6,971 12.2 1575|FEAR R 5T 4,413 0.0% 1779 fNG L 338 0.0%
1800 1= 2 S ET 4516 12.3 1575|FE AR R 611 0.0% 1779 STRFET 134 0.0%
1801|#&F 8 =Em 5,886 12.3 1575[BE AR IR0 708 0.0% 1779 TP T 392 0.0%
1802 %I E KE™ 19,671 12.4 1575|FEAR R ST 3,141 0.0% 1779 KHHET 862 0.0%
180312 2 HEm 5,168 126 1575 XD B PNt 38,352 0.0% 1779 SEAT 437 0.0%
1804| = IR FI| FFET 3,407 12.9 1575| K8 EART 1,011 0.0% 1779 H FE AT 1,081 0.0%
1805| KB K R 16,164 13.0 1575|2512 EEdd 3,809 0.0% 1779 A RET 497 0.0%
1806 FEE Gl 31,564 13.1 1575|EREE [fzRm 1,195 0.0% 1779 INPTET 430 0.0%
1807|t=2M 8 HEHH 9,047 13.2 1575|EREE | KIGET 912 0.0% 1779 g 145 0.0%
1808| K BR FF AEERET 3,770 13.3 1575|BEREE  [55RET 481 0.0% 1779 At 269 0.0%
1809[1H5E IR fREHET 4,463 13.3 15750 4R I8 SpfET 14,467 0.0% 1779 ARHT 620 0.0%
1810[1LFIIE A O ERES 522 13.7 1575 ;F#BI2 S2REH 7,411 0.0% 1779 - F EHET 1,134 0.0%
1811 BHE E¥in 10,402 13.8 1575 ;F#BI2 AEBKRHM 216 0.0% 1779 &R 2 BT 755 0.0%
1812|E4MH 18 = HET 2,439 13.9 15750 4R I8 & 5T 1,161 0.0% 1779 SOFH 1,524 0.0%
1813[1&M 8 JBARHT 2,896 14.0 1575 ;F#BI2 FERE R AT 90 0.0% 1779 KIUSET 912 0.0%
1814| B8 KBHET 3,079 14.6 15750 4R I8 REHM 47 0.0% 1779 BASH 1,063 0.0%
1815|1= M8 FAE AT 4974 15.1 1575 ;F#BI2 EAEMN 23 0.0% 1779 ERNLD 130 0.0%
1816|ZR I8 Fzh 7,674 16.2 1575 4BIR ZREFE 112 0.0% 1779418 JEXHEH 49 0.0%
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